AZE A4l AR

Z89x 1 2022-05-12
A=} 0 2022-04-30 1
= 23 7 =3 BEAA (&)
e T 3k 14
7FESUE
ZFEUE (YY) 0.25 ke A} =515 0 5,000 2,000 3,500 0
ZbEuE (YY) 2,50 ke A 5015 0 0 13,000 13,000 0
FEuE 3.00 kgAHAt =515 0 46,625 42,600 44,613 0
ZFEUE(LYh) 2.00 ke AR = 0 0 5,000 5,000 0
ZFEUE (YY) 3.00 ke A} HE(3 0 0 53,000 53,000 0
ZbEuE (YY) 3.60 ke A 5015 0 0 55,000 55,000 0
7hEUE(LYh) 4.00 ke ARt HE(3 0 0 18,000 18,000 0
7FEuE (YY) 1.50 ke AR} E(1% 37,500 29,102 0 33,301 0
ZbEUE(LYh) 1.80 ke bt E(1% 0 16,150 0 16,150 0
7FEUE (YY) 4.00 ke AR} (1% 0 26,900 34,000 30,450 0
ZbEuE(LYh) 0.50 kewh E(1% 0 8,000 0 8,000 0
ZFEUE (YY) 2.20 ke A} (1% 0 23,000 0 23,000 0
ZFEuE (LYl 3.00 ke A A E(1% 0 44,990 43,500 44,245 0
7FEUE (YY) 4.00 ke AR} 225 0 0 26,000 26,000 0
A= 2.50 kgAH=H (1% 0 0 22,600 22,600 0
7HEUE(LEh) 0.20 keAHRE 515 0 0 2,000 2,000 0
ZFEuE (LYl 0.50 ke A E(1% 0 10,000 0 10,000 0
ZFEUE (YY) 2.00 ke AR} (1% 0 26,711 20,027 23,369 0
7FEuE (YY) 5.00 ke AR} (1% 0 0 28,000 28,000 0
0.30 kgAH 2k 5015 0 5,300 4,300 4,800 0
3.00 kgAHAt (1% 0 43,875 37,000 40,438 0
4.00 kg A2k 225 0 0 17,000 17,000 0
FEUE 2.00 kgAHAt (1% 0 28,000 28,000 28,000 0
7FEUE(LRh) 4.00 ke AE = 0 0 12,000 12,000 0
2.50 kg A=At (1% 0 0 16,000 16,000 0
FEUE 0.20 kg%+ 5015 0 0 4,200 4,200 0
ZFEUE(LYh)  2.00 ke AR 2% 0 22,000 26,000 24,000 0
ZFEUE (YY) 2.80 ke A E(1% 0 18,670 0 18,670 0
ZFEUE(LYh) 4,00 ke AR 0 65,000 29,000 47,000 0
0.20 kgAH 2k (1% 0 4,500 3,453 3,977 0
2.00 kgAHAt 5015 0 30,000 21,917 25,958 0
4.00 kgA+A¢ (1% 0 0 40,000 40,000 0
FEUE 3.00 kgAHAt AH2% 0 46,500 31,817 39,158 0
7}+A]
ZEA (L) 10.00 kgA+=t 5015 0 0 29,333 29,333 0
ZHA (L) 5.00 kA=At 95 (5 11,667 10,000 8,000 9,889 13,333
ZEA (L) 5.00 kgAHAt AH2% 11,259 8,576 8,171 9,336 13,816
ZHA (L) 5.00 kg2t H%(3 8,775 6,519 5,200 6,831 11,425
ZEA (L) 5.00 kgAHAt E(1% 16,043 13,651 13,015 14,236 19,339
ZEA (L) 10.00 kgt 2% 0 0 24,500 24,500 10,000
A7HA 1.00 kgAk =k E(1% 19,000 19,000 0 19,000 19,000
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44 4 e A4
F
1.50 ke A=+ =015 0 0 12,250 12,250 0
3.00 kg4 F2E 20,655 11,516 0 16,086 0
5.00 ke A% 0 20,000 0 20,000 16,295
| 7h e 5.00 kg4 E(1% 11,699 0 0 11,699 13,636
EEE: 10.00 kg2 9E(% 37,000 0 0 37,000 0
sha}a 10.00 kg4 (1% 30,508 0 0 30,508 0
10.00 kg4 0 5,000 0 5,000 0
10.00 kg2t 2% 23,750 38,359 38,204 33,438 22,148
7 = & 10.00 kg2 E(1% 15,500 0 0 15,500 0
EEE: 10.00 kg2 AH2E 15,000 0 0 15,000 19,167
Fhe) sk 10.00 kg2 E(1% 32,857 0 0 32,857 0
0.80 kg2 =(1% 0 5,500 4,750 5,125 0
Fhetat 0.80 kg 4} =15 0 0 4,900 4,900 0
5.00 kg2t 12,000 0 0 12,000 0
6.00 ke 4} 955 0 0 10,000 10,000 0
9.00 ke 2} =1% 0 19,000 31,333 25,167 70,764
7.00 ke 4} A% 0 25,000 0 25,000 0
9.00 ke 2} 9= (% 0 18,000 0 18,000 0
10.00 kg2t WE(3 0 26,000 0 26,000 0
EEE: 9.00 kg4t 215 32,836 48,263 0 40,549 43,747
she} sk 3.00 kg2t =% 0 16,334 14,957 15,645 0
EEE: 10.00 kg2 (1% 48917 42,529 0 45723 61,985
Jhe} sk 5.00 kg2t 1% 19,770 16,264 15,908 17,314 0
sle}ak 7.00 kg4 1% 12,000 0 0 12,000 0
10.00 kg2t 9= (% 0 20,500 21,950 21,225 28,000
Fheta 3.00 kg4 A% 0 15,551 12,395 13,973 0
3.00 kg3 2} 95 (% 0 0 5,500 5,500 0
3.00 kg4 =01% 0 22,667 23,000 22,833 0
5.00 kg3 2} E(1% 15,582 15,239 14,243 15,021 11,213
9.00 kg4 HE(3 0 924,745 0 24,745 0
10.00 kg4 AH2E 55,000 24,500 0 39,750 16,493
A 3 & 3.00 kg2t =1% 0 14,192 0 14,192 20,947
Fhatak 5.00 ke 4} A% 0 17,468 0 17,468 0
Fla) sk 5.00 kg2t E(1% 13,990 0 0 13,990 0
iy
10.00 kg2 2% 29,333 0 0 29,333 26,500
o] 20.00 ke A+ 15,250 0 0 15,250 11,833
WA 10.00 keAA E1% 12,706 10,425 11,882 11,671 13,135
=1 10.00 ke A2 AH2E 30,356 30,194 17,043 95,864 9,548
=1 20.00 ke A+ E(1% 46,877 44,376 16,360 45,871 40,809
] 2] 732 5.50 ke A4t 1% 5,000 0 0 5,000 0
1] 10.00 ke A2 =% 0 18,000 7,714 12,857 19,549
20.00 kg 2+ = 22,429 23,008 21,500 22,312 12,672
20.00 ke A2 WEG 21,000 18,667 23,000 20,889 14,764
WA 10.00 keAR 2% 11,056 10,929 0 10,992 14,084
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H = ZFA}F 16.00 kg A+ A} E(l= 15,000 0 0 15,000 10,000

=] 20.00 kg AHA} HZE(3 25,000 23,750 24,500 24,417 24,400

4.00 kgAFAF AH2% 0 0 25,000 25,000 0

10.00 kgAF A} HE(3 21,667 0 0 21,667 14,333

20.00 kg XA} AH 2% 22,556 30,000 40,500 31,019 20,867

H = ZFA}F 8.00 kg A} E(1= 0 9,000 0 9,000 7,000

H & 7F 2} 14.00 kgAH=} E(1=% 0 7,000 0 7,000 0

20.00 kg A} E(1= 48,193 43,351 71,314 54,286 35,817

A 20.00 kg AHA} E(ls 50,148 0 0 50,148 42,358

H] 20.00 kgAHA} 23,000 18,500 17,000 19,500 11,250

20.00 kgA+=} 8% 5,000 15,000 0 10,000 12,250

20.00 kgAA} 9%5(= 11,500 0 0 11,500 0

= ] 7=} 10.00 kgAF =2k 95 (= 5,000 0 0 5,000 0

H & ZF A} 11.00 kgAF=}F E(1= 0 14,000 0 14,000 0

H] 20.00 kgAHA} 95(= 0 14,063 0 14,063 15,453

10.00 kgAH=}; 4% 11,833 0 0 11,833 10,000

H & ZF A} 10.00 kgAF A} HE(3 6,000 0 0 6,000 5,000

= 2] 7+ =} 20.00 kg A=} AH2= 0 30,000 30,000 30,000 0

H] 20.00 kgAA} AH2% 26,993 24,441 68,723 40,052 29,992

10.00 kgAH=} E(1=% 42,317 0 28,423 35,370 24,865

o #] 20.00 kg A A} HE(3 15,500 0 0 15,500 11,836

=] ] 7=} 17.00 kg A2} E(l= 0 8,000 0 8,000 19,000

A7 A) 10.00 kgAF =} 2% 0 15,000 0 15,000 12,839

=7t 2.00 kgt E(l= 0 2,200 2,000 2,100 0

=AMk 2.00 kg%t E(1= 1,803 2,220 1,877 1,967 2,627

1z Ay 1.00 ket E(l= 600 0 0 600 1,000

=7 4.00 kgAFAF E(1= 4,000 0 0 4,000 0

1z Py 2.00 kgt E(l= 650 0 0 650 1,080

ZH(Awh) 4.00 kg A} E(1% 1,000 0 0 1,000 4,000

7k 4.00 kg XA} E(l= 3,000 0 0 3,000 7,000

ZH(Awh) 2.00 ket E(1% 1,216 1,300 0 1,258 2,474

A 2.00 kgt 2% 2,623 2,970 2,102 2,065 3,365

47k 4.00 kgHld &% 2% 2,500 0 0 2,500 0
Pt

73 (dyh 12.00 kePPH E(l= 0 0 6,000 6,000 0
Az

3.00 kgH]| d &E-%] E(l1% 0 0 28,000 28,000 36,000

AnF(FY) 10.00 kgAF =} =0 0 0 83,300 83,300 83,300

JoFAF 3.00 kgH]| d &E-%] E(l= 0 0 30,000 30,000 0

%A 6.00 kgv| dE-A] == 72,000 0 0 72,000 0

14.40 kgH]d E-# E(1= 192,00 0 0 192,000 0

AF(LHh) 0.60 kegvl 9 E-A E(l= 3,000 0 0 3,000 3,500

AF(IHh) 12.00 kePETH E(1= 75,000 0 0 75,000 0
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9.60 kgHld 5-A| E(1+ 91,000 0 0 91,000 0

74 2}
A AL HH) 2.00 kgAH=k 7,411 5,750 6,410 6,524 7,054
2 AR} 2.00 kgA =+ AH2F 8,875 5,438 5,000 6,438 6,330
ZAZH (L HH) 2.00 kgAH=k S0+ 5,870 2,148 0 4,009 4,023
2 AR} 2.00 kg A+ == 8,399 6,016 6,607 7,007 5,623
AR 2.00 kgA=H 2H2% 0 2,000 0 2,000 0

A=} A

AZAN (AT 2.00 keAHA A% 0 1,500 0 1,500 2,833

Al 3
A Tl (D uk) 15.00 kg’d-=} 515 0 0 100,000 100,000 100,000

aLtak
Al 10.00 kg’=} E(1+= 13,658 12,440 10,420 12,173 12,736
ko= Ign el 10.00 kg’ =} 25 10,505 10,218 10,195 10,306 12,175
10.00 kg A=} E% 11,571 10,053 12,227 11,284 12,024
S e taf 5.00 kgAH=F 2H2% 0 0 6,500 6,500 0
eI A el 10.00 kg”H=F = 7,233 11,434 6,694 8,454 7,675
Al 10.00 kg’=} 950+ 13,723 12,537 10,039 12,099 13,269
ELaTA ]S 10.00 kg”H=F = 20,887 21,599 21,908 21,465 20,311
S HF 10.00 kg’=} HE(3 10,586 11,271 9,291 10,382 10,690
eI Al 10.00 kg 3=} 5,000 0 0 5,000 6,185
5.00 kgA =+ 5(1% 0 0 7,283 7,283 0
10.00 kg 3=} A2F 16,447 15,066 16,874 16,129 16,768
20.00 kg =} 5(1% 14,000 0 0 14,000 0
LA el 10.00 kg’ 3=} 8,972 6,871 6,750 7,531 9,169
10.00 kg’d-=} 4% 8,418 5,394 7,164 6,992 10,067
LAl 10.00 kg’=} 4% 8,397 8,482 13,037 9,972 10,018
LITAT el 10.00 kg’ 3=} H3Z(3 18,805 18,976 12,689 16,823 18,499
10.00 kg’=} HE(3 14,518 13,002 17,000 14,840 16,012
el Al 10.00 kg 3=} = 9,000 6,667 8,500 8,056 7,535
Wk 31 5tel 10.00 kg’=} AH2F 14,640 13,416 10,872 12,976 14,706
A= 3L+ 10.00 kg’ 3=} (1% 12,000 0 0 12,000 0
=Tl 10.00 kg’d-=} 95 (% 7,373 6,333 4,624 6,110 6,840
S Hb ) 10.00 kg 3=} 51+ 9,688 9,848 10,115 9,884 11,652
B
AT = 1.00 kg%t 0 0 3,000 3,000 0
10.00 kg 3=} 51+ 30,000 30,000 30,000 30,000 30,000
AT = A 1.00 kgZ3=} 3,000 0 3,000 3,000 3,000
2.00 kg A+ 51+ 14,500 13,500 13,500 13,833 0
LS 7]

AEw 7] (LHEh) 2.30 kg A+ 51+ 15,000 0 0 15,000 0
aEu (L8 2.00 kgA=H S+ 10,000 0 0 10,000 5,825
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TEW (L) 3.00 keHl Y B AHOE 0 0 5,000 5,000 0
TEW (L) 2.00 ke A2 13,000 0 4,500 8,750 10,500
TEW (L) 4.00 ke A2 27,685 95,230 95.000 25971 37,113
TZw71(Q9)  4.00 kePET =05 0 0 10,000 10,000 0
TEW (L) 4.00 ke =% 23,429 92,250 13500 19,726 30,000
=N
TEb (A8 4.00 ket =% 0 0 15000 15,000 0
a1H]
TE (D) 4.00 ke Ak 2k A= 0 14,000 13.667 13,833 0
10.00 kg2 E1% 60,000 0 60,000 60,000 60,333
1A}
AxAte 1.60 kaAH =k E1% 100,00 80,000 0 90,000 0
4.50 kg A4k =05 0 0 92.000 22,000 0
4.00 kg2 Ao 0 92,000 0 22,000 0
A A} 0.50 kg Ak 2+ 1,500 0 0 1,500 0
A A}E) 4.00 kg A2k AHOS 25,707 24,813 94542 25021 0
A A} 4.50 kg A4k (s 0 18,000 0 18,000 0
A A} 5.00 kg Ak A+ (s 0 24,496 94,000 24,248 0
A A} 10.00 kg 2+ AH2E 42,000 0 0 42,000 0
2.00 kg A4k E(1S 40,760 36,389 38.000 38,383 38,000
5.00 kg 2+ =0% 0 0 95.000 25,000 0
A A} 2.00 kePETH =% 0 0 9,000 9,000 0
A LA}E) 3.00 kg2 =0 0 13,000 16,500 14,750 0
A 31} E) 4.00 kePETH =05 0 0 20.000 20,000 0
5.50 kg A+ =05 0 0 30,000 30,000 0
A 1A} 1.00 kg2t =05 0 2,500 2,500 2500 3,000
A A}E) 1.50 kaAH <k =05 0 0 8,000 8,000 0
A 1A} 10.00 kg 32+ =15 43,000 42,250 0 42,625 40,000
Aate 10.00 kg 2+ =0 0 176,000 0 176,000 0
4.00 kg2 EQS 26,122 24,529 24,170 24,940 24,716
8.00 ke 2k (s 0 37,000 0 37,000 0
A LA}E) 2.00 kg A4+ A% 0 8,000 6,500 7,250 0
A A} 3.50 kg Ak Ak =% 0 15,000 0 15,000 0
A A}E) 4.00 kg2 0 0 40,000 40,000 0
A A} 4.00 kg A2k =15 26,519 18,504 93.337 22,787 38,667
1.00 kg H2k =0 0 5,650 5,150 5,400 0
3.50 kg 2+ =% 0 0 17.000 17,000 0
10.00 kg 2+ =% 36,317 39,398 36.823 37,513 40,477
A 1A}E 1.00 ke b2} 2,625 2,994 2,667 2762 3,000
Axatel 1.80 kg AHk =0 0 100,000 0 100,000 0
3.00 kg 2+ =% 0 0 13.000 13,000 0
A A} 2.00 kg A4k =% 0 9,167 10,292 9,729 0
A LA}E] 2.50 ke 2k =05 0 0 20,000 20,000 0
A 1A} 6.00 ke 2k (s 0 0 40,000 40,000 0
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EIAe
(L 0.20 kg%t AH2F 1,194 0 0 1,194 2,800
S5 (Yduh) 0.40 kg%t 0 0 1,000 1,000 0
(LA 0.50 kg%t AH2F 1,553 3,121 1,945 2,206 2,038
S5 (Yduh) 2.00 kgAH=F 2% 0 0 6,000 6,000 0
(L 0.50 kg%t 2,833 3,150 1,500 2,494 1,833
(LA 0.50 kgt =5 1,534 2,731 1,648 1,971 1,707
(LA 2.00 kgAH=F E(1+ 500 0 7,650 4,075 0
(LA 0.30 kgt 5= 0 2,219 0 2,219 1,000
(L 0.60 kgAH=F 0 3,800 0 3,800 0
(LA 0.80 kg%t 3,000 0 2,500 2,750 3,200
5 (YDuh) 0.40 kg%t E(1+ 3,470 2,411 1,626 2,502 2,245
(L 0.30 kgAH=F 51+ 700 0 0 700 0
5 (Duh) 0.40 kg¥t M2+ 0 1,700 0 1,700 0
(L 4.00 kgAH=F 51+ 11,000 8,500 12,108 10,536 14,029
5 (Duh) 0.20 kg%t E(1+ 1,124 2,076 955 1,385 1,516
T 0.80 ket =05 4,200 0 0 4,200 0
IA(A) 2,00 kewh (1% 1,300 0 0 1,300 0
aFH
AFA (LN 1.00 kg A=} 50+ 0 0 3,500 3,500 0
EE
A a1309) 2.00 kgAH=F 51+ 0 0 5,180 5,180 0
A 3139) 4.00 kgAHA} 5= 0 20,500 9,000 14,750 0
4.00 kgAHAF 5(1% 0 0 9,600 9,600 0
1.00 kg 3=} 5= 31,500 0 0 31,500 31,500
A 313=0) 2.00 kgAH=F 2H25 0 0 6,286 6,286 0
A 31 39) 4.00 kgAHA} A2F 13,000 0 0 13,000 0
2.00 kg =+ 5(1% 0 0 20,000 20,000 0
A 31 39) 5.00 kg+=F 5= 0 22,000 0 22,000 0
TEAZE
5 12.00 kg’=} 5(1% 12,568 12,570 12,497 12,545 12,541
5 0.10 kgAH=} 5= 350 0 350 350 350
5 0.30 kgAH=F 5(1% 882 884 898 888 892
T 0.80 kgAH#F 51+ 1,420 1,421 1,413 1,418 1,419
5 3.00 kgAH=F E(& 4,500 4,500 4,500 4,500 4,453
5 1.00 kg’ 3=} 51+ 1,000 1,000 0 1,000 0
N 30.00 kgAHAF S+ 15,000 0 0 15,000 0
5 0.50 kg’dA} =1 1,030 1,030 1,037 1,032 1,069
5 20.00 kgA+=+ 51+ 15,000 15,000 15,000 15,000 15,000
FSFE 20.00 kgA+=k S(1% 10,000 10,000 10,000 10,000 10,000
SRS 12.00 kg’d=} 51+ 14,600 14,600 14,600 14,600 14,575
5 7.00 kgAH=F S(1% 6,500 6,500 6,500 6,500 6,500
S5 16.00 kg 3=} 51+ 14,600 14,600 14,600 14,600 14,547
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==y

TeguE 200 kedtat AH2% 12,000 9,000 12,000 11,000 0
ZeguE 1,00 kit (1% 28,000 28,000 96.000 27,333 28,000
2eguE 2,00 kedtat (% 5,577 5,944 0 5761 21,000

27
ZZHQAW)  15.00 keAkat 2% 70,833 218,000 9250 99,361 17,042
0.80 kg4t =% 12,155 0 8638 10,397 12,121
ZZHAW)  0.60 keBA (% 0 0 10.667 10,667 11,364
ZZHAW)  0.80 keAbat =% 10,773 9,339 11661 10,591 10,913
2ZHAWH)  0.80 kePPUI R 8,500 7,500 0 8,000 8,750
1.00 kg AHk (% 0 10,763 0 10,763 0
27K 0.60 kePPUI (1% 10,970 10,750 0 10860 11,325

2y
A7) 2.00 kg2t 2% 4,833 2,500 5.750 4361 3,157
SU(AE) 2,00 kedkat 5,643 5,429 6.352 5808 3,500
SU(AE) 2,00 ket 5% 2.824 6,000 2500 3775 3,602
S 2.00 ke A7} (% 8,934 4,315 7.668 6,972 3,733
SU(AE) 4,00 kedbat A2 4,301 3,479 5518 4433 3,393
SU(AE) 4.00 keHl DR A A% 4,000 0 7,000 5,500 0
SU(AE) 4,00 kel DEA (% 5.884 4,819 6,900 5868 6,859
ZU(A8) 4.00 kePET 5% 0 3,625 0 3,625 0
SU(AE) 400 kedkat 4,000 4,250 3,500 3917 4,000
SO 4.00 ke 5% 5,081 3,557 5.392 4677 4,447
R 4.00 kg2t =% 6,000 0 0 6000 1,067
Ay 4.00 kgH 9% 5% 6,200 0 0 6,200 0

27
27HQAY)  10.00 keAkat (1% 37,859 45,262 A7.764 43,628 38,581
S7HA)  10.00 ke HEB 13,000 0 0 13,000 17,250
27+ 10.00 ke A2+ (% 22,737 0 0 22737 22,082
10.00 ke 2+ =S 126,29 147,361 150,216 141,291 134,826
30.00 kg 15w} =% 8,733 0 0 8,733 13,714
AAFGIE)  0.30 ket E(1% 11,400 0 0 11,400 0
AAFIE) 0.75 ket R (% 0 10,000 0 10,000 0
AAFGIE)  3.00 ked R =05 0 0 47500 47,500 0
AAFCIE)  3.50 ket CISE 0 0 52,250 52,250 0
5.00 ke A4} (% 0 20,000 0 20,000 0
AAFGIE)  0.50 ke 2% 16,000 9,538 0 12,769 0
AAFIE) 0.80 ke (% 0 13,674 0 13,674 0
AAFGIE)  1.50 ket CASE 0 10,000 12500 11,250 0
AAFIE)  4.00 ke 110,00 67,500 50,000 75,833 0
AAFGIE)  4.00 keAtAb E(1% 200,00 50,500 94,667 91,722 0
AAMFIE)  0.20 keikat HE(3 0 4,550 0 4,550 0
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AAANF(71ED 2.00 kg A} HE(3 0 20,000 0 20,000 0
2.40 kg =} =0 0 0 5,800 5,800 0
o] =9 4.00 kgAFAF E(1=% 8,794 7,500 5,500 7,265 9,750
ARUE 2.00 kg A} E(1= 41,000 0 0 41,000 0
AR (71 E}) 1.00 kgAFAF E(1=% 11,667 15,263 15,000 13,977 0
AAANF(71E 0.20 kgAFA}F 3,000 0 2,000 2,500 0
AAANF (7 ED 0.20 kgAFAF =0 5,000 4,881 5,500 5,127 5,000
AAANF(EH 1.00 kg% E(l= 0 13,000 0 13,000 0
AAANF1ED 2.00 kg XA} 5,750 6,167 6,600 6,172 4,000
AAANF (1 EH 2.00 kg A} E(1= 8,750 5,075 5,800 6,542 4,977
o] 29 5.00 kg XA} E(l+ 12,000 10,667 4,451 9,039 13,802
AR F (71 €} 1.00 kgvl 9 E-A E(1= 0 10,000 0 10,000 0
AAANF e 0.05 kgAFAF 1,000 850 1,000 950 1,000
AAANF(71E 0.30 kgAFAk HE(3 0 0 4,700 4,700 0
AAANF (1 EH 0.50 kgAFAF 5,000 5,000 5,000 5,000 5,000
AAANF (7 ED 1.00 kg2 &% E(1=% 2,322 3,600 3,200 3,041 3,341
AR F (71} 0.25 kgAFAF E(1= 11,667 6,451 5,000 7,706 0
AR H(71 8D 0.80 kgAFAk AH 2% 0 10,000 0 10,000 0
AL (718 2.00 kg A} AH2% 0 20,000 27,000 23,500 0
AAAMF(71E 0.10 kgAFAk HE(3 2,700 0 0 2,700 0
AAANF (1 EH 0.20 kgAFAF AH2% 0 5,150 5,000 5,075 0
AAANF1ED 2.00 kg XA} 2% 0 24,000 0 24,000 0
WA F(1ED 0.50 kg A}k HE(3 0 0 9,250 9,250 0
AR (718D 0.25 kg A} HE(3 0 3,000 0 3,000 0
AR (71 ER) 0.50 kg A}k HE(3 0 7,333 0 7,333 0
AAANF1ED 0.16 kg XA}t 1,667 1,067 2,105 1,613 1,733
AAANF1ED 4.00 kg A} 14,000 14,000 14,000 14,000 9,500
AAANF (71 EH 0.05 kg &E-A 1,000 1,000 1,000 1,000 1,000
AAANF1ED 0.05 kgHl 9 E-A 0 0 1,000 1,000 0
AAANF (71 EH 0.30 kgAFA}F AH2% 0 4,500 4,500 4,500 0
AAAFCIE)  3.00 ke it AHOE 0 0 24000 24,000 0
AR F (71 E}) 2.00 kgAA} 0 0 25,000 25,000 0
AR (718D 2.00 kg A=}k E(l= 0 24,733 29,167 26,950 0
AAANF1ED 1.00 kg A}F 0 4,000 5,000 4,500 0
AAANF1ED 1.00 kg A=} E(l= 0 14,750 11,620 13,185 7,000
AR (71 ER) 0.50 kgAF =} E(1% 20,716 10,174 7,000 12,630 0
AAANF(71ED 4.00 kg A2k E(l= 6,000 22,167 26,000 18,056 6,825
AAANF1ED 8.00 kg A} =0 0 0 12,000 12,000 0
AAAMF(71E 1.20 kgAFAF E(l1= 0 6,000 0 6,000 0
AAANFIEH  10.00 kgAHAF E(l= 0 0 11,000 11,000 0
AL (718 1.00 kgAFAk AH2% 6,000 0 0 6,000 0
XA (71 R 5.00 kg A} E(l= 0 0 27,000 27,000 0
AAAMF(71E 0.05 kgAFAF E(1= 0 1,000 1,000 1,000 1,000
A AN F(71ED 0.10 kevl 9 E-A 0 1,000 0 1,000 0
AAAMF(71E 0.10 kgAFA}F AH2% 3,000 7,000 0 5,000 0
A AN F(71ED 0.30 kgAFA}k E(l= 0 5,000 0 5,000 0
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dAAFCIEH  0.50 kgAFA} 515 0 1,555 0 1,555 4,833
GAAFCIEDH  1.00 kgl d %A 0 7,000 0 7,000 0
AAAF(71EH  3.00 keAtA} 51+ 2,000 0 36,000 19,000 0
71ERA &
4.00 kg2t AH2F 10,500 8,750 45,000 21,417 9,200
1.00 kg=} 2H25 0 10,000 0 10,000 0
1.00 kg1 EY =15 2,300 0 0 2,300 0
6.00 kgA A+ 515 0 3,600 0 3,600 0
2.00 kg’ =k (2% 24,750 36,333 23,406 28,163 6,750
4.00 kg1 & AH2F 0 7,000 0 7,000 12,000
A
1.80 kg A=k (1= 9,000 0 0 9,000 0
Al (A dH) 1.00 kg”H=k 9,000 0 0 9,000 0
7Sl (dnt) 8.00 kgt (1= 0 0 5,000 5,000 0
el 4= 3.00 kgA=+ 515 22,780 15,881 15,984 18,215 17,807
A1 (Ldh) 3.00 kg’ =k (1% 27,549 21,686 19,520 22,918 28,032
3.00 kgA=+ (1% 23,231 15,461 15,244 17,979 18,177
2.00 kg’ =k (1% 21,764 16,997 16,352 18,371 18,320
7Sl (Luh) 1.00 kg’d=} (1% 7,000 0 0 7,000 6,000
7AQL(Ldh) 2.00 kgAF=H (2% 21,718 17,040 19,586 19,448 20,979
7Sl (dnt) 4.00 kg Ak E(l& 16,333 10,500 0 13,417 15,196
7Sl (Luh) 4.50 kg’3=} (1% 0 0 23,000 23,000 0
Nel 4= 2.00 kg 2+ =(1% 10,000 0 0 10,000 17,000
Al 3.30 kg Ak 2H2% 0 0 8,000 8,000 0
7Sl (L ut) 2.00 kgAH#F 51+ 62,940 20,931 20,326 34,732 22,823
Ml 4= 2.30 kgAH =+ (1% 16,000 0 0 16,000 0
Al 3.50 kg A+ =(1% 30,000 11,500 13,000 18,167 14,833
1.20 kg’d=} (1% 5,000 0 0 5,000 0
4.00 kg’dA} =(1% 0 9,000 5,000 7,000 15,167
Al (Ldh) 2.00 kgA =+ 15,875 13,143 15,143 14,720 17,500
Al 1.60 kg 3=} =(1% 14,000 0 0 14,000 0
IS 3.00 kgA=+ 2H25 20,855 14,502 14,427 16,595 16,310
Al 4.00 kg’ =k (1% 19,850 20,000 15,259 18,370 16,684
Al (L dh) 2.50 kgAH#F =(1% 0 0 13,000 13,000 0
Ml 4= 2.50 kgAH=H (1% 23,000 17,000 10,000 16,667 10,850
A7
A ZI(LHE) 4,00 kg dAF 0 0 6,000 6,000 0
WAL ZI(LE) 8.00 kg At 515 10,500 10,500 10,500 10,500 10,500
W
walm3=(duh)  1.00 kedAE (1 0 5,650 0 5,650 0
el F=(duh) 5,00 kg Ak 2% 23,247 16,504 11,924 17,225 21,060
el m3=(duh) 4.00 kedAE 9+(& 17,800 14,200 10,000 14,000 16,857
el (AU 4.00 kg2 515 26,507 17,962 14,555 19,675 24,134
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T (D uh) 2.00 kgAH=F AH2F 0 18,000 0 18,000 9,000
wa] =Y 4.00 kg AF 2H2% 19,954 13,530 11,413 14,965 19,092
] aF(Lduh)  5.00 keAHRE 95(= 0 0 11,250 11,250 20,750
] a1 E(Awh) 2.00 kgAH#F == 0 0 5,000 5,000 10,000
] a3 (LuEh 4.00 kg =} HE(3 18,000 0 0 18,000 0
] (A 5.00 kgAH=F == 0 19,000 0 19,000 17,000

=d
2.40 kgAH#F E(1+ 17,500 0 17,500 17,500 17,500

ol
aluky o] 4.50 kg =} = 0 13,500 0 13,500 0
kg o] 6.00 kePEU E(1+= 13,000 0 0 13,000 14,000
aluky o] 3.00 kePEW = 8,000 0 0 8,000 10,417
kg o] 3.00 kg®l < &-A] E(1+= 12,000 0 0 12,000 20,833
oluky o] 3.00 kgAH=k = 7,750 0 0 7,750 18,503
kg o] 6.00 kgAH=F E(1+= 14,000 0 0 14,000 37,083
kol 4.00 kgPEHH 50+ 11,051 10,167 4,000 8,406 22,064
kg o] 5.00 kgAH=F AH2F 43,750 0 0 43,750 15,000
kol 6.00 kgHl d 5-A| 50+ 10,000 0 0 10,000 28,333
kg o] 2.00 kg®l < &-A] 51+ 11,500 0 0 11,500 10,167
kol 2.00 kgPEH 50+ 0 6,000 0 6,000 8,563
oluky o] 2.50 kg A=k = 6,250 0 0 6,250 16,345
kg o] 5.00 kgAH=F 51+ 11,500 0 0 11,500 28,138
ey o] 5.00 kePEH 5= 10,000 9,000 0 9,500 27,627
kg o] 4.00 kgHldE-A] AH2F 22,000 0 0 22,000 19,231
drky o] 4.00 kgAHA} 51+ 10,896 12,917 0 11,906 22,598
kg o] 4.00 kgHldE-A] 51+ 11,913 11,500 0 11,707 24,063
ey ol 4.00 kgAHA} A2F 17,539 14,700 0 16,119 26,681

/05wt
TSI E) 2.00 kg+=F 2% 0 12,000 0 12,000 0
TSR LE 0.50 kgAH#} 5= 0 4,700 4,225 4,463 0
TS eH L) 1.00 kgAH=F AH2F 0 10,500 0 10,500 0
TSR LE 2.00 kg+=F (1% 30,500 18,533 15,500 21,511 0
el B

2.00 kgHl dHE-A] 51+ 0 3,333 0 3,333 4,083
2.00 kgHl d A 2H2% 0 0 3,000 3,000 4,000
el HAN(L 2.00 kgAH=F HE(3 5,407 6,475 0 5,941 5,583
“ERHAN(Y 2.00 kgPEH 2H2% 0 0 933 933 1,511
ol el 2] 2.00 kgAH=F HE(3 2,167 2,160 2,350 2,226 2,500
2.00 kgAH=F 0 4,000 0 4,000 0
2.00 kgAH=F S(1% 12,736 7,767 11,500 10,668 9,602
el HAN(L 2.00 kgAH=F 51+ 8,210 7,004 8,641 7,952 7,280
ol -} 2.00 kgAH=F S(1% 5,692 5,058 5,192 5,314 6,030
e HAI(Y 2.00 kgAH=F A 2F 6,622 8,081 8,152 7,618 8,290
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c}2j
T} ol ut 2.00 kg7t 0 0 11,667 11,667 0
the) ol ut 4.00 kg A2 8,000 0 29,000 18,500 0
o4 4.00 kg7 =% 0 32,000 0 32,000 0
e 2.00 kg4t 1% 0 16,000 0 16,000 0
T} ol ut 1.00 ke A=+ 0 0 6,000 6,000 0

thAl |

4.00 kg2t 1% 21,000 0 21,000 21,000 15,333
8.00 kg2t =1% 8,000 8,000 8,000 8,000 8,000
0.30 kg A4 700 0 0 700 0
7.00 kg2t =(1% 13,300 9,250 15,100 12,550 13,313

= as
oot 10.00 kg2t A% 4,000 2,750 3,000 3,250 24,400
10.00 kg4 A2 3,750 2,250 0 3,000 0

=)
= 4.00 k¥l H %27 =1% 0 35,000 0 35,000 0
ERIOED 2.00 kg4t =% 8,500 12,333 6,889 9241 14,214
ERTOES 2.60 kg2t =1% 0 14,950 0 14,950 0
ERIOED 4.00 kgH 9327 E(1% 13,400 12,400 15,071 13,624 22,082
ERTOE 6.00 ke 2} =% 0 0 16,000 16,000 0
(o) 8.00 kg 34} E(1% 21,833 13,152 10,200 15,062 37,988
ERTORD 6.00 kg3 2} A% 0 40,000 0 40,000 0
o) 4.00 ka2t E1% 248,87 24,000 0 136,438 27,547
ERTORED 4.00 ket =% 0 27,000 0 27,000 17,667
(o) 4.00 kePEU) E(1% 20,000 0 2,000 11,000 7,000
ERTORD 5.00 kg3 2} E(1% 16,667 19,000 33,000 22,889 32,000
ERTORF 5.20 kg2t =01% 0 26,000 0 26,000 0
o) 0.20 ket =01% 2,800 0 0 2,800 3,264
= 4.00 ket E(1% 23,542 33,000 0 28271 0
(o) 0.20 keHl 927 =01% 2,500 0 0 2500 3,000
ERTORF 1.00 ke A2 1% 6,333 13,000 0 9,667 10,280
(o) 3.50 kg4 =01% 0 14,000 0 14,000 43,000
ERTORD 4.00 kg3 7} E(1% 18,295 21,536 24,991 21,607 33,346
o) 3.00 ke 32} =1% 17,375 16,000 12,000 15,125 35,000
ERTOED 3.00 kg2t (1% 10,875 8,750 16,500 12,042 28,958
(L) 4.00 kgAH=F 2= 26,926 21,230 17,913 22,023 36,169
o) 2.00 kg2t E(1% 12,000 13,000 0 12,500 13,500
ERTOED 1.90 ke A+ E(1% 11,000 0 0 11,000 0
ERTOED 4.00 kBl 927 AH2E 13,000 0 0 13,000 23,000
ERTOED 0.80 k44t A% 5,000 0 0 5,000 0
ERTOE 1.00 ke A+ 9,429 7,714 8,333 8,492 10,000
ERTOE 4.00 kg2t 0 8,000 7,000 7,500 22,000
ERTOE 4.70 kg7 1% 15,280 0 0 15,280 0
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=TGR 8.00 kgAH=t AH2% 0 0 26,000 26,000 0
whll
3.00 kgAF =k E(l% 0 0 8,000 8,000 0
o
g 20.00 kg =+ A= 26,500 30,333 31,000 29,278 19,720
10.00 kg2FA} E(% 10,023 10,159 10,139 10,107 9,525
F(AEh) 20.00 ke Ak} HE(3 20,000 0 25,500 22,750 12,600
g 20.00 kg4 2k HE(3 0 23,333 25,333 24,333 15,206
g(QAEh) 20.00 keAHA} AH2% 26,000 0 34,000 30,000 17,500
S 20.00 kgPPt 95 (% 0 12,000 12,000 12,000 0
g9 10.00 kg2t AH2% 9,087 9,577 10,500 9,721 8,100
S(AEh) 20.00 ke E(l% 28,471 0 30,066 29,269 19,047
e 20.00 kg2t E(1% 28,777 31,541 35,091 31,803 18,365
o=
A= 0.60 kg2t E(% 0 8,000 0 8,000 0
o 3= (25 15.00 kg2 E(l% 190,00 0 190,000 190,000 185,000
A= 0.50 kg2t E(l% 0 0 6,000 6,000 0
o 3= (2 5k 15.00 kg2t AHo% 160,00 0 160,000 160,000 0
o) o}
o 7H( 5k 4.00 kgPETH E(1%E 0 0 1,714 1,714 0
o (2§ 4.00 kg =k E(l% 0 2,800 2,000 2,400 0
o) (2 \h) 1.00 kg E(% 822 908 1,066 932 1,302
o 2H( 5k 1.50 kg% E(l% 0 1,600 0 1,600 0
o) (") 1.00 kg 2% 888 959 1,203 1,016 1,364
o 2H( \h) 2.00 kg ot E(l% 2,352 2,864 2,760 2,659 3,265
o) (2 \h) 2.00 kgAF =t E(l% 0 0 1,400 1,400 0
o 7H( Hh) 10.00 kg2t AH2% 0 0 8,079 8,079 0
o (2§ 2.00 kgH] -~ E(l% 0 1,500 0 1,500 0
o 7H( wh) 2.00 kg &t AHo% 2,075 3,033 3,627 2,912 3,216
o (2§ 10.00 kgHl -4 AH2% 0 0 9,000 9,000 0
[Eh=]
1.00 kg 2k} E(1% 0 0 23,000 23,000 15,000
10.00 kg2t E(l% 146,66 150,000 150,000 148,889 131,434
19.00 kgA+A} HE(3 47,500 0 0 47,500 0
20.00 kgPPty 2% 270,00 0 0 270,000 0
ER=TCIRS) 1.00 kg A=} E(l% 2,700 0 0 2,700 15,237
1.00 kgt 0 12,000 0 12,000 15,000
10.00 kg2 110,00 0 0 110,000 0
=R=TCIRS) 1.00 kg2t = 1,000 0 0 1,000 5,363
8.00 kg4 =t 2% 56,000 0 0 56,000 0
2.00 kgPP HE(3 10,000 0 0 10,000 0
20.00 kg2t HE(3 54,000 0 0 54,000 27,500
20.00 kg =+ 230,00 0 0 230,000 0
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20.00 kg4 2+ E(1% 0 150,000 0 150,000 0
20.00 kgPPt) HE(3 130,00 0 0 130,000 0
20.00 kgPPt E(l% 380,00 0 0 380,000 0
10.00 kg2+A} AHo% 72,000 80,000 0 76,000 66,893

ZEkA|
EHA(FY)  10.00 ket E(% 53,000 53,000 53,000 53,000 48,577
TR (A8 20.00 kg2t E(l% 0 156,591 0 156,591 120,000
2.00 kg A} E(% 42,500 42,500 42,500 42,500 42,500
A () 4.00 kg2 E(l% 20,000 20,000 20,000 20,000 18,667
Tk (A4 1.00 kgA+=} 6,000 4,800 4,000 4,933 4,333
SR (L) 1.00 kg =} 50+ 0 4,867 4,000 4,433 4,793
Tk (4 2.00 kg2 =k 0 0 8,000 8,000 0
TR (L) 8.00 kg4 =t 0 0 40,000 40,000 0
T2k (g8 13.00 kePPH E(l% 0 90,000 0 90,000 0
Tk (a8 20.00 ket 0 120,000 0 120,000 0
7Pk A(54))  10.00 kePET E(l% 53,000 52,204 53,000 52,735 48,214
TR (L) 8.00 kePP U E(1%E 0 32,000 0 32,000 0
T2 (I8 20.00 kePPTH E(l% 132,19 171,333 0 151,764 154,960
Tk (24 5.00 kg2t E(1%E 0 49,000 0 49,000 0
TR (A8 12.00 kgAF=b = 0 15,000 0 15,000 0
TR (L) 1.00 kgt E(1%E 5,700 0 0 5,700 7,315
T2 (I8 20.00 kePPh 120,00 0 0 120,000 0

TE{
1.00 kgAH =+ E(1%E 0 11,500 0 11,500 0

EUE
EUE(dRh 4.00 kg2t 10,000 0 5,000 7,500 0
EUE(9uh 4.00 kg2 E(l% 10,000 5,500 2,000 5,833 6,417

FUE
EUE(Duh 3.00 kgPETH E(1%E 0 1,000 0 1,000 0
FUE(duh 4.00 kg2 AH2% 9,032 7,313 5,458 7,268 9,480
EUE(Duh 4.00 kgAF=¢ 10,667 7,000 6,600 8,089 8,800
FUE(duh 4.00 kg2 E(l% 9,736 4,990 6,429 7,052 8,174
FUE 4.00 kg2t E(l% 8,548 6,494 4,378 6,473 9,110

Ta

2.80 kg2t E(l% 83,000 0 0 83,000 0
FE(Yu 0.50 kg2t HE(3 12,334 8,963 7,316 9,538 15,000
FE(Duh 1.00 kgHl 92X E(1% 0 10,000 0 10,000 0
FE(Yu 1.80 kg A=} E(l% 20,000 0 0 20,000 0
FE(Duh 3.00 kg2 =k HE(3 85,000 0 0 85,000 0
FE(Yu 5.00 kgAF =k = 0 40,000 0 40,000 0
g 1.30 kg2t E(% 10,000 0 0 10,000 0
s 2.00 kgAF=k E(1%E 22,482 13,133 13,642 16,419 33,431
g 4.00 kgAH=t E(% 29,667 25,672 25,628 26,989 0
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AFE 0.20 ke 7} =% 0 3,000 0 3,000 0
AEE 0.40 ka2t =1% 0 6,300 0 6,300 0
ATE 0.50 ket E(1% 15,500 9,603 0 12,551 0
AFE 0.50 kg7t A% 0 9,909 7,728 8,819 0
ATE 1.50 ke A2+ = 50,000 0 0 50,000 0
AFE 1.70 ke A+ A% 0 25,000 0 25000 0
ATE 2.00 kg4t E(1% 65,094 36,058 31,822 44,325 0
AFE 2.20 kg7t =% 0 31,000 32,000 31,500 0
AEE 3.50 kg4 =% 0 46,425 60,000 53,213 0
ATE 4.00 kg7t =E1% 175,00 147,713 50.876 124,529 0
1.00 kg A2+ E(1% 38,000 9,127 0 23564 0
1.50 kg A2 E(1% 75,800 0 0 755800 0
FE() 0.20 ka2t =% 0 6,225 4,543 5,384 0
FE(Quh) 0.25 kg7t =1% 7,306 5,819 6,500 6,541 12,250
FE(Quh 0.50 ket =E(1% 16,050 12,167 7,000 11,739 0
F5(duh 0.50 kgAH=F E(1+ 15,330 9,596 8,712 11,213 25,567
FE(Quh 1.00 ke A= 2% 18,322 16,810 12,858 15,997 0
FE(o) 1.50 ke A2+ = 43,000 0 0 43,000 0
FE(Quh) 1.50 ke A= A% 0 20,000 20,000 20,000 0
FE(o) 1.60 ke A2+ =% 0 0 8,000 8,000 0
FE(Quh) 2.00 ke¥t E(1% 18,000 0 0 18,000 26,000
FE() 2.00 kg 2} E(1% 53,065 30,244 24270 35,860 36,000
FE(uh 2.30 kg3 2} =% 0 35,000 0 35,000 0
FE() 2.50 ka2t E1% 57,500 28,417 27,667 37,861 0
FE(Duh 3.10 kg3 4} =% 0 36,000 0 36,000 0
FE() 3.50 kg4 =01% 0 62,000 40,000 51,000 0
FE() 5.00 ket E(1% 13,200 0 0 13,200 0
FE(Quh) 5.00 kg2t =1% 0 88,000 64,333 76,167 0
FEQY) 1000 keAR A% 0 200,000 160,000 180,000 0
R 2.20 kg2t A% 0 0 19,000 19,000 0
A5 1.40 ke A2+ =% 0 0 23,000 23,000 0
ATE 3.00 kg2t AH2E 126,00 63,148 47,993 79,047 0
A5 4.00 ka2t HE(3 0 42167 33.800 37,983 0
AEE 4.50 kg 7} A% 0 30,000 0 30,000 0
A5 5.50 kg4t =01% 0 64,000 0 64,000 0
0.30 kg 2} 1% 0 4,750 0 4,750 0
3.00 kg4 =(1% 100,00 72,000 0 86,000 0
FE(uh 2.00 kg4 95 (% 0 0 32,000 32,000 0
EE(Quh) 2.70 kg2t 1% 0 23,000 0 23,000 0
FE() 2.90 kg7 A% 0 26,000 0 26,000 0
EE(Quh) 3.00 kg2 2% 109,00 0 35,000 72,000 83,000
EE 2.00 ket Y5 =01% 0 6,000 0 6,000 0
EE 2.00 kg2t 2% 22,223 14,658 15,741 17,541 29,005
EE 3.50 ke 7} =01% 0 13,000 0 13,000 0
ATE 1.00 ke A2 4% 0 13,000 0 13,000 0
A5E 1.20 ke A+ A% 0 11,000 0 11,000 0
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AFE 2.30 ke 7} =% 0 0 38,000 38,000 0
AEE 2.50 ka2t HE(3 0 48,000 0 48,000 0
ATE 2.50 kg4t =% 0 44,088 41,643 42,865 0
AFE 2.70 kg7t =% 0 0 21,000 21,000 0
0.40 k324 1% 0 7,000 0 7,000 0
0.50 kg2t AH2E 13,850 0 0 13,850 0
4.00 kg A4 1% 0 54,000 0 54,000 0
EE(Q 0.25 ke 7} WE(3 6,500 4,500 0 5,500 0
FE(Yu 0.50 ka7l =% 0 12,441 8,000 10,220 0
EE(Q 0.50 ket WEG 12,200 0 0 12,200 0
2 (o 1.50 ke A+ =15 36,334 24,000 20,063 26,799 68,600
EE(Q 1.70 ke A2 =E(1% 30,667 0 0 30,667 0
FE() 2.00 ke 2} HE(3 0 24,313 0 24313 0
EE(Q 4.00 kg7t = 0 30,000 0 30,000 0
FE(Quh 4.20 kg7t =% 0 0 18,000 18,000 0
rE 2.00 ket E(1E 22,944 13,000 0 17,972 0
ATE 1.00 ke A= WE(3 0 0 18,000 18,000 0
e 1.00 ke A2+ AH2E 26,500 13,333 0 19,917 0
ATE 1.50 ke A= WE(3 0 17,500 36,000 26,750 0
e 2.00 kg2t AH2E 49,278 34,250 18,700 34,076 0
ATE 3.80 kg7t =1% 0 71,000 0 71,000 0
AEE 8.00 kg4 A% 0 96,000 0 96,000 0
AFE 10.00 kg3 2} A% 0 115,000 0 115,000 0
NEs 2.00 ka2t =01% 0 28,000 0 28,000 0
0.50 kg 2} E1% 12,266 7,000 0 9,633 0
2 (9 0.30 ket =15 7,500 0 0 7,500 0
2 (9 1.00 ke A+ E1% 20,572 15,563 11,405 15,847 0
EE(Q 3.00 kg2t = 0 30,000 0 30,000 0
2 (9 3.50 kg4 A% 0 0 43000 43,000 0
EE(Q 4.50 kg7 =1% 0 91,000 70,000 80,500 0
2 (9 10.00 kg4 =01% 0 136,000 0 136,000 0
EE 2.60 kg2t A% 0 0 18,000 18,000 0
EE 6.00 ke 34} =01% 0 15,000 0 15,000 0
AEE 0.50 kg 2} HE(3 0 10,775 5,919 8,347 0
A5 0.70 kg2 A% 0 0 19,000 19,000 0
AEE 1.00 ke A=} E(1% 32,500 14,188 14,037 20,241 0
A5E 1.60 ke ¥+ A% 0 20,000 0 20,000 0
AEE 2.40 kg2t 1% 0 31,000 0 31,000 0
ATE 2.60 kg4t 1% 0 56,000 50,000 53,000 0
A5E 3.40 kg3 2} =01% 0 58,000 0 58,000 0
ATE 3.70 kg4t 1% 0 86,000 55,000 70,500 0
A5E 4.50 kg2t WE(3 0 28,000 0 28,000 0
0.50 kg A2} HEG 13,500 0 0 13,500 0
1.40 kg2 E1% 62,000 0 0 62,000 0
1.80 ke A =1% 0 16,000 0 16,000 0
oL 0.30 ke 7} =01% 6,500 6,960 6,224 6,561 0
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FE5(dwh 0.40 kgAFAF E(l= 0 8,123 6,500 7,311 0
Fa5 (g4 0.60 kgAFA}F =0 13,000 8,400 0 10,700 0
F5(dyh 0.70 kgAF A} =0 0 0 17,000 17,000 0
FE5(dwh 1.30 kgAFA}k E(1= 52,250 0 0 52,250 0
F5(dyh 2.80 kg A=} E(l+ 0 23,000 0 23,000 0
0.20 kgAFA}F E(1= 0 5,033 0 5,033 0
2.00 kg XA} E(1=% 70,882 16,000 5,000 30,627 36,000
2.50 kg A} E(l= 90,000 0 0 90,000 0
Fa5 (g4 0.25 kgAFA}F A% 0 5,820 0 5,820 0
FE5(duh) 0.50 kg7l AH2% 0 12,000 0 12,000 0
F5(duh 0.50 kgAFAF 2% 13,367 8,482 7,256 9,702 19,333
FE5(duh) 0.60 kegvldE-A E(1= 0 0 5,000 5,000 0
F5(duh 1.90 kgAFAF E(l= 46,000 0 15,000 30,500 0
e 1.00 kgAFAF E(1= 28,000 0 6,000 17,000 0
AF5 0.30 kgAFAF E(1= 0 5,909 0 5,909 0
5 1.30 kg AFAk E(l+ 0 0 26,000 26,000 0
e 1.70 kg XAk E(1= 0 28,500 0 28,500 0
=5 2.00 kg AHA} HZE(3 0 33,250 26,722 29,986 0
VIR 2.00 kg A} HE(3 0 14,000 0 14,000 0
FE () 0.40 kgAFAF AH2= 0 0 6,000 6,000 0
FE5(dwh 0.50 kg% AH2% 13,000 0 0 13,000 0
F5(duh 0.70 kg AF 2% 0 0 15,000 15,000 0
FE5(Ldh 1.00 kg A}F HE(3 10,000 0 0 10,000 0
F5(duh 2.00 kg A=} = 0 10,000 0 10,000 0
FE5(Ldh 2.00 kg =} 2% 37,198 29,337 26,305 30,947 31,186
F5(duh 3.70 kg A=} E(l= 0 47,000 24,000 35,500 0
F5(duh 4.00 kg A} 2% 0 34,000 15,000 24,500 0
FE5(duh) 4.70 kg XAk E(1= 0 0 28,500 28,500 0
F5(duh 4.80 kg A}t E(l= 0 0 71,000 71,000 0
FE5(dwh 5.00 kg%t AH2% 14,300 0 0 14,300 0
F5(duh 5.50 kg A=} E(l= 0 81,000 0 81,000 0
FE5(dwh) 3.00 kgAA} E(1=% 91,869 37,188 18,667 49,241 138,000
F5 (4 4.00 kg XA} 103,33 55,000 50,833 69,722 0
FE5(ddh 4.00 kg A} E(1%5 111,75 55,343 42,000 69,698 0
F5(duh 5.30 kgA=}F E(l= 0 0 24,000 24,000 0
FE5(Ldh 6.00 kg =} E(1% 0 90,000 3,000 46,500 0
FE () 7.00 kg A} E(l= 0 43,000 0 43,000 0
955 1.00 kgHl 4 &% =0 0 0 13,000 13,000 0
=5 1.50 kgAHAF E(l+ 0 0 11,000 11,000 0
uF5 2.00 kg A} = 24,000 14,700 16,500 18,400 34,000
=5 2.00 kg A} HE(3 21,430 13,022 15,000 16,484 35,917
uF5 3.20 kg A} E(l= 0 11,000 0 11,000 0
=5 4.50 kg A A} E(1+ 0 26,000 0 26,000 0
5 0.50 kg%t HE(3 0 6,787 0 6,787 0
-5 0.70 kgAFA}F HE(3 0 0 17,000 17,000 0
A5 1.50 kgAFAk E(l= 57,000 0 34,000 45,500 0
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HFE 1.90 kg’=} == 76,000 0 0 76,000 0
55 2.10 kgAH=F HE(3 0 21,000 0 21,000 0
55 2.50 kg A=k 2% 0 29,875 0 29,875 0
HFE 3.80 kgAH#F AH2F 0 48,000 0 48,000 0
55 3.00 kgAH=F HE(3 76,000 43,668 35,143 51,603 0
HFE 3.00 kgAH#F == 108,41 65,269 64,935 79,539 0
5 5.60 kg A=k E(1+ 0 62,000 0 62,000 0
HFE 6.00 kgAH=F == 0 73,000 140,000 106,500 0
55 8.00 kg A=Ak 50+ 0 0 90,000 90,000 0
FE5(duh 8.00 kgAF =t AH2% 0 155,000 0 155,000 0
o5 3.00 kgAHAF 5= 0 15,333 18,111 16,722 33,000
AEE 0.50 kg &+ AH2% 0 7,500 0 7,500 0
FFE 0.50 kg2 =k E(1% 0 10,447 9,023 9,735 0
55 1.50 kg’d=} AH2F 0 18,333 22,000 20,167 0
A5 2.60 kA2t HE(3 0 28,000 0 28,000 0
e 3.00 kgAH=F = 0 34,000 56,000 45,000 0
A5 3.50 kgAF=t A% 0 6,100 0 6,100 0
e 3.70 kg A=k HE(3 0 42,000 0 42,000 0
HFE 4.00 kgAH=F AH2F 0 48,318 52,300 50,309 0
e 4.50 kg Ak E(1+ 0 77,000 81,000 79,000 0
A5 5.00 kgAF=t E(1%E 0 58,333 26,000 42,167 0
el ot
Feler(dyh)  10.00 kgAH=t E(1% 0 160,000 143,500 151,750 0
E70
0.40 kg =k 51+ 0 0 5,000 5,000 0
EME) 1.00 kg A=} E(1%E 150,00 0 0 150,000 0
8.00 kg+=} 5= 0 0 66,700 66,700 0
20.00 kg2 E(1% 0 0 137,500 137,500 177,000
E7(Ldh) 5.00 kegPPU 51+ 42,000 0 43,000 42,500 45,000
1.00 kg’d-=} 5(1% 0 0 13,000 13,000 0
7]
1.00 kg’ 3=} HE(3 6,614 0 0 6,614 3,229
1.00 ke Al &-71 AH2F 9,874 9,257 10,302 9,811 8,808
1.00 kePPH E(1s 11,033 9,528 9,451 10,004 10,262
1.00 kePPHH 2% 0 0 7,250 7,250 6,500
&k 1.00 kg’ 3=} 9% (& 0 3,500 0 3,500 0
5k 1.00 kg S+ 8,505 7,715 7,635 7,952 7,926
&k 1.00 ke F A1-8-71 51+ 6,447 5,991 5,466 5,968 7,349
gk 1.00 keP-BOX 5% 1,960 1,200 0 1,580 2,128
1.00 kg’ 3=} = 3,000 0 0 3,000 0
1.00 kgZd-=} 2H2% 10,253 0 4,100 7,177 6,584
1.00 kg 2% 13,375 10,863 12,188 12,142 11,281
1.00 kg 9% (& 6,500 5,811 5,389 5,900 4,833
1.00 kg S(1% 15,813 13,577 15,800 15,063 13,595
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A ze st A4

1.00 ke A7) WE(3 6,874 6,761 7,830 7,155 5,973

1.00 kePPU 95(% 0 4,000 0 4,000 5,357

2.00 kg4t AH2E 13,000 8,167 11,500 10,889 11,625

1.00 ke WE(3 2,937 3,060 3,383 3,127 3,680

1.00 ke A7) A% 6,548 5,661 4,722 5644 7,255

1.00 keP-BOX A% 4,525 6,500 3,000 4675 4,686

A 1.00 ke = 2,313 2,429 1,500 2,080 2,643

At 1.00 ke 8 Al-8-7] WE(3 4,080 4,105 3,752 3,979 4,147

x5} 1.20 ke A=+ =1% 7,055 0 0 7,055 7,895

5t 2.00 kg2t WE(3 0 3,000 0 3,000 6,360

1.00 ke =% 7,155 6,443 5,602 6,400 7,721

8] 1.00 kg = 2,071 2,275 2,050 2132 2,865

x5} 1.00 keP-BOX A% 3,200 2,617 2,186 2,667 3,398

5t 1.00 kePPUi 95 (% 2,500 0 0 2500 3,816

1.00 kg = 2,000 0 0 2,000 2,357

1.00 ke A7) A% 0 3,517 0 3,517 4,731

=5 1.00 ke A1&-7] WE(3 3,636 3,217 3,098 3,317 3,881

1.00 ke A2+ E(1% 14,291 0 0 14,291 10,935

1.00 kg A2 A% 4,250 1,800 5,887 3,979 3,300

1.00 ke A7) = 2,125 0 0 2125 2810

5t 1.00 kg WE(3 4,066 4,354 4,433 4284 3,459

78] 1.00 ke HE(3 3,071 3,250 3,233 3,185 3,335

#8] 1.00 kg =% 7,483 7,571 7,167 7407 7,241

78] 1.50 ke E(1% 10,000 0 0 10,000 0

1.00 ke A=} =% 9,110 6,035 5,275 6,807 8513

1.00 ke =01% 6,876 6,510 6,547 6,644 8,051

x5t 1.00 ke A2+ = 3,000 0 0 3,000 2,955

5t 1.00 ke A2 A% 3,824 2,572 9,000 5132 3,971

x5t 1.00 kePPU) = 3,817 3,292 3,358 3,489 3,361

5t 1.00 kPP A% 6,552 5,824 5,895 6,090 6,700

x5t 1.50 ke A+ A% 4,854 0 0 4,854 0

5t 2.00 kg2t E1E 12,446 11,937 12,911 12,431 12,321

x5t 2.00 kePPT] =15 0 0 4,976 4,976 0

A5 10.00 kg3 2} = 0 2,000 0 2,000 0

x5t 10.00 kg4 A% 0 3,967 0 3,967 0

1.00 kg 95 (% 2,000 0 0 2,000 2,366

S 1.00 kg A2+ A% 7,625 6,000 4,625 6,083 9,636

8] 1.00 kg A= A% 3,375 2,600 0 2,088 2,882

8] 1.00 ke A% 4,264 4,714 4,550 4509 4,864

78] 1.00 kePPUi A% 6,181 5,969 4,991 5713 6,195

8] 1.50 ke 5% 2,500 0 0 2,500 0

78] 1.50 ke A% 5,500 0 0 5,500 0

8] 2.00 kg2t 1% 8,500 0 0 8,500 10,897

1.00 ke A% 4,002 4,183 4,417 4201 5525

1.00 ke d A1&-7] HE(3 3,051 3,045 2,833 2,976 4,222

1.00 kePPth S(1F 6,476 6,618 7,596 6,897 7,955
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A ze st A4

1.20 ke A2+ =% 0 6,903 0 6,903 0

2.00 kg4 =% 8,912 7,250 10,842 9,001 11,584

BE 1.00 ke A2+ HE(3 2,768 2,947 3,300 3,005 2,904

5t 1.00 ke 8 A1-8-7] A% 4,730 4,707 4,624 4687 5,335

A 1.00 kePPU HE(3 4,328 4,218 4,414 4320 4,222

At 1.00 kePPUi 3,767 4,000 0 3,884 4,210

A 2.00 kg4t 2% 10,812 10,518 12,172 11,167 10,831

At 10.00 kg2t WE(3 0 3,000 0 3,000 0

1.00 ke HE(3 3,066 3,000 2,500 2855 3,631

8] 1.00 ke A1&-7] =1% 7,786 7,667 7.417 7623 9,167

78] 1.00 kePPU) HE(3 3,907 4,311 3,443 3,887 4,399

8] 1.50 ke A= A% 5,500 0 0 5500 5,000

=5} 1.00 ke 8 A1 8-7] = 2,250 2,500 0 2,375 2,295

=5 1.00 ke H A1&-7] A% 7,713 6,456 6,483 6,884 8,855

1.00 kg A1&7] = 3,224 3,250 3,478 3,317 3,060

Aba) 1.00 ke A2+ =% 0 0 23,000 23,000 0

5t 1.00 ke 95(% 21,928 4,129 4,133 10,063 3,497

BE 1.00 keP-BOX =% 0 3,525 2,000 2763 5,099

5t 2.00 kg7t 95 (% 8,000 0 0 8,000 4,000

BE 2.50 kg4t =% 0 0 16,625 16,625 0

1.00 kg WE(B3 10,375 9,167 9,000 9514 9,036

1.00 ke A7) E(1% 13,842 13,326 13,960 13,709 12,834

2.00 kg3 2} E1E 22,000 11,000 20,000 17,667 19,125

1.00 ke A2+ HE(3 2,500 2,000 2,450 9317 3,000

1.00 ke 8 A1&-7] E(1% 10,338 8,806 8,058 9,067 11,063

1.00 keP-BOX =01% 7,358 9,167 6,500 7675 7,333

1.00 kePPUi HE(3 0 0 5,125 5125 3,667

5t 1.00 ke A2 =1% 6,000 5,431 12,000 7810 6,011

x5t 1.00 ke A% 4,727 4,870 4,997 4,865 4,788

5t 1.00 kPP = 0 500 0 500 4,167

x5t 1.00 kePPU) =01% 6,808 6,470 6,163 6,480 6,820

5t 10.00 kg2t =1% 0 6,000 0 6,000 0

1.00 ke A% 4,064 4,012 3,625 3,900 4,664

L% 1.00 ke A=} HE(3 4,438 3,833 3,438 3,903 6,050

78] 1.00 ke A+ =01% 6,000 4,000 0 5000 3,000

28] 1.00 kePPU 1% 9,177 8,910 6,739 8,275 8,854

1.00 kg A2+ = 2,000 0 0 2,000 0

2.00 kg4 2% 0 0 9,100 9,100 0

5 1.00 ke d A1&-7] 4% 3,987 3,850 3,796 3,877 3,389

x5t 1.00 keP-BOX WE(3 2,633 2,500 700 1,944 2,720

S 1.00 ke A2 E(1% 10,938 8,875 6,563 8,792 12,208

78] 1.00 ke A7) WE(3 3,000 3,100 3,100 3,067 3,219

8] 1.00 ke d A1&-7] A% 4714 4,667 4,750 4710 5471

78] 1.50 kg2 = 3,000 0 0 3,000 4,357

8] 1.50 ke A2 E(1% 11,000 0 0 11,000 10,286

=5t 1.00 ke 8 Al -8-7] E(1% 12,048 9,781 8,947 10,259 13,704
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A Fe she A4

oSt

B3 (5=¢)  10.00 ket AH2E 42,000 0 0 42,000 42,000
10.00 kg4t E(15 0 42,000 0 42,000 44,667
A=A 2.00 ke 0 0 7,000 7,000 0
A=H(duh) 2,00 ke =(1% 6,000 0 0 6,000 5,000
A=A 2.00 ke A% 0 3,500 0 3,500 0
A=A (DU 4.00 ke A =01% 0 4,000 0 4,000 0
AEANA(D 2.00 ket E(1% 25,000 0 0 25000 26,286
AEAH( 200 kedt A 26,500 95,250 25,000 25,583 26,250
AEANH(Y 4.00 ke 0 0 25,000 25,000 27,000
#m(529)  18.00 ke (1% 45,000 44,250 41,750 43,667 49,449
#m(529)  18.00 ket AH2E 34,000 27,667 20,000 27,222 23,500
FE(Au)  17.20 ke A AH2E 40,000 43,500 40,000 44,167 46,929
#m(5291)  10.00 ke 0 54,000 48,000 51,000 52,000
A (59)  18.00 ke 0 46,000 41250 43,625 0
Zoel(Ad)  4.00 ke 1% 0 4,000 3,000 3,500 8,330
2.00 kg4 =01% 0 2,800 0 2,800 0
2 2wl 2.00 kg 37} =% 0 0 867 867 2,500
Zulol(duh)  2.00 ket A% 6,000 1,250 2,131 3,127 1,900
Zulol(Aduh)  4.00 ket AH2E 16,263 8,101 6,913 10,426 9,248
Ez ol 2.00 kg2t =01% 5,600 3,011 1,995 3,535 4,716
Zulol(du)  2.00 ket =01% 0 2,048 1,292 1,670 2,150
10.00 kg4 95 (% 0 65,000 35,000 50,000 0
20.00 ke A= =% 0 90,000 0 90,000 0
10.00 kg4 E(1% 90,000 75,000 90,000 85,000 80,061
10.00 kg3 2} 72,500 0 0 72,500 0
s 9E 10.00 ket =(1% 90,709 90,756 91,201 90,889 85,039
s 9% 20.00 kedk At HE(3 0 162,750 165,000 163,875 151,250
s (5)  20.00 ke A E(1% 95,000 101,000  111.667 102,556 98,750
nhs (229 10.00 ke E(1% 25556 95,667 93,250 24,824 41,986
RIATE S 0.30 ket =01% 2,000 1,414 1,407 1,607 0
s 9% 10.00 ked At 2% 84,981 85,000 84,083 84,688 81,224
ks 9 20.00 keHlE 2] 95(% 67,500 60,000 80,000 69,167 67,000
BIAE S 0.80 kggh 3,500 0 2,500 3,000 0
RIACE S 8.00 kg7 =01% 0 0 21,500 21,500 24,303
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Frls 4.00 ka2t (1% 0 0 8,000 8,000 5,300
4.00 kg 157 A% 0 0 16,500 16,500 0
7hls GE 20,00 ke 9%(% 80,000 80,000 0 80,000 68,333
EIas 0.50 ka2t 2% 3,500 0 0 3,500 0
n} 5% 1.00 ke =(1% 6,328 4,536 4,108 4,990 0
EIas 23.00 kg 2k (1% 7,800 0 0 7,800 0
Euls 1.00 ke =(1% 3,772 1,700 3,458 2,977 4,933
Frls 2.00 ke¥+ 2% 3,250 0 0 3,250 6,330
7l G 10.00 ke A HEB 83,632 83,000 82,008 83,180 80,524
7hks JE 20,00 kel H BA BEGB 162,50 164,000 164,200 163,567 154,587
7ibs SE 20,00 kel B4 83,333 80,000 80,000 81,111 73,500
ul(3E9)) 20,00 kedkak (1% 77,500 80,000 70,000 75,833 70,000
EIas 1.00 kgPE] =05 0 0 1,000 1,000 0
(59 8.00 kg =} 2w 0 0 28,000 28,000 32,000
1.00 ke'%+ (1% 0 0 3,800 3,800 0
7hels e 20.00 ke =(1% 0 180,000 0 180,000 160,000
n} % 0.30 kv 2% 0 1,449 1,317 1,383 0
n} 5% 0.30 ka2t =(1% 0 0 1,550 1,550 0
n} % 0.50 kgl %] (1% 0 0 2,167 2,167 0
7hels G 20.00 keHl U %A E(1% 172,50 176,000 177,000 175167 163,214
Zhks WA 10.00 ket 2% 78,000 78,000 0 78000 73,750
EIas 0.50 kg 3,500 3,400 2,833 3,244 3,500
Fohs 10.00 ke (1% 15000 0 0 15000 46,500
7els G 10.00 kgHl U %A =015 0 95,000 95000 95,000 0
Zhks WA 10.00 ke Ak BE@B 76,000 76,000 76,000 76,000 72,375
EIas 0.30 kePET =015 0 0 1,000 1,000 0
EIas 0.40 kg 2% 4,400 0 0 4,400 0
n} 5% 0.50 kv A% 4,269 2,615 1,932 2,939 4,569
Bl 24.00 ke A2+ =05 7,800 0 0 7,800 0
Euls 1.00 ket 324 =5(1% 3,084 0 0 3,084 3,700
Frols 1.50 ke'e (1% 0 3,200 0 3,200 0
grls dE 4,00 ke1B (1% 0 0 16,000 16,000 0
4.00 kg1 E 7 (1% 12,500 9,888 12,265 11,551 0
Zinls JE 10.00 kgdl B4 BEB 90,000 90,000 90,000 90,000 86,154
7els G 10.00 ke 9%(E 40,000 0 40,000 40,000 39,000
Zhks WA 10.00 ke Ak (1% 82,000 82,000 82,000 82,000 78,250
7bE(59))  20.00 ke Ak HE 0 0 105000 105,000 0
s 0.50 kgt (1% 4,229 2,305 1.876 2,803 3,533
n} 5% 0.50 ka2t 5(1% 3,000 4,148 0 3,574 0
Bl 1.00 ke 2% 7,262 4,059 3,083 4,801 9,300
n} 5% 1.00 kg =k A% 0 3,200 0 3,200 0
Bl 2.00 ke ¥k =01% 0 0 13,758 13,758 0
n} % 20.00 kg 5(1% 3,800 210,000 215000 142,933 5,200
MFEE(R]]) 8.00 ket (1% 36,681 36,224 28,418 33,774 34,042
Euls 1.00 k¥ A% 2,650 800 2,500 1,983 4,974
Fuls 2.00 ke %k (1% 3,605 3,100 0 3,353 5,722
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Frl= 20.00 kgA+=H == 0 30,000 0 30,000 52,790
kloda=s

EldR=yCIE1D) 1.50 kgA+=} 4,000 4,000 5,000 4,333 4,000

=y I 1.50 kg’=} == 4,667 4,250 3,723 4,213 6,456
kil

10.00 kg’=} E(1+ 40,055 0 0 40,055 36,425

A =7k 9.00 kg A=Ak 2% 0 31,375 0 31,375 0

A gk 9.00 kgAH#F == 5,000 0 0 5,000 0

st 3.00 kgAH=F AH2F 15,413 11,527 13,988 13,643 12,087

Z A Bk 2.00 kgAH=k = 0 0 6,795 6,795 0

x| gk 5.00 kgAH=F E(1+= 12,398 15,577 16,670 14,882 15,637

Z A Bk 10.00 kgH=} AH2F 0 30,029 34,000 32,014 0

st 5.00 kgAH=F E(1+= 12,544 12,167 0 12,355 7,827

= 10.00 kg”H=F M2+ 28,232 16,837 21,860 22,309 25,498

3.00 kgAH=F 950+ 3,000 0 0 3,000 0

A =7k 3.00 kgAHAF A2F 21,308 16,638 0 18,973 15,162

A 7L 5.00 kgAH=F E(1+= 17,911 12,885 0 15,398 15,962

A =7k 10.00 kg =} A2F 41,547 50,329 56,241 49,372 39,029

2 %] gk 1.00 kgAH=F 51+ 0 4,750 0 4,750 0

F =] gk 1.50 kg =} 50+ 0 4,000 0 4,000 0

Z A Bk 3.00 kgAH=k AH 2= 13,631 12,400 0 13,016 0

A 8k 10.00 kg’=} 51+ 37,460 0 17,526 27,493 0

sl 9.00 kgX+=}F A2F 0 14,629 0 14,629 1,000

3.00 kgAH=F 51+ 16,290 16,358 0 16,324 13,912

5.00 kgAHAt 25 0 0 12,932 12,932 15,833

9.00 kgAH=F 51+ 44,734 44,200 0 44,467 34,923

F ) gk 5.00 kg+=}F A2F 0 15,167 0 15,167 0

F1 2] gk 9.00 kgA=+ 5(1% 34,431 0 0 34,431 0

sl 10.00 kg’A}+ 51+ 27,775 23,747 27,639 26,387 26,973

A 7L 9.00 kgA=+ 5(1% 39,672 48,551 28,851 39,025 39,335

sl 5.00 kg+=}F A2F 0 11,193 0 11,193 0

5.00 kgA=+ 5(1% 0 24,385 0 24,385 20,925

A 7L 3.00 kgAH=F 51+ 18,449 15,647 16,842 16,980 13,837

A =7k 5.00 kg+=}F A2F 24,597 0 0 24,597 20,732

A gk 3.00 kgAH=F 51+ 0 11,023 10,095 10,559 10,982

shobs 92.00 kgAH#F 51+ 0 22,619 0 22,619 0

A 7L 10.00 kg =} 51+ 49,903 48,371 49,536 49,270 39,339

F ) gk 0.80 kgAH#F 51+ 5,085 4,940 4,240 4,755 0

ok 3.00 kgAH=H 51+ 13,044 12,693 0 12,869 10,132

skl 5 9.00 kgAH#F 51+ 25,015 22,566 0 23,790 22,434
U‘J—_ﬂ

(L) 1.00 kgAH=F 1+ 0 8,000 8,000 8,000 8,000

W (4=<]) 5.00 kgAH#F A 2F 37,688 32,391 38,300 36,126 34,786

(L) 4.00 kg A=k AH2% 0 15,667 15,833 15,750 8,528
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g % 34 A4

u}31(91 ) 5.00 kg2t 0 1,000 0 1,000 1,000

u} 31(Q1 ) 5.00 kg4 (1% 37,063 38,218 35.794 37,025 32,674

of Z 51 5.00 kg4t A% 0 37,181 0 37,181 0

u}31(91 ) 4.00 kg7 95 (% 0 550 5,000 2775 5,200

m}31(Q1 ) 4.00 kg A2 E(1% 22,000 33,000 37,294 30,765 20,079

u}31(91 ) 5.00 ke 37} 95(% 16,667 8,750 10,000 11,806 15,000

m}31(Q1 ) 5.00 kg4t AH2E 23,626 16,726 21,241 20,531 24,331

of Z} 31 4.00 kg2t A% 0 0 24,000 24,000 18,781
"3l AE

mra B () 5.00 ke AR =% 0 0 84,683 84,683 0
o) 9] o

] 9] 9] 0.40 kg2 (1% 0 2,000 0 2,000 0

] 9]0 0.50 kg2t =1% 0 3,500 2,000 2,750 0

] 9] 9] 3.50 kg4t E(1% 23,000 15,313 13,683 17,332 0

] 9]0 4.00 kg7t E(1% 27465 16,836 13,436 19,246 26,661

™ 9] 9] 5.00 kg4 =15 36,133 26,023 11,736 24,631 10,000

4.00 kg2t A% 26,932 17,340 13,358 19,210 37,263

) 9] 9] 1.00 ke A=+ =% 0 6,000 0 6,000 8,000

] 9]0 1.20 ke A2 =1% 0 3,000 0 3,000 0

) 9] 9] 1.50 ke A+ =% 1,500 0 4,300 2,900 0

] 9] 9] 4.20 kg A4} =% 0 19,950 0 19,950 0

v 9 o 2.00 ke¥t A% 0 0 8,070 8,070 0

4.00 kgH 937 AH2E 13,000 19,500 8,000 13,500 10,000

] 9] 9 0.80 kg3 2} =01% 0 0 3,200 3,200 8,000

] 9] 9 1.70 ke A2 =1% 0 5,850 0 5,850 0

] 9] 9 3.00 kg2t E1% 22,500 20,305 12,961 18,589 26,000

] 9] 9 3.20 ka2t =% 0 3,000 0 3,000 0

™ 9] 9) 4.00 kePE E(1% 23,333 15,455 12,716 17,168 0

] 9] 9 5.00 ket %] =01% 0 19,000 0 19,000 0

™ 9] 9) 8.00 kg 32} E(1% 30,000 0 0 30,000 0

A e] 9o 4.00 ka2t E(1% 19,000 18,000 19,500 18,833 13,000

4.00 kg3 7} E(1% 12,854 14,157 11,900 12,970 14,786

8.00 kg2t =01% 0 0 9,833 9,833 0

] 9] 9 2.60 ka2t =01% 0 13,000 0 13,000 0

] 9]0 3.70 ke 2} =1% 0 927,750 0 27,750 0

] 9] 9 3.80 kg7 1% 17,000 0 0 17,000 0

2.00 ket Y57 2% 10,000 7,000 8,000 8,333 16,396

5.00 kg4 A% 0 15,000 12,500 13,750 45,000

o o U= 4.00 kg A4} E(1% 14,250 0 0 14,250 17,893

] 9] 9 2.00 kg7 =(1% 18,614 10,190 5,833 11,546 15,688

™ 9] 9] 2.00 kgPET] E1% 12,250 6,667 3,500 7472 14,131

] 9] 9 2.30 kg7 =01% 0 3,000 6,600 4,800 0

™ 9] 9] 2.50 kg3 4} E(1% 24,000 9,000 0 16,500 0

] 9] 9 5.50 ket Y 5] =01% 0 12,000 0 12,000 0

] 9] 9 2.00 kgl Y 5] =1% 10,009 7,667 6,595 8,090 14,498
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w9l 4.50 kgA=k (1= 0 14,133 7,000 10,567 0

w9l o) 6.00 kePEH =15 0 0 8,000 8,000 0

] el 1.00 kePE™] S0+ 0 1,000 0 1,000 0

W glel 3.00 kgHl < H5-A| == 20,000 7,500 7,000 11,500 0

] el 4.00 kghRId5-A] S0+ 20,000 17,550 8,286 15,279 0

Hglel 6.00 kg A+ == 55,000 23,000 13,750 30,583 0

A 9 o 5.00 kgAH=k S0+ 0 0 14,000 14,000 0

2.00 kgAH=F AH2F 0 8,000 3,000 5,500 14,500

w9l o) 3.00 kgPEH 50+ 23,000 9,667 7,500 13,389 0

Hgjel 4.00 kgAH=F AH2F 15,000 11,000 7,000 11,000 0

A 4.00 kg Ak A2F 12,000 12,000 13,571 12,524 0

Hgjel 4.30 kgAH=F E(1+= 25,800 0 0 25,800 0

9] o) 4.70 kg A A} 50+ 29,380 0 0 29,380 41,130

el 4.80 kgA=k (1= 0 0 14,000 14,000 0

Hglel 5.50 kgA=H (1= 0 6,900 0 6,900 0
=

7.00 kgAH=F 515 0 0 27,866 277,866 19,143

8.00 kgAr=k = 0 0 5,000 5,000 0

2.50 kgAH=F E(1+= 16,094 0 0 16,094 0

Y EA 8.00 kg A=t E1% 0 0 24,260 24,260 17,463

sk 5.00 kg A=} (1= 0 0 22,000 22,000 0

4 3.00 kg2 (1% 0 0 20,000 20,000 0

8.00 kg =} E(1% 0 0 22,563 22,563 20,500

HIEA 8.00 kg A=k 2H2% 0 0 22,500 22,500 18,765

}utobA| 2.00 kg+=F 5= 10,672 10,809 9,287 10,256 9,238

s} utobA| 5.00 kgAH=F 51+ 0 22,614 0 22,614 0

}utobA| 10.00 kg 3=} A2F 23,694 25,000 16,000 21,565 25,188

s} utobA| 10.00 kg’d-=} 5(1% 41,909 37,524 31,565 36,999 35,968
Uﬂ =1}

g 2.00 kgA =+ 5(1% 0 0 2,500 2,500 0
=

AdEHo|1S 1.00 kg’ 3=} (1% 9,000 0 0 9,000 9,000

1.00 kgAH=F 51+ 0 0 17,000 17,000 13,000

1.50 kg 3=} (1% 0 70,000 0 70,000 70,000

10.00 kg’3=} S+ 170,00 0 0 170,000 0

0.50 kgAH=F 51+ 0 0 8,500 8,500 0

20.00 kgA+=+ 51+ 8,031 7,527 10,195 8,584 8,414

Fagol 1.00 kg A} 51+ 0 0 9,400 9,400 33,200

ke o] 10.00 kg’3=} S+ 34,000 34,000 0 34,000 34,000

A F 18.00 kePEH 51+ 26,000 26,000 26,056 26,019 25,471

A A5 20.00 kg+=} 2H2= 8,385 7,301 10,430 8,705 8,856

A A5 20.00 kgrl 9 &5-A A 2F 7,207 6,522 6,952 6,894 6,651
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ke ol 16.00 ke A2 E(1% 43,800 43,667 43500 43,656 43,733
R 20.00 kg 2+ e 0 0 7,848 7,848 0
20.00 kgPEH =015 5,165 5,534 0 5349 6,592
ke o] 2.00 ke A2} =01% 7,000 0 52.000 29,500 10,087
ke o] 4.00 kg =(1% 33,200 33,200 33.200 33,200 15,567
20.00 ke T2l E =% 0 0 12,700 12,700 0

TATC
g(oluh) 0.06 kg2 =% 0 350 350 350 350
Tg(91uh) 0.16 ka2t 797 722 769 763 732
RO 0.50 kg2 5,000 0 5,000 5,000 0
Tg(1uh) 0.50 kg2 =15 0 5,000 0 5000 2,650
Tg(aluh) 0.06 ke 2 350 350 350 350 350
Tg(aluh) 0.16 ke A2 =1% 500 800 650 650 760
Tg(aluh) 0.05 kg2 300 300 300 300 300
Tg(aluh) 0.05 kg2 =01% 0 300 0 300 300

FE2

ARz} 4.00 kg2 =% 0 2,000 0 2,000 0

LR
AT 1.00 ke Akt 2,000 2,000 2,000 2000 2,000
AT 1.00 ke 2+ =% 0 2,000 2,000 2,000 2,000
AT 1.00 ke Ak=t 1% 17,000 17,000 0 17,000 17,000
ARA 10.00 ke A2 =% 19,822 18,287 18,149 18,752 18,161
AT 4.00 kg =% 7,367 6,975 8,620 7654 6,158
A%H 2.00 kg7 =E1% 11,500 11,500 0 11,500 11,500
AT 5.00 ke (1% 10,500 10,500 0 10,500 10,500

IR
=]} 2.00 kePEU =01% 0 8,167 0 8,167 6,333
S0} 2.50 kel d %27 =01% 0 4,500 0 4,500 0
=]} 3.00 ke =E1% 17,125 10,083 10,500 12,569 21,875
S0} 3.50 ke =01% 0 18,500 10,000 14,250 0
=]} 5.00 ke A2 E(1% 18,450 16,000 12,468 15,639 43,959
S0} 5.00 kePE) =% 0 0 17,139 17,139 14,000
mue](Qe)  4.00 kel d %A (1% 38,000 5,170 0 21,585 17,600
4.00 kel 7] =01% 8,333 5,000 0 6,667 30,925
Zu]}g] 0.30 kg2 A% 1,700 1,450 0 1,575 1,583
S]] 1.80 ke sk =% 0 4,950 0 4,950 0
Zu]}g] 3.00 kg2t e 0 0 14,000 14,000 0
S]] 4.00 kg2 HE(3 0 3,000 0 3,000 0
S]] 5.40 kel d %27 =% 0 0 95.000 25,000 0
mlubEl (29 0.30 ket =015 0 1,050 0 1,050 1,433
vkl () 3.00 ke AR =% 0 0 12,500 12,500 19,200
3.00 ke =1% 0 20,000 0 20,000 0
vlubEl (9 4.00 kePEU) =01% 0 0 6,000 6,000 9,000
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20.00 kg1 & E(l= 0 0 16,000 16,000 0
=] 3.60 kg XA} =0 0 0 15,000 15,000 0
Eni}g 4.00 kgl E-#] AH2% 0 6,085 5,738 5,912 18,308
w2 (dwt) 4.00 kgAFAF E(1= 23,739 7,824 7,766 13,110 21,768
Eni}g 0.50 kgl &% E(l+ 0 0 1,500 1,500 0
Eu|}] 0.50 kgAFA}k AH2% 0 0 1,200 1,200 0
Zu|uhg 2.00 kePEH AH 2% 0 0 4,000 4,000 0
Eu|}] 4.00 kePEH HE(3 0 0 18,000 18,000 0
=] 4.00 kePEH =0 20,106 12,850 17,042 16,666 15,107
Eu|}g 5.00 kgv]l d E-%] E(1= 0 0 15,000 15,000 0
=] 5.00 kg XA} 2% 25,000 31,417 18,750 25,056 0
vl v (dut) 0.50 kg% 2,333 2,000 1,500 1,944 2,000
WU () 10,00 ke A == 0 0 22000 22000 30,000
4.00 kgt E(1= 9,420 6,400 0 7,910 12,520
4.00 kgAFAF AH2% 0 0 7,000 7,000 0
Enli}g 0.30 kgHl I E-# E(l+ 1,500 0 1,300 1,400 0
Eu|}g 0.50 kg E(1= 0 0 1,300 1,300 0
Enli}g 0.30 kg%t E(l+ 0 1,200 0 1,200 1,479
Eu|}g 2.00 kePEH] HE(3 0 0 9,000 9,000 0
Zu|u}g 3.00 kePEH E(1=% 15,000 9,750 7,000 10,583 15,000
Zu|}g 4.00 kePEH AH2% 0 0 8,500 8,500 0
= 4.50 kgAFAF 2% 0 8,000 0 8,000 0
2.00 kg =} E(1% 0 8,000 0 8,000 15,000
4.00 kgAHAF E(l= 7,000 10,993 10,000 9,331 22,118
=10 2.00 kg =} 2% 0 5,000 0 5,000 0
=1 2.40 kgA=}F E(l= 0 0 16,000 16,000 0
=1 3.70 kg A=} E(l= 0 14,750 0 14,750 0
Eu|}g 3.80 kg XA} E(1= 0 11,600 0 11,600 0
=1 4.00 kg XA+ 2% 15,464 12,155 9,221 12,280 16,967
Zu|ug 5.50 kg XA} E(1% 0 12,000 7,000 9,500 0
aly-2] (L Hh) 0.20 kg%t E(l= 0 2,500 0 2,500 0
Zu|}g 1.00 kg Ak E(1=% 4,125 0 0 4,125 0
=1 2.00 kgv| d &-%] E(l= 0 0 10,000 10,000 15,000
=10 2.80 kgv| dE-A E(1%5 0 7,700 0 7,700 0
=1 3.40 kg A=} E(l= 0 6,000 0 6,000 0
=10 4.00 kePEH = 0 0 12,000 12,000 0
aly2] (A Hh) 6.00 kg A=} E(l= 20,000 0 0 20,000 0
=] 2.00 kg A} =0 9,861 8,583 10,000 9,481 9,000
ZEn} g 2.50 kg A=} E(l+ 0 25,000 13,000 19,000 0
=1 4.00 kgvl 9 E-A E(l= 13,675 9,435 8,900 10,670 12,220
Zu|uhg 4.00 kgAFAF E(l1= 13,713 9,886 8,824 10,807 17,297
Eu|} 6.00 kg A=} E(l= 23,333 11,000 0 17,167 33,750
ZEn} g 8.00 kg A=} E(1+ 0 16,000 0 16,000 0
o] (dHh) 0.50 kg%t E(l= 0 1,400 0 1,400 1,938
o] (dHh) 1.00 kg% 0 2,000 0 2,000 0
aly-2] (L Hh) 2.00 kg A=A} E(l= 15,000 5,000 0 10,000 16,000
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m)uhel (214 5.00 kgAH=t E(1% 0 28,000 6,000 17,000 0
m] o}
o 4.00 kgAF=t = 2,912 2,770 3,000 2,894 3,841
o 30.00 kgPPth E(% 10,000 0 0 10,000 16,333
u] (& uh) 4.00 kg2t E(l% 2,500 0 0 2,500 3,475
%77 0.30 kg A2+ 700 0 0 700 0
% 7)1 ¢ 4.00 kg 2+ 4,000 0 0 4,000 0
Z7]7) 4.00 kg2t E(1% 3,191 2,283 7,000 4,158 3,763
7)1 ¢ 6.00 kg =+ E(1% 8,000 8,000 0 8,000 8,000
%77 9.00 kg2t E(1%E 16,667 16,722 17,000 16,796 16,662
B o 4.00 kg2 E(l% 3,120 3,536 2,500 3,052 3,711
Z 7)1 < 1.00 kg 2=} 0 1,500 0 1,500 0
%77 1.00 kg A=} E(1%E 0 2,000 0 2,000 1,500
En) o 50.00 kgPPtH E(l% 0 15,000 0 15,000 0
ERa e 4.00 kg2t E(1%E 3,605 2,780 2,500 2,962 3,910
ERs 50.00 kg =k E(l% 0 18,000 0 18,000 35,000
%77 7.00 kgAF=t E(1% 12,332 10,929 10,000 11,087 11,078
Z 7)1 ¢ 8.00 kg =k E(l% 10,827 11,224 0 11,025 11,010
ERa e 50.00 kg 1=+ E(% 0 14,500 0 14,500 0
7)1 ¢ 5.50 kg A=k E(1% 0 8,000 8,000 8,000 0
o 30.00 kg7 €} AHo% 6,500 0 0 6,500 16,201
B o 50.00 kg7 E} 2H2% 0 7,500 0 7,500 10,000
2 40.00 kgH I %] E(l% 0 13,000 0 13,000 0
%71 7.00 kg A} 14,000 0 0 14,000 0
% 7)1 ¢ 7.50 kg A=k E(l% 0 11,000 11,000 11,000 0
%71 12.00 kg2 E(1% 22,000 22,000 22,000 22,000 22,500
HCE IS
n A HGE(Y 4.00 ke A 0 8,500 0 8,500 0
nGHUE(Y  4.00 ket E(1% 8,800 9,557 8,469 8,942 23,833
=
w1 S () 3.00 kgAF=t E(l% 13,313 6,500 7,500 9,104 14,444
SRS (O 3.00 kePET E(l% 15,000 7,889 12,000 11,630 8,000
w57l (24 3.20 kgAF =t E(1%E 0 14,000 0 14,000 0
=7 () 5.00 kePET E(l% 17,000 0 15,000 16,000 9,250
w Sl (2 1.00 kgHl d &= 2% 3,000 0 0 3,000 0
S () 2.00 kgH]H -~ E(1% 5,625 5,250 7,000 5,958 15,000
w52 (L wh) 2.00 kg =+ E(l% 5,625 6,145 6,083 5,951 11,640
w57 (24 5.00 kgH] &= E(1% 12,834 12,500 0 12,667 35,000
w52 (L wh) 5.00 kg A} E(l% 17,200 17,000 20,250 18,150 23,500
w57 (24 3.00 kgH] -~ E(1% 11,000 0 0 11,000 0
w52 (L wh) 3.80 kg A} E(l% 0 17,000 0 17,000 0
w1 S (214 2.80 kgAF =t E(1%E 14,000 0 0 14,000 0
S () 1.00 kgHl 9 24 E(1% 3,000 0 0 3,000 0
w1 S (214 5.00 kgAF=t AH2% 0 12,750 0 12,750 0
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WS 1.50 kedbat == 0 0 2000 2,000 0
WEH (G 2.00 kg XA} A% 8,563 6,826 6,071 7,154 11,713
SR (1010 2.50 kgH|dE-A] =0 0 3,000 0 3,000 0
mEg (L) 3.50 kg XA} E(1= 11,250 0 0 11,250 0
SR (1010 4.00 kgAFAF E(1=% 17,240 10,180 12,000 13,140 33,109
W= (At 2.00 kgH]l dE-%] AH2% 5,000 0 0 5,000 0
SR (1010 2.00 kePEH E(1=% 6,500 7,000 3,500 5,667 7,000
W= (At 4.00 kegvl dE-A AH2% 22,000 0 6,000 14,000 0
WEH (G 4.00 kePEH =0 17,700 14,930 14,244 15,625 11,667
=g (L) 4.00 kel E-A E(1= 13,700 14,767 11,500 13,322 28,500
WEH (G 8.00 kgH| dE-X] E(l+ 23,500 20,000 0 21,750 0
=g (L) 4.00 kgAFAF AH2% 18,908 10,001 8,134 12,347 26,539
TS (At 4.50 kgAFAF E(l= 17,000 0 0 17,000 0
=g (L) 6.00 kg A} E(1= 13,834 0 0 13,834 0
=g (L) 6.00 kePEH E(1= 8,500 0 0 8,500 0
vl (=9 13.00 kgAFA} == 14,000 14,619 15,917 14,845 14,046
EIREABIESSIp) 13.00 kgAFAk E(1=% 29,359 28,820 28,679 28,952 27,900
vl (=9 13.00 kgAFA} AH2% 29,327 28,992 26,864 28,394 26,017
v () 10.00 kgAFH}; 2% 0 0 28,000 28,000 24,500
1.00 kg Ak E(1=% 1,800 0 0 1,800 0
0.17 kgAHA}k E(l= 0 0 3,800 3,800 0
180.00 gPPt E(1= 0 0 2,500 2,500 0
HH(ddh) 0.20 kg XA} E(l= 0 0 3,200 3,200 0
HH(d k) 10.00 kePPH E(1= 17,000 13,000 0 15,000 20,365
=3 1.00 kg1 &7} E(l= 0 0 4,300 4,300 0
"9}
B 4.00 kgAHAk =(3 0 0 15,500 15,500 0
HeEnE 5.00 kg2 E(ls 0 10,000 0 10,000 15,875
o k-2 2.00 kg A} IPR= 12,280 8,688 8,459 9,809 12,336
B 3.00 kgA+=} 0 0 11,000 11,000 0
o =uk2- 3.00 kg A=A} E(1= 16,356 11,270 13,001 13,542 17,677
B 4.00 kg XA} E(l= 18,542 13,483 16,340 16,122 21,981
o =18 5.00 kg A=} A% 0 14,246 30,774 22,510 32,000
o =1k 0.75 kgAFAk E(l= 0 4,000 0 4,000 3,700
==y 1.00 kePPH =0 0 0 11,071 11,071 0
HeEnE 4.00 kg A2k AH2% 0 26,800 0 26,800 0
Zo|EvlE 3.00 kgA+=} =0 17,000 15,594 14,474 15,689 0
o =1k 1.00 kgAFAk AH2% 0 6,647 0 6,647 0
=l =y 2.00 kg XA} = 0 0 7,000 7,000 0
o 18 3.00 kg XA} 95 (= 0 5,667 0 5,667 0
o =1k 4.00 kgAFAF = 0 0 13,000 13,000 0
=4k 4.00 kgAFAF AH2% 21,394 13,849 16,084 17,109 20,558
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EESHES 5.00 kg2t =% 26,977 21,961 24,636 24524 24,855
SESHES 2.00 kg2t HE(3 0 0 9,000 9,000 0
= ESHE 2.00 kg4t E(1E 12,134 8,417 9,584 10,045 12,425
EESHES 3.00 kg7t 2% 13,755 10,500 13,837 12,697 16,096
WMo B E 200 kAR 2% 11,731 9,968 10,054 10,584 11,404
EESHES 5.00 ke 37} WE(3 0 0 25,850 25,850 26,667
e ENLE (.75 kedb R 1% 4,200 3,354 3,250 3,601 3,700
oENE 500 kedAt AH2E 20,902 13,241 13,528 15,890 18,981
SESHES 1.00 ke A2+ = 0 0 3,000 3,000 0
= ESHE 1.00 ke A= =1% 3,120 2,821 2,700 2,880 3,000
EESHES 3.00 kg4 = 0 0 11,250 11,250 9,600
= ESHE 3.00 kg2t WE(3 0 0 12,503 12,503 12,122
EESHES 5.00 kg4 = 0 0 16,000 16,000 21,000
HEE U E
HEEUE(IEE) 2,00 ket =1% 5,782 3,877 2,615 4,091 7,500
HREUE(AEY 4,00 ke E(1% 11,851 7,119 6,110 8,360 21,526
HEEUE (DY 1.00 ket =1% 0 3,000 4,231 3,616 0
HREUE(EY 10,00 ke kAt =% 0 7,000 0 7,000 52,500
HEEUE (DY 8.00 ke At =1% 0 3,733 0 3,733 9,000
HFEUE(AEh 2,00 ked Y EA =% 5,965 2,851 0 4,408 9,684
HEEUE (DY 2.00 ket 5,667 6,000 0 5833 8,000
HEEUE (Y 2.00 ke =% 4,840 2,871 2,586 3,432 9,579
HFEUE(DEY 2,00 kePET) =% 0 0 2,000 2,000 0
HEEUE(AEY 4,00 ke 2% 10,015 10,353 6,840 9,069 20,577
HEEUE (Y 2.00 ke A A% 5,379 3,473 2,549 3,800 10,301
AT 15.00 kg4 = 0 20,000 0 20,000 0
A5 15.00 kg3 2} = 28,000 921,914 926,252 925,388 20,900
A 15.00 kg4 2% 31,655 31,344 36,928 33,309 31,701
A5 1.60 ke A=} 1% 0 0 5,500 5,500 0
251 15.00 kg4 E1% 40,755 38,311 37,369 38,812 39,781
Hjj 5=
10.00 kg1 =1} =1% 0 5,500 0 5500 5,667
) 8.00 kg 34} 20,000 15,000 0 17,500 16,000
10.00 kg2 1% 0 5,300 6,500 5,900 0
) 2 4.00 kg7 AH2E 13,000 0 9,500 11,250 0
bl 2 8.00 kg 121} 1% 0 14,000 0 14,000 0
) 9.00 kg7 AH2E 18,000 13,500 0 15,750 16,500
8.00 kg4t =% 0 5,890 6,178 6,034 0
) 8.00 kg3 7} 2% 13,255 13,669 11,807 12,910 13,351
| 2 10.00 kg d 2} E(1% 26,500 20,520 15,877 20,966 20,563
] = 12.00 kg4t =1% 0 92,000 0 22,000 20,167
10.00 kg2t A% 0 5,980 7,500 6,740 0
] = 2.00 ke¥t =1% 0 0 918 918 0
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AEu]F 10.00 kg1 & E(l= 7,932 8,550 8,423 8,302 7,111
A 3= 4.00 kgAFAF =0 10,750 0 10,667 10,708 11,800
ol 10.00 kg1 &} AH2% 0 0 6,943 6,943 0
A el 3= 10.00 kg1 & AH2% 7,573 8,160 8,274 8,003 7,299
Al 8.00 kg A=} HE(3 0 15,000 0 15,000 9,929
A-f = 8.00 kg A} E(1= 18,214 18,616 16,324 17,718 19,476
Auf = 10.00 kgAF=} AH 2% 0 0 14,000 14,000 15,300
nz
QbR S 0.50 kgAFAF E(1=% 0 1,550 1,300 1,425 0
JurR > 5.00 kg XA} E(1= 0 8,000 0 8,000 0
QbR 2= 0.50 kg%t 2% 2,269 2,392 1,568 2,076 2,109
Iy 5.00 kg% AH 2% 0 1,700 0 1,700 0
o oFR = 0.20 kg%t 2,333 1,100 2,800 2,078 2,500
ojoFR = 0.20 kg%t E(l+ 3,000 1,500 888 1,796 2,208
JurR > 0.60 kg%t E(1= 0 0 1,700 1,700 0
ook > 0.50 kg%t 2,975 1,625 1,567 2,056 3,020
JurR > 0.80 kg%t 2,150 2,650 1,500 2,100 2,133
Iy 3.00 kg A=}k E(l+ 2,000 0 0 2,000 0
JutR > 4.00 kgl E-A AH2% 0 0 5,167 5,167 0
QbR S 5.00 kgH| dE-X] E(l= 0 7,556 0 7,556 0
JutR > 0.50 kg% 2,250 1,788 2,288 2,108 2,017
QbR 2= 0.50 kg%t E(l= 2,668 2,148 1,366 2,061 2,309
AuFR == 5.00 ket E(1%5 0 2,200 1,200 1,700 0
o oFR = 2.00 kg A} E(1= 0 2,500 0 2,500 0
QU2 0.80 kg%t E(l= 3,000 0 0 3,000 2,500
JurR > 5.00 kg XA} AH2% 5,000 0 0 5,000 0
o Ut H-F 4.00 kePEH E(l= 0 6,000 0 6,000 0
JurR > 4.00 kgAFAF AH2% 5,000 0 5,500 5,250 0
o Ut H-F 2.00 kgv| d B-%] E(l= 9,125 7,500 6,700 7,775 0
AuFR == 1.00 ket E(1% 2,600 0 0 2,600 0
QU2 4.00 kgvl d E-A E(l= 0 6,000 3,667 4,833 0
AdFR == 4.00 kg A} E(1% 4,500 7,200 5,667 5,789 0
QU2 5.00 kghv] d &-%] 2% 0 6,000 0 6,000 0
B2 3%
BZFZ(IEH)  10.00 kgdAF E(1= 0 0 19,000 19,000 0
HZFE(dyh) 8.00 kg A=A} AH2% 25,563 23,403 21,782 23,582 19,987
B ZFE(d9h) 8.00 kg A A} 9=(=% 14,167 0 0 14,167 0
HZFE(dyh) 8.00 kg A} E(l= 22,877 19,914 19,276 20,689 18,394
A=l 8.00 kg A A} E(l1= 21,625 20,594 18,250 20,156 20,700
EENE
EFd (LA 1.00 kg XA}k == 34,066 31,394 32,104 32,521 0
B2 g (L) 1.00 kgAFAF 9=(=% 0 5,000 0 5,000 0
B2 2(dwh) 1.00 kgAFAk AH2% 32,000 24,227 27,121 27,783 0
B2 (duh)  11.00 kgAFHA}F E(1= 46,000 0 0 46,000 0
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=F9E (G 1.00 kg’=} AH2F 0 20,000 25,000 22,500 0
3 (g 0.90 kgAH=F =55 0 0 20,000 20,000 0
EFd (5= 1.00 kgA+=} S0+ 0 38,000 30,000 34,000 0
=FdE(dyh 1.00 kg’+=} HE(3 0 22,000 0 22,000 0

HlE
B &Y & 0.50 kg%t == 400 350 337 362 0
H| S HE 4.00 kg AF =5 12,593 7,428 7,619 9,213 15,000
4.00 kgAH#F 11,667 7,667 5,400 8,244 14,333
4.00 kg’ A} (1% 10,500 6,477 5,981 7,653 10,750
4.00 kgHl d&-A] E(1+= 0 3,000 0 3,000 0
H S Y= 0.50 kgt A2F 525 574 437 512 0
H S U= 0.30 kg%t = 1,200 0 0 1,200 0
v S U 4.00 kgHl & 51+ 11,905 9,617 9,947 10,489 12,000
H S U= 4.00 kg =} A 2F 9,000 7,938 6,581 7,840 11,520
0.20 kg%t 51+ 550 486 396 477 0
0.20 kg =} = 0 0 500 500 0
0.50 kg%t E(1+= 400 0 318 359 0
2.00 kgAF=k = 0 0 6,000 6,000 0
HEYUE 0.20 kg%t E(1+= 508 400 200 369 0

HEFTI
R EPT (L W) 2.00 kgAr=k AH2F 6,375 5,063 4,200 5,213 5,480
Rl EFTI (L W) 2.00 kgAH=F 7,400 5,000 4,333 5,578 7,000
HIEFT (L W) 2.00 kg+=F 5= 6,488 4,089 3,705 4,761 5,271
Rl EFTI (L W) 1.00 kgAH=F 0 0 5,000 5,000 0

H E (5

H] E (L) 10.00 kg’d-=} 2T 13,500 8,000 15,963 12,488 8,662
H] E(duh) 10.00 kg&t 5= 0 0 4,500 4,500 0
R E(LHh) 10.00 kg’ =} 15,000 15,000 14,500 14,833 12,000
H] E(duh) 10.00 kg’A}+ 5= 8,188 7,688 8,248 8,041 9,459

LIRS
W~ (dwh) 20.00 kgA+=H 51+ 0 25,000 0 25,000 0

A} 2k
10.00 kg’d-=} 95 (% 9,000 9,000 0 9,000 12,929
10.00 kg 3=} A2F 11,959 11,796 11,963 11,906 9,528
v Al m} 10.00 kg’ =} S+ 25,300 24,563 20,948 23,604 26,596
ey 10.00 kg’3=} S+ 20,007 20,509 19,653 20,056 21,010
10.00 kg 3=} HE(3 0 0 6,800 6,800 8,000
2 FH A} 10.00 kg =} S+ 15,036 19,136 0 17,086 20,975
10.00 kg 3=} 0 0 13,467 13,467 0
10.00 kg =} 51+ 18,862 16,378 19,967 18,402 19,028
v Al mf 10.00 kg 3=} HE(3 11,800 34,022 0 22,911 0
w) Al m} 10.00 kg =} 2% 23,009 26,029 19,297 22,778 21,421
Ry 10.00 kg 3=} 95 (= 12,667 0 0 12,667 0
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3% 15.00 kgAF A} E(l= 0 0 13,500 13,500 11,214
Ry 5.00 kg XA} =0 10,592 0 0 10,592 0
oA 10.00 kgAF=} AH2% 11,953 13,220 14,172 13,115 13,593
3% 15.00 kg A+ A} AH2% 0 24,500 0 24,500 0
H] okmf 10.00 kgAF=} AH 2% 21,719 21,135 19,764 20,873 22,470
wl otu} 15.00 kgAFA} AH2% 24,764 22,570 19,144 22,159 25,213
&4 9.00 kgA+=}F =0 0 0 15,508 15,508 12,616
wl otu} 10.00 kgAF A} E(l= 22,236 19,101 15,487 18,941 20,504
6.00 kg XA} =0 0 20,000 0 20,000 0
w] Al \} 10.00 kgAFA} 10,000 10,667 0 10,333 12,000
Ry 10.00 kgAFH A}t 9,354 9,245 9,261 9,286 7,422

e
AR E- (L1t 1.00 kgAFAF E(1= 0 0 14,217 14,217 0
ARUHE-(L 1) 2.00 kg A=} E(l+ 0 19,000 21,200 20,100 0
AR E- (L Ht) 5.00 kePEH E(1= 0 0 54,000 54,000 0

Aot
Abul s (L ut) 1.00 kg% E(1= 19,000 0 11,360 15,180 0
Al (L dh) 1.00 kgAF =}k 0 8,000 5,934 6,967 0
AabE (L yh) 1.00 kgAFAF E(1= 18,167 14,929 12,681 15,259 0
Al (L dh) 5.00 kgH| dE-X] E(l= 0 0 54,750 54,750 0
AabE(Lyh) 2.00 kg A=} 17,250 0 13,000 15,125 0
Abul s (L ut) 2.00 kg XAk E(1=% 12,000 22,500 25,000 19,833 12,000
AbnbE(LHh) 1.00 kg A=} 2% 0 14,100 0 14,100 0

243

A (D) 1.00 kgAFAk 5,000 0 5,000 5,000 5,000
AR (L HH) 10.00 kgAF =} E(1% 130,00 70,000 70,000 90,000 70,000
A (D) 4.00 kg XA} 2% 0 25,000 0 25,000 0

Ay
ESPAES 4.00 kg =1 0 0 3417 3,417 8,750
> 3Z 7] 4.00 kg XA} E(l= 10,001 8,968 5,756 8,242 6,378
XEZ 4.00 kgAFAF AH2% 9,618 10,130 6,327 8,691 8,919
A 3L 7] 4.00 kgvl E-A E(l= 3,000 0 0 3,000 0
4.00 kgHld &% E(1% 0 4,000 4,667 4,333 4,220
LA A 4.00 kg A2k AH2% 16,942 9,493 8,787 11,741 10,053
ZA) 4.00 kgHld &% A% 6,250 0 0 6,250 4,613
R = 1.00 kgAFAk E(l= 0 1,000 0 1,000 0
Ak 4.00 kgAFA}F A% 16,467 8,584 7,375 10,809 9,733
2.00 kg A} E(l= 0 0 3,000 3,000 0
KAy 4.00 kgAFAF AH2% 0 10,333 9,723 10,028 8,400
2 7] 4.00 kgAFAF HE(3 0 0 3,000 3,000 0
X7Z 4.00 kgAFAF E(l= 17,112 9,695 8,657 11,821 10,324
2 Z 7] 4.00 kgAFAF E(1= 16,688 9,088 7,733 11,170 8,844
ZEA 4.00 kgAFAF E(l= 17,183 8,542 6,573 10,766 10,106



HAZE AlA AR

=894 0 2022-05-12
A=} 0 2022-04-30 Page : 33
= 23 2 53 BIAA (2)
e T 3k 14
EZ71% 4.00 kgAH#F 10,143 8,250 13,500 10,631 8,500
23 4.00 kg AF 2H2% 7,000 7,851 5,234 6,695 5,958
HE7] 4.00 kePEHH S0+ 6,000 0 0 6,000 3,477
EZ71% 4.00 kgRl H5-A] == 5,500 0 0 5,500 3,875
4.00 kg =} S0+ 13,570 8,082 6,923 9,525 8,741
A E 7] 4.00 kg’d=} 2H25 0 0 4,000 4,000 0
Al 2.00 kgAH=k S0+ 0 0 1,000 1,000 0
SR 4.00 kg’d=} == 15,919 6,828 6,055 9,601 9,520
A S

AU (L e 0.30 kg%t E(1+= 0 0 1,300 1,300 0
A& (L Eh 4.00 kg Ak A2F 6,000 6,451 4,755 5,735 9,134
A e E(L A 4.00 kg =} 10,000 5,500 4,000 6,500 7,000
AU (L) 4.00 kgAH=F 51+ 16,600 5,455 4,178 8,744 8,999
A e E(L A 2.00 kgAH=k 0 4,000 0 4,000 7,000

Al 5ol
Aol (L) 2.00 kgA=H 95 (& 3,800 3,625 3,800 3,742 3,600
A 4=o] (L) 2.00 kePEU E(1+= 4,000 4,000 0 4,000 3,860
Aol (L) 2.00 kgB-A] 95 (= 3,850 3,633 3,933 3,806 3,923
M gol (At 2.00 kgRld5-A] 95(F 0 3,733 0 3,733 0
Aol (L) 2.00 kgHl d B~ A2F 4,262 4,472 4,414 4,383 4,332
A S0l () 4.00 kg =} = 11,485 10,762 10,414 10,887 12,060
A 4=o] (L) 0.30 kg”d=} 51+ 500 0 0 500 744
Aol (L) 2.00 kg+=F H3Z(3 5,416 4,839 5,543 5,266 5,750
A 4=o] (L) 0.30 ke7M 51+ 600 633 800 678 733
Aol (L) 2.00 kg&-A H3Z(3 5,067 4,180 4,375 4,541 4,838
A 4=o] (L) 2.00 kgHl dH-A| H3E(3 3,800 3,875 0 3,838 0
Aol (L) 2.00 kg+=F A2F 6,448 5,327 6,963 6,246 6,124
Aol (PHh) 2.00 kg =+ 5(1% 7,145 6,248 7,494 6,962 6,955
Aol (L) 3.00 kgX+=}F 51+ 10,429 9,500 8,589 9,506 10,978
Aol (duh) 2.00 kgA =+ = 3,601 3,310 3,684 3,531 3,703
Aol (L) 2.00 kePEH = 4,000 0 0 4,000 0

A2
A 2D HH) 0.50 kg’d=} 3,824 3,779 3,658 3,754 3,730
A (L) 0.16 kgAH=F 8,083 7,800 8,250 8,044 8,000
A 2D HH) 0.16 kg’=} S+ 8,500 7,500 0 8,000 8,045
NEEIR]Y) 0.05 kg’ A} 737 719 721 726 669
A A (D uE) 0.05 kgAH=F =15 0 600 750 675 720
A 2D HH) 0.50 kg’dA} 51+ 3,000 3,709 3,500 3,403 3,801

A7)
A7 (L HEh) 3.00 kgAH=H S+ 0 5,000 0 5,000 0
7R 7 20.00 kg A} 515 0 0 45,000 45,000 90,000
10.00 kg =} S(1% 37,000 39,400 41,750 39,383 39,350
7R 7 10.00 kg3 51+ 45,000 0 45,000 45,000 45,000
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A DAL 20.00 kgvl 9 E-A E(l= 90,000 90,000 90,000 90,000 90,000
A 73wt 16.00 kgAFH =} =0 14,000 0 20,000 17,000 0
A7 (A 5.00 kg A=} =0 0 0 6,000 6,000 0
A 7H A EH) 10.00 kgAF A} AH2% 16,000 0 0 16,000 0
A7 () 10.00 kgAFA}k E(1=% 32,500 36,013 23,893 30,802 25,620
A 7H A EH) 12.00 kgAF A} E(1= 0 12,500 0 12,500 0
A7) 19.00 kgAFA}k E(1=% 23,000 0 0 23,000 0
A 7H A EH) 6.00 kg A=} E(l= 0 21,000 0 21,000 0
A 73wt 9.00 kg XA} =0 0 0 20,000 20,000 0
A 7FH( D) 4.00 kgAFAF E(1= 0 11,000 0 11,000 4,000
A 73 () 15.00 kgAFH 2}t E(l+ 0 15,000 0 15,000 0
MZHAE) 20,00 ke it =1% 17000 0 30000 23500 65000
a2
Al gl (dwt) 8.00 kg A=} AH 2% 19,000 0 0 19,000 0
Al g (Lt 10.00 kgAFA} E(1= 18,092 13,118 10,556 13,922 19,689
Al gl (dwt) 0.50 kg%t 1,000 0 0 1,000 0
Al g (Lt 2.00 kg XA} 8,000 0 10,000 9,000 4,500
Al 2] (dwt) 4.00 kgAFAF 8,000 0 0 8,000 0
Al g (Lt 8.00 kg A} 18,667 15,750 15,750 16,722 13,500
A g (duh) 10.00 kgAFH}; 2% 14,844 14,000 13,333 14,059 12,121
Al g (Lt 2.00 kg XA} E(1= 3,774 2,100 2,433 2,769 5,292
AelE(h)  8.00 ke A =% 0 14,000 0 14000 24,727
)
=) (2wt 4.00 kgAFAF AH2% 0 58,000 0 58,000 52,126
S (D uh) 5.00 kgA=}F E(l= 0 67,000 0 67,000 0
=) (2wt 2.00 kg XA} E(1= 0 20,000 0 20,000 0
S0 (D uh) 3.00 kgA=}F E(l= 36,000 0 0 36,000 0
A (L) 4.00 kg A} E(1%5 55,000 0 0 55,000 54,721
e}
7.00 kg A=} E(l= 0 0 13,290 13,290 0
FaH (A k) (& 4.00 kg7l E(1= 0 15,107 10,044 12,576 0
FHH AW (& 6.00 kg7 2% 0 14,750 13,732 14,241 0
Zubeluh(E 7.0 kb Q% 28,000 19.987 15580 21,192 20,553
FHH AW (& 9.00 ke 7} 2% 0 0 20,500 20,500 0
Fukdub)(ZE 10.00 kgAFAF AH2% 26,278 27,504 22,467 25,416 23,555
FEH(Auh)(EF 11.00 kgAHAk E(l= 39,883 36,065 25,696 33,881 37,395
FHHA U (EF 16.00 kgdA}F =0 0 41,833 33,782 37,808 0
Sk (EAd 14.00 kg AR E(l= 0 38,500 0 38,500 0
FEH (L W) (EF 3.00 kg 7N 4% 0 0 3,110 3,110 0
FHH(A W) (& 3.00 kg 7N AH2% 0 8,280 5,963 7,121 0
FEH (L W) (EF 9.00 kg A=} 95 (% 10,000 7,000 7,000 8,000 10,000
Jruk(dub) (& 11.00 kgAF=} 95 (= 12,000 12,000 0 12,000 10,000
k(A uh)(ZF 12.00 kgAHAk E(l= 42,134 38,737 27,951 36,274 40,088
Fuk(Adub)(E 15.00 kgAFAF E(1= 49,000 38,500 24,846 37,449 0
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GuRlEN(E 19,00 keAbAd == 0 0 35000 35000 0
e G | 7.00 kg XA} A% 0 13,000 0 13,000 0
S 4uk (XA 8.00 kg A=} AH2% 0 18,750 0 18,750 0
Sak(E A 10.00 kgAHAF 9=(= 0 10,000 0 10,000 0
Sk (EAAE 11.00 kgAHRF AH 2% 0 28,333 30,000 29,167 0
Sak(EAE" 13.00 keAHAF AH2% 0 29,375 36,500 32,938 0
U (A W) (2 2.00 ke 7H E(1=% 0 0 6,500 6,500 0
Jruk(duh) (2 4.00 kgAFAF AH2% 0 0 8,927 8,927 0
k(L Th) (& 5.00 kg7 = 0 0 5,141 5,141 0
Jruk(dub) (2 5.00 kg XA} E(1= 0 0 13,000 13,000 0
FHH A W) (& 5.00 ke E E(l+ 0 0 11,500 11,500 0
FEH( AWk (ZF 7.00 kg 7N E(1= 0 25,100 18,185 21,643 0
FHH A W) (& 8.00 kg7 E(l= 0 25,333 22,413 23,873 0
Jruk(duh) (2 8.00 kg A} AH2% 21,390 21,842 15,162 19,465 18,136
Jruk(dub) (2 12.00 kgAFA} AH2% 31,100 30,124 22,979 28,068 27,713
FEk(Adub)(EF 13.00 keH E(1=% 0 0 30,353 30,353 0
Jruk(dub) (2 13.00 kgAFA} E(1= 44,410 39,284 31,039 38,244 39,104
FEHA W (. 15.00 keAFAE AH2= 32,333 35,352 26,000 31,228 22,597
Jruk(duh) (2 18.00 kgAFA} AH2% 0 34,000 0 34,000 0
Sk (EAE 17.00 kedAE AH2= 0 38,000 0 38,000 0
ZEH( AWk (& 5.00 kg 7N E(1= 0 19,444 13,357 16,401 0
FHH A W) (& 6.00 kg XA} E(l= 18,864 17,000 13,693 16,519 16,138
FEH (A W) (ZF 7.00 kg 7N 415 0 0 6,920 6,920 0
FHH AW (& 8.00 kgA+=#} 95 (= 0 0 10,000 10,000 0
TFEH (AW (EF 9.00 kg A} 2% 25,193 25,350 18,716 23,086 22,510
k(A uh)(E 11.00 kgAHAk 2% 27,967 28,537 24 441 26,982 26,072
R (Auh)(EF 14.00 kgAHAk 2% 29,000 34,205 29,800 31,002 32,500
Fuk(dub) (& 17.00 kgAFAF E(1= 0 41,000 27,500 34,250 0
Sk (EAE 10.00 ke 2% 0 20,300 0 20,300 0
S ak(EA A 12.00 kgAF A} AH2% 0 21,000 0 21,000 0
Sk (EAE 15.00 ke XA 2% 0 34,955 38,000 36,477 0
FaH( AWk (& 3.00 kgAA} AH2% 0 0 3,000 3,000 0
FHH AW (& 6.00 kg A=}k 2% 5,400 13,072 8,161 8,877 12,000
TFEH (AW (EF 7.00 kg A} 95 (% 0 5,000 9,000 7,000 8,000
FEk(duh)(ZF 10.00 kel E(l= 0 0 27,346 27,346 0
FEH(Auh)(EF 12.00 kg7 E(1% 0 0 28,734 28,734 0
SN (E 13,00 ke Ak oS 30333 31,867 24837 20013 29621
FHH AU (ZEF 14.00 kgdA}F =0 45,714 42,479 28,411 38,368 42,755
ek (dub)(ZE 18.00 kgAFAF E(l1= 0 41,000 35,000 38,000 0
S 4uk(EAE 9.00 kgA=#} E(l= 0 25,017 17,334 21,175 0
FaH(A k) (& 4.00 ke7M AH2% 0 9,500 8,415 8,957 0
FHH(A W) (& 6.00 kg 7N 0 0 8,250 8,250 0
FaH (A uh) (& 6.00 kg 7N E(1= 0 22,319 15,406 18,862 0
FHH AW (& 7.00 kg HPE E(l= 0 0 16,500 16,500 0
FaH(A k) (& 9.00 ke 7N E(1= 0 0 24,950 24,950 0
b (duh)(EF 11.00 kel E(l= 0 0 26,920 26,920 0
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S k(& A A 6.00 kg A=} E(l= 0 13,879 0 13,879 0
Sk (EAE 11.00 kedAF =0 0 30,206 23,065 26,636 0
U (A W) (2 3.00 ke 7H E(1=% 0 10,500 6,888 8,694 0
SEH (A W) (ZF 6.00 kg A} 415 0 0 5,363 5,363 0
U (A W) (2 6.00 keI P E E(1=% 0 0 13,500 13,500 0
Jruk(duh) (2 7.00 kg A} AH2% 16,164 17,095 11,425 14,895 15,219
FEHA W (ZE 10.00 kgAFAE E(1=% 36,740 32,287 22,706 30,577 34,424
b (Adub)(EF 16.00 kgAHAF AH2% 0 35,517 34,000 34,758 0
Sk (E R - 7.00 kg XA} =0 0 19,188 0 19,188 0
S k(A A 8.00 kg A} E(1= 0 20,862 0 20,862 0
S 4k (x| A 9.00 kg XA} 2% 0 22,000 26,000 24,000 0
Sak(EA" 13.00 kgAHAF E(1= 0 32,667 26,258 29,462 0
FHH A W) (& 2.00 kg7 2% 0 0 3,532 3,532 0
FEH( AWk (ZF 4.00 ke7M 0 0 4,500 4,500 0
Jruk(dub) (2 4.00 kgAFAF E(1= 0 0 11,000 11,000 0
Sk (A uh) (& 4.00 kg HPE E(l+ 0 0 8,500 8,500 0
FEH (A k) (& 5.00 kg 7N AH2% 0 14,152 11,034 12,593 0
SuHOlH(Z 5,00 kedhAH o= 0 0 12000 12,000 0
FEH( AWk (& 7.00 ke 7N AH2% 0 0 11,535 11,535 0
Sk (A uh) (& 8.00 kg7 AH2= 0 0 12,217 12,217 0
Jruk(dub) (2 8.00 kg A} E(1= 30,686 24,017 18,959 24,554 26,590
FHH A W) (& 9.00 kg XA} E(l= 34,347 28,951 20,104 27,801 29,123
FEH (A W) (ZF 10.00 kgAF =} 95 (& 0 10,500 0 10,500 7,000
FEH(Aduh) (I 12.00 kgAHAk 95 (& 0 15,000 0 15,000 10,500
TFEH (AW (EF 17.00 kgAF =} 2% 0 34,500 34,000 34,250 0
Sk (EAd 10.00 ke A E(l= 0 27,730 18,500 23,115 0
Sk (EAd 12.00 ke A E(l= 0 32,267 25,000 28,633 0
S4ak(EAE 15.00 kgAHAF E(1= 0 35,667 28,000 31,833 0
o
0.70 kg 1% 0 23,000 24000 23,500 23,000
N
LFUE (LY 1.00 kg A} E(1%5 0 5,600 0 5,600 0
EFUE (Y 3.50 kg AA} E(1= 3,652 3,657 3,664 3,658 3,639
e
Al A (A Hh) 4.00 kgl &% E(l+ 3,788 5,651 5,139 4,859 4,042
Al 2] (I HH) 0.40 kg%t AH2% 1,085 974 1,206 1,088 870
Al F 2] (LW 4.00 kgAFA}F A% 6,820 6,810 8,405 7,345 7,608
Al 2] (D HH) 8.00 kg A=A} AH2% 15,000 0 0 15,000 27,806
Al F 2] (LW 0.30 ket =0 1,400 0 0 1,400 2,150
Al 2] (A HH) 0.50 kg%t E(l= 885 867 952 901 1,331
Al F 2] (LW 1.00 ket A% 1,116 0 0 1,116 0
Al A (D) 4.00 kgAFAF E(1= 5,290 5,530 6,229 5,683 6,963
Al =2 (L HH) 2.00 kg%t E(l= 4,600 0 0 4,600 0
Al F 2] (D Hh) 4.00 kgl dE-A AH2% 2,935 5,167 5,303 4,468 4,150
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¥38lx 0.50 kg%t 1,560 1,500 0 1,530 1,625
10.00 kg =2}k =0 20,840 0 0 20,840 0
Al 2 (A5 0.40 kg%t 0 950 1,000 975 1,000
Al 2] (A HH) 0.40 kg%t E(1= 986 990 920 965 807
Al FZ](d 5 4.00 kePEH E(1=% 4,050 4,244 5,455 4,583 4,579
Al =2 (D) 5.00 kg XA} AH2% 8,000 6,000 8,500 7,500 0
Al 2 (A5 6.00 kg A=} =0 0 8,000 5,000 6,500 0
Al 2 (D) 9.00 kgAA} E(l= 16,656 0 0 16,656 20,250
Al F 2] (LW 5.00 kgt =0 0 700 0 700 0
Al 2] (A HH) 8.00 kg A} E(1= 19,529 16,745 0 18,137 27,534
Al F2] (L W) 0.50 kg%t 0 1,000 1,000 1,000 800
Al 2] (A HH) 4.00 kgAFAF 0 0 4,000 4,000 0
Al F2] (L) 5.00 kgH| dE-X] 2% 0 0 9,000 9,000 0
Al 2] (A HH) 5.00 kePEH E(1= 0 5,300 0 5,300 5,000
Al 2] (A HH) 1.00 kg% E(1= 500 0 0 500 875
Al X (D9 5.00 kg A=} E(1=% 11,000 0 0 11,000 7,700
NgAE
Al F X ZE2H(Y 4.00 kgAFAF E(1=% 0 6,000 0 6,000 0
Al F2] 222K A 0.50 kg% E(1= 0 1,100 0 1,100 0
Az

AAZEY) 4.00 ket 225 18,333 0 0 18333 0

e
Al 5H(duh) 0.50 kg%t 0 0 1,333 1,333 0
A gk (L) 0.50 ket E(1% 0 0 925 925 0
Al 5(duh) 6.00 kg A=}k E(l+ 4,000 0 0 4,000 0
A gk (L) 0.40 ket 2% 713 976 932 873 0
AselE)  1.00 ket == 0 0 800 800 0

)
2E2) 2.00 kg XA} E(1= 13,500 11,225 10,896 11,874 11,093
A (D W) 2.00 kg A=}k E(l= 14,875 3,000 0 8,938 9,689

Wz
= 1.00 kg A=} 2% 5,375 3,800 4,100 4,425 4,046
K= 1.00 ket =(1% 0 0 15,500 15,500 0
K= 1.00 kgAFAk 5,233 3,750 3,357 4,114 6,000
K= 1.00 kg XA}k =0 7,264 5,064 4,870 5,733 5,400
= 2.00 kg AHA} E(l1= 7,500 4,000 3,600 5,033 3,333
K= 4.00 kg A2k E(l= 0 0 24,667 24,667 7,063

2

Z=(dh) 3.30 kg A=A} E(l= 0 13,200 0 13,200 0
2=(dHh 4.00 kePEH == 23,754 17,037 17,566 19,452 0
Z=(d k) 4.50 kgAFA}F E(l= 0 22,500 20,250 21,375 50,000
2=(dHh 2.00 kgv| dE-A] == 9,397 8,200 11,332 9,643 16,759
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Z=(d k) 2.50 kgH]| d E-%] E(l= 0 0 15,630 15,630 0
2:(gHh) 3.50 kg XA} =0 0 20,000 0 20,000 0
ESCIRD) 4.80 kg Ak =0 0 21,600 0 21,600 0
2=(2duh) 5.00 kgH]l 9 E-%] E(1= 16,000 0 14,500 15,250 0
ESCIRD) 1.00 kg Ak} AH2% 7,000 4,000 4,000 5,000 8,000
Z=(J k) 2.00 kg%t E(1= 8,750 4,500 0 6,625 11,500
(A ) 2.00 kePEH E(1=% 8,985 7,382 4,611 6,993 13,250
Z=(J k) 2.50 kg A} E(l= 15,875 0 0 15,875 0
2:(gHh) 4.00 kgl d &% A% 0 26,000 0 26,000 0
(A 4h) 5.00 kg XA} E(1= 38,000 15,708 21,533 25,081 0
Z:(duh) 5.50 kgH| & E(l+ 0 0 10,000 10,000 0
(A h) 1.00 kgAFAF E(1= 8,167 0 0 8,167 8,333
Z:(duh) 1.00 kePEH} E(l= 0 4,500 0 4,500 0
(A 4k 2.00 kgH]l 9 E-%] AH2% 9,044 5,500 0 7,272 16,576
Z=(A k) 2.90 kg A} E(1= 0 0 12,350 12,350 0
Z=(dyh) 3.00 kg A=}k E(l+ 15,500 12,000 9,667 12,389 15,000
(A 4h) 3.00 kePEH] E(1= 18,500 11,500 9,167 13,056 0
Z=(dh) 4.50 kgAFAF AH 2% 0 0 26,000 26,000 0
(A 4k 6.00 kg A} E(1= 40,000 0 0 40,000 0
Z=(dh) 3.00 kgHl & E(l+ 20,000 0 0 20,000 0
(A h) 4.00 kgl E-A E(1= 28,000 14,500 20,106 20,869 21,500
Z:(duh) 1.80 kgAFA}F E(l= 12,000 0 0 12,000 0
2=(LHH) 2.00 kg =} E(1% 11,823 9,329 9,419 10,190 19,364
2 () 4.00 kg XA} E(l= 24,451 18,539 16,116 19,702 31,922
2=(LHH) 8.00 kg =} E(1%5 12,000 0 0 12,000 0
Z=(dh) 2.40 kgA=}F E(l= 0 0 9,000 9,000 0
Z=(dh) 2.60 kg A=} E(l= 0 11,050 0 11,050 0
(A4 3.70 kg A} E(1= 14,800 16,650 0 15,725 0
Z=(uh) 3.80 kgA=}k E(l= 0 0 15,200 15,200 0
(A 5.00 kePEH] E(1% 25,000 16,000 0 20,500 0
2 () 2.00 kg A=} 2% 9,135 0 0 9,135 12,659
(A h) 4.00 kgAFAF AH2% 25,291 18,158 11,437 18,295 40,895
Z=(dh) 4.20 kgt E(l= 0 18,900 0 18,900 0
2=(LHH) 5.00 kg=} 2% 0 35,000 0 35,000 35,000
27
2=7H( A uh) 4.00 kgvl 9 E-A E(l= 8,000 4,000 0 6,000 0
&7 4.00 kel dE-A E(l+ 6,033 0 0 6,033 0
2271 (U nt) 2.00 kgv|d &E-%] E(l= 0 12,000 0 12,000 0
2271 (dnt) 4.00 kgAF A} E(1+ 9,065 4,288 4,245 5,866 6,946
2271 (dnt) 4.00 kgAFAF 7,800 5,000 3,333 5,378 7,333
&7 4.00 kgAFAF E(l1= 5,500 2,633 0 4,067 7,637
2271 (dnt) 4.00 kgAFAF AH2% 9,323 4,870 5,897 6,696 8,591
2=7H( L4 4.00 kePEH == 0 2,500 0 2,500 0
Zu}9)
Z=nlA (Y uk 2.00 kg A=A} E(l= 8,000 2,000 0 5,000 0
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2l (L yh) 4.00 kgAFAF E(l= 20,000 0 0 20,000 0

obH 7h=
ol R I (A ¥k 4.00 kgAFAF AH2% 0 41,400 0 41,400 0
ol B 7L (Y Hh) 5.50 kg XA} E(15 57,600 63,000 59,700 60,100 53,100

o} 23t}
= A 1.00 kg% = 13,000 0 0 13,000 0
=24 1.00 ket A% 11,000 0 0 11,000 0
= A 1.00 kg%t E(1= 12,200 0 0 12,200 0
= Al 1.00 kg XAk E(1= 12,119 7,732 5,861 8,571 11,325
= A 1.00 kg%t = 11,000 0 0 11,000 0
= Al 1.00 kg% HE(3 12,000 0 0 12,000 0
1.00 kgAFAF AH 2% 0 0 5,500 5,500 0
= Al 1.00 kgAFAF 11,500 12,000 10,000 11,167 0

ohe

o}L&-(&lul) 4.00 kgAFAF AH2% 14,965 10,048 7,584 10,866 11,870
olL2-(Yduh) 1.00 ket E(1% 1,285 1,176 1,250 1,237 850
o}&-(&lul) 0.50 kg% AH2% 1,250 1,200 800 1,083 1,500
o}&-(&lul) 4.00 kgAFAF 9,000 7,600 6,000 7,533 8,000
o}-&-(&lqh) 4.00 kgAF At E(l+ 11,569 8,002 8,023 9,198 9,385
o}&-(&lul) 0.40 kg E(1= 1,000 0 0 1,000 900
ol-& 4.00 kg XA} E(l= 0 0 5,500 5,500 12,750
o} (&l 0.80 kg%t 2,100 3,800 1,400 2,433 0
olL-(Yduh) 0.50 kg%t E(l= 1,113 1,110 1,002 1,075 0

orgheln
ZZE (L) 2.00 kgt HE(3 1,200 0 0 1,200 0
ZZHE(Ldh) 2.00 kg E(1%5 2,144 2,488 2,138 2,257 1,992
ZZHE (LY 2.00 kg%t AH2% 2,085 2,131 2,205 2,307 2,339

SR
OFu F=(uh) 8.00 kg1 &} AH2% 6,837 7,512 7,931 7,427 5,086
QFul S (L wh) 10.00 kg1 & 2% 0 7,500 8,000 7,750 5,800
15.00 kg =}k E(1%5 0 0 10,000 10,000 0
QFul F= (L wh) 8.00 kg 1& HE(3 12,500 0 0 12,500 0
OFull F= (L uh) 8.00 kg1 &Y == 7,467 7,811 8,203 7,827 6,388
kel F= (L wh) 10.00 kg1 & E(l= 8,013 8,409 9,898 8,773 6,242
SIS

OF A} F () 8.00 kg A=} A% 9,000 0 13,500 11,250 13,250
4.00 kg A2k E(l= 0 0 3,500 3,500 0
Ok A} F () 12.00 kgAFA}k E(1+ 0 0 5,000 5,000 0
Iy = 2.00 kg A} 5,000 3,000 0 4,000 4,000
oIy = 2.00 kg =} == 5,000 0 0 5,000 3,333
AL (D uh) 5.00 kg A=A} E(l= 0 0 7,333 7,333 7,000
OF Ak (Y Hh) 4.00 kg A} == 0 0 8,000 8,000 5,000
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FAFZE(AuY)  8.00 ket =(1% 15325 17,973 15,009 16,102 16,916

FAFZ(Aduh)  10.00 kg4t =1% 8,656 9,500 7,525 8,560 12,707

kol (Auh)  2.00 ket =E(1% 15,669 12,645 11,457 13,257 14,058

2.00 kg4t (1% 10,219 7,010 9,327 8,852 9,062

kol (Auh)  1.00 ket =% 0 2,833 0 2,833 2,850

15.00 kg 121} =01% 8,375 9,839 9,645 9,286 5,530

oFsh(alyl)  15.00 ke 1B} WE(3 8,467 8,154 8.326 8,316 5,228

Fsh(alul)  15.00 ket =% 0 8,250 0 8,250 0

20.00 kg 151} WE(3 0 16,000 0 16,000 0

Fuh(elul)  12.00 ke 1B =% 2,000 4,833 0 3,417 3,375

oFsh(alyl)  15.00 ke 1B} =1% 5,795 8,594 9,883 8,090 5,922

Fsh(elul)  20.00 ke 1B} AH2E 17,500 11,902 10,750 13,384 8,667

1.00 kg Ak =1% 0 21,000 0 21,000 0

15.00 kg4 =% 0 0 10,814 10,814 0

FTH(AE)  10.00 ke At A% 1,941 0 0 1,941 3,241

Fuh(elul)  20.00 kg 1B} 95(% 3,000 2,500 4,250 3,250 4,000

12.00 kg 121} =1% 8,000 8,500 0 8,250 4,000

20.00 kg 157 =% 4,000 14,500 0 9,250 5,125

Fsb(elyl)  15.00 ke 1B} = 0 0 7,000 7,000 0

Fmh(alwl)  10.00 kel BT} A% 1,000 0 0 1,000 0

Fsp(elul)  12.00 kg 1B} A% 0 4,975 0 4,975 0

Fmh(lwl)  15.00 ke 1B} 95 (% 0 5,475 0 5,475 0

Fsp(elul)  15.00 kg 1B} A% 6,852 9,108 9,958 8,639 6,635

Fmh(lwl)  20.00 kel BT} =(1% 11,000 8,586 10,806 10,130 7,599

15.00 kg 127} = 0 7,500 0 7,500 7,500

15.00 kg1 21} 2% 11,000 10,191 8,353 9,848 9,500

20.00 kg 157 = 0 0 4,000 4,000 0

Foh(Auh)  10.00 ke 1% 2,551 4,000 0 3,276 3,413

Fsp(elul)  15.00 kg 1B} = 7,500 6,695 6,739 6,978 4,375

15.00 kg1 21} HE(3 0 6,841 6,000 6,420 10,000

20.00 kg 151} A% 0 0 12,000 12,000 6,000

Fsb(elul)  20.00 kg 12T} HEG 15,500 6,500 7,750 9917 13,374

Foh(Auh)  20.00 ke A 1% 6,733 8,063 0 7,398 6,342

3.00 kg 34} =1% 7,350 7,350 7,350 7,350 7,350

15.00 kg4 E(1% 64,000 64,000 64,000 64,000 64,000

0.70 kg 2} 1% 3,032 2,785 2,952 2,923 2,908

0.80 kg4t =01% 2,905 2,922 2,922 2916 2,933

1.60 ke A2 =1% 0 0 4,650 4,650 0

0.50 kg A2} =1% 3,100 2,250 2,250 9533 2,250

0.60 kg’2k S(1F 2,800 2,800 2,800 2,800 2,800
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o Zto] uj
oluj 7] 8.00 kg7t =01% 0 101,833 0 101,833 22,000
obuj 7] 10.00 kg4 2% 11,750 8,000 0 9,875 13,821
AztolulZ  2.00 ket =01% 1,383 1,745 1,296 1,475 1,582
AzrolulZ=  4.00 ke 4,000 3,000 2,917 3,306 3,000
oluj 7] 8.00 kg7t AH2E 12,000 9,000 0 10,500 16,850
obuj 7] 10.00 kg4 E(1% 24,696 18,883 20,000 21,193 19,227
AzrolulZ  4.00 keH] HEA =% 3,675 2,475 3,067 3,072 3,155
4.00 kg2t =01% 4,000 4,500 0 4,250 0
AzrolulZ=  5.00 ket =% 0 0 2,600 2,600 0
AzrolulZ  4.00 kePET] =1% 3,320 3,644 2,894 3,286 3,657
AzrolulZ=  4.00 ket A% 5,005 4,282 3,897 4,394 5,297
%0 4.00 k¥ H 2] A% 0 0 3,667 3,667 3,167
AzrolulZ  2.00 ket A% 1,364 1,579 1,384 1,442 1,794
%0 4.00 kg7t A% 4,500 1,625 5,500 3,875 0
AzrolulZ=  4.00 kgH] HEA A% 3,296 2,500 0 2,898 3,599
AztolulZ  4.00 kA =1% 9,761 4,325 3,256 5781 4,771
ol
10.00 kg2 E(1% 28,000 28,686 97,575 28,087 28,000
CES 1.00 ke A= =% 0 0 2,500 2500 2,500
15.00 kg4t 35,000 0 35000 35,000 30,000
15.00 kg2t E(1% 43,063 41,095 43810 42,656 43,165
15.00 kg4 A% 0 21,333 19,900 20,617 22,432
9.00 kg3 2} E(1% 33,000 33,000 32,400 32,800 32,941
2.00 kg4 =% 0 0 28,000 28,000 28,000
A(AW)  15.00 ke A =% 0 23,000 12,500 17,750 0
A2 1.00 ke A2+ 2,667 0 0 2,667 0
=Ed
2.00 k% =1% 0 0 1,700 1,700 0
4.00 kg7 =% 0 0 3,700 3,700 0
AT (uh) 4.00 kg2 A% 8,748 4,063 4,148 5653 9,529
AR 4.00 ka2t =01% 6,200 2,997 0 4,599 0
AT (uh) 2.00 ket A% 4,386 1,602 1,636 2541 4,434
AT (e uh) 4.00 kg7 3,000 0 2,667 2,833 0
AT (uh) 4.00 kg3 7} =% 7,182 4,220 3,508 4970 8,848
AT (e uh) 4.00 kePE =01% 4,500 1,500 2,275 2758 4,500
AT () uh) 4.00 kgHl 9 %2-#] 1% 6,024 3,477 3,273 4258 6,326
AR(Au)  10.00 ke 1% 2,700 0 0 2,700 0
AT (e uh) 2.00 kgt WE(3 0 0 1,700 1,700 0
AR(Au)  13.00 ked] HEA 1% 0 0 7,000 7,000 0
AT (e uh) 2.00 kg7 =01% 0 3,100 0 3,100 3,500
AT (A uh) 4.00 ket A% 7,942 0 0 7,942 0
AT (e uh) 2.00 ket =01% 4,003 1,617 1,546 9389 4,001
AT () uh) 4.00 kg2 4% 7,527 4,600 0 6,064 0
AR(Au)  10.00 keHl Y EA =01% 0 5,500 8,000 6,750 12,000



HAZE AlA AR

=9da ¢ 2022-05-12
A gz 2022-04-30 42
ze zz 77 BAA A (D)
A FE s Gkt
A7 (dwh) 12.00 kgHld-8-A] 0 7,000 8,000 7,500 0
A (Hwh 4.00 kgHld & 4,000 1,000 1,500 2,167 7,250
GH-(dwh) 13.00 kePETH 0 7,000 0 7,000 0
Q7+
0.30 kg’ 2k 0 5,036 0 5,036 0
3.00 kg2t 0 47,500 21,500 34,500 0
L7t (") 3.50 kAt 0 0 50,000 50,000 0
L 7F (L) 4.00 kg2t 0 37,500 1,000 19,250 0
L7t (/) 3.00 kg /At 0 0 46,000 46,000 0
L7t el 1.00 kg2t 0 0 8,875 8,875 0
1.00 kg”d-=} 0 7,000 11,200 9,100 0
L7k (Lwh) 1.00 kgvld &-A 0 10,000 11,400 10,700 0
L7 (LW 1.00 kg’ 2k 0 17,076 12,429 14,752 0
27t 9l 3.00 kgt 0 0 12,500 12,500 0
2719 ¢l 3.00 kgPEH 0 0 26,000 26,000 0
L7t Q) 4.00 kegPEH 0 0 32,167 32,167 0
L7t el 2.50 kg7t 0 0 16,000 16,000 0
L7k (L wh) 2.00 kgHl 57 0 0 13,500 13,500 0
L7t el 1.40 kg2t 0 0 10,000 10,000 0
0.50 kg 2k 0 6,200 0 6,200 0
L7 (L) 2.00 kg2t 0 0 11,333 11,333 0
e 7Fl (A RE) 2.00 kgt 0 20,000 23,000 21,500 0
L 7t9 8] 4.00 kg2t 0 18,000 23,667 20,833 0
0.20 kg2t 0 4,493 4,400 4,446 0
1.50 kg =+ 0 0 12,000 12,000 0
2.00 kg2t 0 29,348 17,084 23,216 0
3.50 kg7t 0 0 50,000 50,000 0
4.00 kg2t 0 42,000 3,000 22,500 0
L 7Ha (/) 0.80 kg2t 0 9,000 0 9,000 0
279 (AR 4.00 kg2t 0 55,000 35,000 45,000 0
Q79 ¢) 2.00 kg -} 0 18,500 24,000 21,250 0
Ll ) 5.00 kgt 0 0 25,000 25,000 0
LA
LAA(FY)  17.00 kg2t 64,435 68,341 38,986 57,254 47,404
L#AA(Gd)  18.00 kgZAk 25,000 0 30,000 277,500 27,667
1.00 kg =+ 0 0 26,725 26,725 0
L#AMA(Gd)  13.00 kg’ Ak 0 62,750 0 62,750 0
L#AA(FY)  18.00 kegZdAk 60,697 64,305 62,191 62,398 50,399
L#AMA(Gd)  18.00 kg’ Ak 45,528 48,867 43,651 46,015 40,263
LAMA(F) 9.00 kgt 30,000 0 0 30,000 27,848
K| 10.00 kgt 0 0 11,200 11,200 0
Q o]
Ela=ge o 3.00 kgt 0 6,333 0 6,333 0
ELA=a=d 10.00 kgHld -5~ 8,000 7,204 9,000 8,068 5,000



HAZE AlA AR

ZH9A 0 2022-05-12
g d=F : 2022-04-30 43
= 2% 32 =3 BEAA (D)
PP z¢ G A4
Wi} r] 10.00 kePEH HE(3 8,000 6,000 5,000 6,333 0
ELR=R= g 12.00 kgH] 4 E-#] =0 0 2,000 0 2,000 0
Wt} 18.00 kgAFAk E(1=% 55,051 29,594 33,607 39,417 56,242
#HA 8.00 kg A} AH2% 13,000 0 0 13,000 0
A 10.00 kgAF=} HE(3 0 0 2,000 2,000 17,000
#HA 20.00 kgAA} AH2% 32,665 16,710 15,106 21,493 34,841
w7} 15.00 kgAH=} =0 0 0 22,335 22,335 0
o}l 7] 3.50 kePEH E(l= 6,500 5,611 6,250 6,120 0
ELR=R= g 10.00 kgAFH =} = 12,956 6,310 9,150 9,472 16,156
W o}l 7] 10.00 kegPEH E(1= 12,250 9,505 8,782 10,179 0
F = 8.00 kg AHA} E(l+ 27,000 0 0 27,000 22,000
HA 20.00 kgAA} HE(3 32,010 15,511 13,151 20,224 34,704
VASKXe] 10.00 kgAFH =}t E(l= 23,696 13,006 13,116 16,606 38,000
W o}l 7] 8.00 kg A} E(1= 26,000 0 0 26,000 0
W o}l 7] 10.00 kgH]d E-#] HE(3 0 6,000 0 6,000 12,000
A 10.00 kgAF=k 36,000 0 0 36,000 42,500
HA 10.00 kgAF A} E(1= 29,414 17,761 18,654 21,943 34,399
4.00 kgAHAF E(1=% 16,833 17,900 19,000 17,911 17,615
w7t 15.00 kgAFA} AH2% 0 0 21,105 21,105 0
Wt} 8.00 kgH| & AH 2% 0 8,250 0 8,250 0
wobthr] 10,00 kel DA == 0 2,000 0 2,000 0
ELR=R =g 10.00 kgAFH}; 2% 16,825 10,256 12,328 13,136 22,440
w it} 10.00 kgPEtH 2% 12,438 6,167 5,630 8,078 12,338
CLAs R 15.00 kg A} =} 2% 27,000 13,500 0 20,250 26,000
w it} 18.00 kgAF A} 4% 22,000 15,467 11,500 16,322 25,667
CLAs R 18.00 kg A} A} HEZ(3 26,993 17,813 18,638 21,148 35,555
CLAs R 20.00 kg A=} E(l= 0 12,250 0 12,250 32,043
TEAl 2. 0] 10.00 kgAFA} AH2% 12,000 0 12,714 12,357 0
CLAs R 8.00 kg d &-%] E(l= 0 11,313 13,198 12,256 0
W o}l 7] 10.00 kgAFA} E(1% 21,899 14,465 16,520 17,628 28,333
CLAs R 15.00 kg A} =} E(l= 42,000 20,000 0 31,000 44,645
A 10.00 kgAFA} AH2% 18,391 10,561 7,363 12,105 21,739
CLAs R 3.00 kgA=}F E(l= 0 6,333 6,286 6,310 0
w it} 10.00 kgH]d E-#] 2% 11,333 3,500 0 7,417 9,400
#H A 20.00 kg A=} E(l= 38,517 22,245 21,462 27,408 39,676
| &2 0] 18.00 kgAF =} E(1% 16,000 0 0 16,000 8,000
i =gl 20.00 kg #} E(l= 16,125 6,500 0 11,313 18,667
T} 7] 8.00 kgv| d E-#] HE(3 0 8,000 7,149 7,575 0
AR = 10.00 kgAF=} HE(3 15,429 8,660 10,513 11,534 19,966
ELA=R=A 18.00 kgAF=} AH2% 31,209 18,711 19,372 23,097 39,987
AR = 20.00 kg AA} AH2% 0 12,250 0 12,250 31,957
HA 20.00 kg =} = 28,750 12,433 10,750 17,311 20,781
AR = 20.00 kg AHA} HE(3 0 7,222 23,000 15,111 26,450
.7%.
2 2.80 kg A=} == 0 0 13,000 13,000 0
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1.50 ke A2+ =% 0 24,333 0 24,333 0

24 0.25 ka2t =% 0 4,000 0 4,000 0

24 2.50 kg4t =% 0 28,000 16,500 922,250 0

25 1.00 kel B =01% 0 0 4,000 4,000 0

25 1.50 ke A2+ 1% 0 26,000 17,000 21,500 0

2% 1.90 ke A+ =% 0 0 12,700 12,700 0

0.50 kg ik 1% 0 0 5,000 5,000 0

L 0.50 kg7t =% 0 12,228 5,024 8,626 0

2.00 kg4 =1% 0 33,000 0 33,000 0

25 0.30 kg2t =1% 0 5,739 3,771 4,755 0

25 1.70 ke A2 =% 0 0 17,000 17,000 0

25 3.00 kg2t =1% 0 23,500 20,500 22,000 0

25 0.30 ke 0 0 3,200 3,200 0

25 2.20 kg7t =1% 0 0 17,500 17,500 0

0.50 kg2t WE(3 0 0 1,500 1,500 0

0.50 kg ik24 A% 0 0 3,200 3,200 0

25 0.20 kg7t =1% 0 0 3,576 3,576 0

25 2.00 kg4t =% 0 926,917 16,023 21,470 0

25 4.00 kg7t =1% 0 45,000 23,150 34,075 0
R

QL (1) 4.00 kg 121} E(1E 20,443 18,689 17,777 18,970 18,167

S (1) 4.50 ke 127 E(1% 22,000 0 0 22,000 0

SHEF( ) 2.00 kg1 21} =% 0 8,000 0 8,000 0

S (1) 4.00 k¥ H %27 =01% 0 15,000 0 15,000 0

S (1) 3.00 kg4 =15 0 0 15,000 15,000 0

S (1) 4.00 kg2 E(1% 19,000 22,000 18,852 19,951 18,000

S (1) 2.00 ka2t =1% 9,000 0 7,700 8,350 0

FIT 4.00 kg 121} A% 0 15,500 12,000 13,750 0

S (1) 4.00 ke 127 AH2E 14,500 0 16,000 15,250 0
£}

k(e 5.00 ke 4} AH2E 15,520 15,538 93,518 18,192 14,805

L 3h( 5.00 kg3 2} E(1% 20,115 26,250 26,477 24281 20,341

2 7h(£=91) 5.00 kg2t A% 0 23,500 28,000 925,750 20,000

$27M

4.00 kg A2 1% 4,420 0 6,000 5210 7,853

6.00 kg4 (1% 11,000 11,000 11,000 11,000 11,000

7.00 kg3 4} (1% 10,000 10,000 10,000 10,000 10,000

4.00 kePEH =01% 5,000 1,500 6,000 4167 7,010

4.80 kg4 E(1% 12,750 11,000 11,000 11,583 11,000

4.00 kgH 927 =01% 3,848 3,191 13,000 6,679 7,031

4.00 kgH] 9327 A% 3,600 3,000 0 3,300 6,417

4.00 k¥ E %27 6,000 5,500 0 5,750 0

4.00 kg2 A% 4,500 0 0 4,500 0
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%)
-3 A 1.00 kgAFAk 2,167 2,200 2,000 2,122 0
1.00 kg A=}k =0 0 0 6,300 6,300 6,300
2.00 kg A} E(1= 17,275 16,960 16,960 17,065 15,910
4.00 kgAF A} =0 9,975 10,000 10,000 9,992 10,844
Q-3 x| 1.00 kgAFAk E(1= 6,300 5,890 6,300 6,163 5,060
Sopy
S-S ti(Lyh) 4.00 kg%t E(1= 0 12,750 0 12,750 12,500
- ti(d ) 1.00 kgAFAF 3,000 0 0 3,000 0
S-S i (L 1) 10.00 kgAFAk E(1=% 12,000 11,412 12,000 11,804 11,375
- (I Hh) 4.00 kgAFAF E(1= 12,000 12,000 11,500 11,833 12,128
PERS
A2 (dHh) 4.00 kePEH E(1= 14,688 3,265 0 8,976 13,342
A2 (dHh) 1.70 kg A Ak E(1= 10,000 0 0 10,000 0
AZF2(dygh) 2.00 kePEH E(1=% 6,563 6,000 0 6,281 7,000
A2 (dHh) 4.00 kegvldE-A E(1= 5,000 0 0 5,000 5,658
A (A9 4.00 kgAF At E(1=% 15,675 9,750 0 12,713 16,300
A2 (dHh) 8.00 kg A} E(1= 0 6,600 0 6,600 0
A (g9 1.00 kePEW E(1=% 0 500 0 500 0
A2 (dHh) 2.00 kg XA} E(1= 10,500 1,500 0 6,000 4,886
AFZ(gwh) 5.00 kg XA} E(l= 0 5,000 0 5,000 27,000
AFZ (LW 2.00 kg=} 2% 4,000 0 0 4,000 2,625
AF(LHh) 4.00 kg XA+ 2% 12,667 8,300 5,000 8,656 15,757
AF2 (LW 3.00 kg =} E(1% 11,625 12,000 0 11,813 0
AF(LHh 1.00 kg A=} E(l= 2,000 0 0 2,000 3,578
AF(IHh) 1.50 kg A=} E(l= 3,000 0 0 3,000 0
F2](dHh) 2.00 kgv]ld E-#] E(1= 5,000 0 0 5,000 2,500
AF(LHh) 5.00 kePEH E(l= 17,250 5,000 0 11,125 0
A7 (ddh) 3.00 kePEH E(1= 9,500 0 0 9,500 0
4
2l 4.00 kg A} 2% 6,000 0 0 6,000 0
28 4.00 kePEH E(l= 0 3,000 0 3,000 4,000
2l 4.00 kg A} 0 6,000 0 6,000 5,000
28 4.00 kg XA} E(l= 5,860 5,213 5,962 5,678 6,720
el 4.00 kg A2k AH2% 5,791 4,683 5,042 5,172 7,882
218 4.00 kgl dE-A E(l1= 4,000 3,200 0 3,600 4,600
A
FAUE (Lt 4.00 kg A}k =0 5,373 3,751 4,515 4,547 7,303
o3
7+e-3Y 6.00 kg A} =0 46,000 0 0 46,000 0
S (dut) 1.00 kg1 &7} E(1= 2,600 1,000 0 1,800 0
72 3Y 1.00 kg1 &} E(l= 0 4,000 0 4,000 0
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S
SUEZ(Auh)  0.50 ke At WE(3 0 5,500 5,708 5,604 0
SUbZ(duh)  0.30 ke =% 0 6,533 5,984 6,259 0
SUEZ(duh)  1.90 ket =% 0 0 28,000 28,000 0
SUbZ(duh) 2,70 ke A =% 0 30,000 0 30,000 0
SUEZ(uh)  3.00 ke At E1% 76,000 41,327 44,750 54,026 0
Sl 6.00 ket =% 0 6,000 10,000 8,000 0
SURZS(Auh  0.20 ket =% 3,500 0 0 3,500 0
SUEZ(uh)  0.20 ke At =01% 0 5,697 5,335 5,516 0
SURZ(Auh 1,00 ket A% 0 22,091 17,000 19,546 0
SUEZ(Auh)  2.00 ket =% 70,127 40,252 32,564 47 648 0
SURZ(Auh 2,10 ket =% 0 31,000 0 31,000 0
SUEZ(Auh)  7.00 ket =% 0 0 105,000 105,000 0
Sl 0.40 ke A =% 0 8,533 6,200 7,367 0
SUEZ(duh) 1,10 ket =E1% 71,000 0 0 71,000 0
Sl 3.50 ke =% 0 60,000 0 60,000 0
SUES(LT)  4.00 keAtRE E(l1=% 0 80,279 42,667 61,473 0
SRl 9.00 ket =% 0 0 13,000 13,000 0
SUEZ(Auh)  0.20 ke At A% 0 5,154 4,201 4,678 0
SUEZ(Auh)  0.50 kewh =1% 0 8,500 0 8,500 0
SURZ(Auh) 1,30 ket E(1% 27,000 0 0 27,000 0
SUEZ(Auh)  2.00 ket A% 0 29,363 923,556 26,459 0
SURZ(Auh  0.50 ket E(1% 21,000 8,577 10,153 13,244 0
SURZ(Auh)  1.00 ket = 0 15,000 0 15,000 0
SURZ(Auh) 1,40 ket HE(3 0 10,000 0 10,000 0
SURZ(Auh)  1.40 ke =1% 0 19,000 0 19,000 0
SURZ(Auh 2,00 ke 95(% 0 22,000 0 22,000 0
SURZ(Auh) 2,30 ket =% 0 0 52,000 52,000 0
SRSl 2,50 ke E(1% 66,000 41,520 31,000 46,173 0
SURZ(Auh) 2,50 ket A% 0 26,000 0 26,000 0
SRl 5.00 ke A HE(3 0 0 3,500 3,500 0
SURZ(duh)  4.00 ke A% 0 49,500 0 49,500 0
SURZ(Auh)  1.00 ket E(1% 59,143 15,625 20.250 31,673 0
SRl 2.00 ke HE(3 0 42,000 19.000 30,500 0
SURZ(Auh) 2,40 ke A} =01% 0 57,000 0 57,000 0
SUpRZ(duh) 3,80 ke =15 0 0 70,000 70,000 0
SUEZ(Auh  10.00 ke ik At 1% 0 0 6,000 6,000 0
SUFS(LH)  0.30 kgAtRE A2F 0 0 3,850 3,850 0
SR Z(duh)  0.50 ke A% 0 6,250 7,029 6,640 0
SUEZ(duh) 1,10 ke A% 0 12,000 0 12,000 0
SR g(duh) 1,50 ke E(1% 61,500 30,365 93.000 38,288 0
SUFS(LH)  3.00 kgAtRE A2F 0 0 33,000 33,000 0
A
Tl EEE . 15.00 keAA 9= (% 0 10,000 0 10,000 0
TElol EERE 15.00 kedt R AH2E 40,000 31,500 33.000 34,833 33,804
aElolEERE 900 ket E(1% 29,000 0 0 29,000 0
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44 4 s A4
gl EERE 1500 kedl At E(1% 38,500 41,000 15000 31,500 26,000

22
2 3 (2 uh) 5.00 ke =015 1,500 0 0 1,500 0
AR 10.00 ke 0 0 17,000 17,000 16,000
AH(AHD  10.00 ke =015 9,706 5,500 10,000 8,402 14,265
AR 15.00 ke A 1% 11,500 0 0 11,500 0
AL 16.00 kg4 2% 17,901 4,000 0 10,950 26,688
2 3 (2 ) 8.00 ke A2} =(1% 8,059 5,000 7,000 6,686 10,888
AL 20.00 ke =1% 17,254 10,515 14,061 13,943 19,101
2 2 (2 9h) 8.00 ke A2 0 16,000 17,000 16,500 0
2 3 (2 uk) 8.00 kg 4} A% 9,000 0 13,750 11,375 0
AP 16.00 ke =015 13,980 10,441 12,498 12,307 22,876

AR
Lo} 8.00 ke =E1% 21,000 21,500 91.000 21,167 21,000
o} 10.00 kg2t =E1% 19,100 19,333 19,000 19,144 19,148
JE 5 4.00 kg =% 6,818 6,933 6,894 6,882 6,854
1.00 kg A2 =% 0 0 92.000 22,000 22,000
4.00 kg7 =15 9,637 9,636 9,630 9,634 9,641
EE® 4.00 kg2t =1% 6,891 6,890 6,885 6,889 6,879
6.00 kg2 =15 9,500 9,500 0 9,500 9,750
EEE 6.00 ke =1% 8,822 8,871 8,851 8,848 8,766
AT 5.00 kg2t =1% 8,500 8,500 8,500 8,500 8,500
AR 5.00 ke 4} 5,000 0 0 5,000 0
SEA 6.00 ke A2 =015 8,060 8,162 8,147 8,123 8,019

SRR
18.00 kg2 E(1% 20,000 20,000 20,000 20,000 29,989
T 10.00 kg2 E(1% 13,600 14,200 14,800 14,200 13,840
A 6.00 kg2 E(1% 27,000 22,000 95,333 24778 25,000
16.00 kg4 215 45,646 46,463 47.623 46,577 45,207
10.00 kg4 E(1% 38,022 38,194 36,762 37,659 30,492
12.00 kg2t =(1% 18,833 18,750 19,000 18,861 22,000
20.00 ke A2 E(1% 58,144 49,571 52.195 53,303 54,540
Zul A%

e 3.40 kg4 E(1% 33,000 0 34,000 33,500 33,000
SR 0.40 kg2t 1% 6,000 0 0 6,000 0
e 2.70 ke A} =(1% 10,050 10,050 10,050 10,050 10,050
e 4.00 kg2t E1% 40,000 0 37500 38,750 39,200
e 2.00 ke 2} E(1% 11,000 11,000 11,000 11,000 13,833
e 20.00 ke A+ E(1% 48,750 48,750 45.000 47,500 46,875
FES/E 4.00 ka7l =% 0 50,000 0 50,000 42,000
SR 1.00 ke =% 0 0 12,000 12,000 16,000
n] =) & 30.00 kg 2+ =1% 0 20,000 20,000 20,000 0
e 8.00 ke A2} =% 0 0 66.700 66,700 0
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TEAE 20.00 ke E(1% 160,00 0 325950 242,975 160,017
H] %] 20.00 ke A2 =% 0 13,000 0 13,000 12,500
FES L 1.00 ke A2+ =% 9,500 0 25,000 17,250 17,500
TEAE 1500 kedA =% 0 0 125,000 125,000 0
So) Rt 0.50 kg Ak 1% 6,500 0 6,000 6,250 8,000
SR 20.00 kedR =% 0 0 281,200 281,200 273,450
Abzh| 5 4.00 kg1 %1} E(1% 15,000 0 0 15,000 0
=4
Z2(Quh) 20.00 ke AR =% 0 32,000 923,667 27,833 0
Z4:(Q9h)  20.00 kePPU =1% 0 32,000 922,266 27,133 0
=4(ddh 15.00 kg =} 50+ 0 0 12,000 12,000 0
0.20 kg A2 =% 0 0 7,000 7,000 0
0.50 kg2t =1% 0 0 5,833 5,833 0
20.00 ke 71 EF A% 0 0 23,000 23,000 0
A o]
273 o] (<) 4.00 kePET =% 0 0 8,000 8,000 0
Z& 51}
1.00 kg g =1% 1,403 2,000 0 1,701 3,288
7h% 5 12.00 ke¥t =% 1,600 0 0 1,600 0
Z3(Quh) 1100 kedR =% 0 0 36,300 36,300 21,450
Z 391 ut) 1.50 kesh =15 0 800 3,200 2,000 0
742 5} 4.00 kg2t 1% 6,123 7,000 6,000 6,374 6,750
Z 391 ut) 0.50 ket A% 609 1,600 850 1,020 1,239
Z3}1(Hh) 4.00 kg3 7} =% 3,000 0 0 3,000 3,000
Z 391 ut) 8.50 kg4t =% 0 0 5,100 5,100 0
2.00 kgt =% 2,150 0 0 2,150 0
7% 3} 1.00 ke$H 0 3,700 0 3,700 2,900
742 3} 1.00 ket =% 2,569 3,308 4,010 3,296 4,674
Z 391 ut) 1.00 ke$H A% 1,987 2,063 2,981 9344 2,974
Z 391 ut) 2.00 kgt =01% 2,100 0 0 2100 2,100
742 5} 10.00 kg2 E(1% 28,343 28,735 37,863 31,647 37,222
742 3} 12.00 ka2t =01% 0 35,200 0 35200 35,400
23(91dh) 1.00 ket =1% 1,604 1,915 2,436 1,985 2,818
Z3(duh) 10.00 ke 95 (% 0 0 20,000 20,000 0
Zgh(olul)  12.00 ket =% 8,400 0 27,600 18,000 0
7% 3} 2.70 kg7 =01% 0 2,500 0 2,500 0
7+ % 3} 3.00 kg2t 1% 2,000 0 0 2,000 0
7% 3} 9.00 kg7 =% 0 0 44100 44,100 0
742 3} 11.00 kg2t E(1% 32,267 41,800 55.000 43,022 37,086
Z 391 uk) 5.00 ke 7} =01% 0 8,500 0 8,500 2,500
7+ % 3} 1.00 kggh A% 2,908 3,626 4,250 3,595 3,862
2.3(91dh) 0.50 ket 1% 550 1,150 0 850 8,759
Z 391 ut) 8.00 kg7t =01% 0 0 5,000 5000 25,600
742 5} 0.80 ket A% 1,300 0 0 1,300 0
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(vl 10.00 ke 215 14,936 20,794 95,372 20,367 28,917
2}
=2t 8.00 kg2 =E1% 15,000 0 0 15,000 0
245
wo) 2.00 kg2t =15 0 0 15,000 15,000 0
7
0.20 kg2t =01% 0 0 1,150 1,150 1,400
0.50 kg2 =1% 2,800 0 2,800 2,800 3,367
0.40 kg2 =1% 0 0 2,000 2,000 2,000
1.00 ke Akt =1% 5,300 0 5,300 5300 6,533
A=
AUE(AE)  4.00 ket 13,310 8,813 8,208 10,110 8,167
AUE(Q9) 4.00 ke =% 12,862 11,501 8,332 10,898 10,392
AUE(AE)  4.00 ket 2% 12,685 14,389 9,740 12,271 11,565
AUE(A9) 2,00 ke =1% 0 8,000 16,000 12,000 0
AUE(QW) 2.00 kedl A =1% 0 3,667 0 3,667 0
AUE(A9) 2,00 keHlH %A A% 0 7,000 0 7,000 0
AUE(QW) 3.00 ke =1% 0 6,000 0 6,000 0
A chel(
279 4.00 kg7 1% 0 0 18,500 18,500 36,000
279 3.50 ke A% 0 37,000 0 37,000 0
279 4.00 kg7 25 37,000 0 0 37,000 0
279 10.00 kg2 E1% 46,000 0 0 46,000 34,588
Aol (19D 10.00 kg4t AH2E 60,000 0 0 60,000 285321
=79 5.00 ke A2 E(1% 25000 0 0 25000 26,678
AT (1Y 4.00 keAHA E(1% 18,000 20,000 20,500 19,500 18,000
AtAl(719)Y 570 ke =1% 0 49,000 0 49,000 0
7191(54) 5.70 ka2 A% 0 0 95.000 25,000 0
7191(4:91) 5.80 ke A2 A% 0 0 24500 24,500 0
7191(5 <) 4.00 ka2t =% 0 37,000 37.000 37,000 0
279 5.80 ke E(1% 49,000 0 0 49,000 0
279 5.80 ke AH2E 49,000 48,355 16,186 47,847 0
At F19NY 10.00 ke E(1% 60,000 0 65.500 62,750 32,078
7191(5<) 5.80 ke AH E(1% 50,000 0 49.000 49,500 0
7191(529) 5.70 kg2 1% 0 49,000 49.000 49,000 0
A7)
A (QE) 3.00 kedkA A% 0 25,000 30,000 27,500 0
A (29 1.00 kg 2+ =015 9,754 7,208 8,072 8,345 8,462
o7 0] 1.00 kg A2+ =01% 7,000 6,091 0 6,546 5,689
7] 0) 1.00 ke A= 5,306 5,243 5,735 5428 5,000
A (E) 1.00 kedkA A% 8,100 6,625 6,900 7,208 7,087
AFF(Lu  2.00 ke =% 0 0 10,000 10,000 0
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9]
5.00 kg XA} AH2% 29,623 32,630 23,178 28,477 20,618
10.00 kgAF=} HE(3 38,053 33,778 28,261 33,364 40,572
o ) 5.00 kg XA} AH2% 29,107 28,881 21,323 26,437 27,400
10.00 kgAH=} 36,146 32,200 25,100 31,149 34,308
10.00 kgAF A} E(l= 65,647 58,990 43,244 55,960 62,275
9.00 kg =} (= 35,500 0 0 35,500 23,000
10.00 kgAF A} 415 37,153 33,875 27,150 32,726 38,000
5.00 kg XA} E(l= 30,694 27,597 22,832 27,041 28,259
10.00 kgAFA} 5% 36,904 37,631 51,726 42,087 37,398
10.00 kgAF 2}k 2% 53,435 49,339 35,540 46,105 50,166
12.00 kgAH} AH 2% 0 0 33,000 33,000 0
AR A )| 10.00 kgAFA} AH2% 58,389 53,483 38,095 49,989 53,917
=4217] 10.00 kgAF=}k AH2= 51,825 53,634 33,881 46,447 51,871
9.00 kgAA} 0 0 7,000 7,000 0
10.00 kgAH=} 95 (= 39,480 34,562 20,867 31,636 31,272
S
FEUFe(d 0.22 kgAF A} E(l= 0 0 5,500 5,500 0
ZE e (d 0.30 ke7H E(1= 0 0 8,348 8,348 0
Az Upes(a)  4.00 kedbAt == 0 58,278 30811  44.544 0
sy (d 3.00 kg A=}k AH 2% 0 15,000 26,000 20,500 0
SRS (A 1.00 kg Ak E(1=% 0 13,000 6,500 9,750 0
U (d 1.50 kg A=} E(l= 0 16,000 0 16,000 0
SRS (d 0.50 kgAFA}F E(1= 0 7,000 8,000 7,500 0
U (d 1.00 kg XA} 2% 0 0 15,000 15,000 0
SRS (A 5.00 kg XA} E(1= 0 63,500 33,500 48,500 0
U (d 0.20 kg XA} E(l= 0 0 3,600 3,600 0
ZEUEE(d 0.25 kgAF =} E(1%5 0 0 3,000 3,000 0
U (d 2.00 kg A=}k E(l= 0 30,531 20,749 25,640 0
ZEUEE(d 1.00 kgHl 9 &% E(1% 0 0 6,000 6,000 0
AEUE(3 4,00 ke At AHoE 0 0 11000 11,000 0
ZEUEE(d 0.23 kg A+ E(1%5 0 0 3,000 3,000 0
e (d 3.00 kgAA} E(1= 0 56,917 34,208 45,563 0
U (d 3.60 kg A=}k E(l= 0 0 28,000 28,000 0
SRS (A 0.70 kg A+ E(1= 0 0 18,000 18,000 0
SRS (A 2.00 kg A} AH2% 0 16,667 23,045 19,856 0
477
27 A (D wh) 4.00 kg A2k 10,062 4,627 3,131 5,940 12,655
A7 AN (L HH) 4.00 kgAFA}F A% 11,859 5,828 3,802 7,163 13,307
27 A (D wh) 4.00 kgvl E-A AH2% 5,250 2,167 0 3,708 0
474 A (L HH) 4.00 kgAFA}F == 13,572 5,830 3,642 7,681 13,019
Az
Ad (D) 5.00 kg A A} E(l= 0 0 137,500 137,500 31,750
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A
Z (k) 4.00 kg7 =01% 6,325 0 0 6,325 5,533
Z (k) 4.00 kgH 9327 1% 6,300 6,500 0 6,400 6,378
Ay
TAYE 1.00 ke A=+ =1% 0 0 8,000 8,000 0
2.00 kgPET =% 0 0 11,000 11,000 0
3.00 kg4 =% 0 13,000 19,000 16,000 0
4.00 kg2t =01% 9,545 10,150 9,079 9,591 14,358
4.00 kePE =1% 0 95,667 27,867 26,767 0
HAUE(AdE) 500 kedb A =% 0 37,500 32,000 34,750 0
HUE(Adu)  3.00 ke =% 0 0 11,250 11,250 0
HAUE(du) 3,30 ke =% 0 16,500 0 16,500 0
HUE(Au)  4.00 ke 2% 17,912 12,764 13,027 14,568 18,875
YR 2.00 kg4t AH2E 15,667 14,250 13,185 14,367 6,000
1.00 kg Ak =1% 0 5,000 10,125 7,563 20,000
HAUE(dE) 2,00 ke A% 0 0 15,000 15,000 0
AU E(Au)  3.70 ke A =% 0 0 12,030 12,030 0
HAUE(dE) 4,20 ke =% 0 0 22,050 22,050 0
HUE(Au)  4.50 ke =1% 0 32,583 0 32,583 0
5.00 kg4 =% 0 0 7,000 7,000 0
HAYUE(IHH 2.50 kg A=k 5= 0 0 12,000 12,000 0
AHYE 1.00 ke A2 =(1% 28,375 29,375 32,500 30,083 30,577
HAYE 2.00 ka2t =01% 9,600 15,223 15,913 13,579 11,167
2HAGE 4.00 kg2t =01% 0 13,000 0 13,000 0
2.00 kg4 =1% 0 14,000 0 14,000 20,000
HUE(AE)  3.00 keHlHEA] 1% 0 30,000 0 30,000 0
AU E(dE)  4.00 ke HEG 10,000 0 0 10,000 0
HUE(AE)  4.00 ke 0 21,381 15,667 18,524 0
3.00 kgPETH =15 0 0 26,000 26,000 0
THAYE 2.00 kg3 2} 0 17,000 0 17,000 0
HAUE(du)  1.80 ke =% 0 9,900 0 9,900 0
HUE(Au)  2.00 ke E1% 14,500 15,500 16,500 15,500 0
AU E(Adu) 3,50 ke =01% 0 0 14,000 14,000 0
HAUE(dE) 4,00 ke 215 13,353 13,561 10,540 12,485 18,247
HUE(Au) 4,10 ke =1% 0 0 17,450 17,450 0
HAUE(Adu)  1.00 ke =01% 0 12,000 0 12,000 0
HAUE(Auh) 2,60 ke 1% 0 0 18,000 18,000 0
FHUE(Ln9h 4.00 kgl d & =1 0 10,500 7,500 9,000 0
2 A 2
# =7 2 2.00 kg4 6,000 5,000 0 5500 4,000
=72 2.00 kg2t (1% 4,625 2,000 2,007 2877 2211
QA (LY 2.00 ke A A% 3,926 3,714 4,502 4,047 2,922
QA () 2.00 ke A 7,733 4,049 4,403 5395 4,341
EE 2.00 kg2t 7,000 6,000 4,667 5889 6,333
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BE 2.00 kg7t =% 0 6,000 1,000 3,500 3,900
AA (LW 2.00 ke =% 6,306 4,047 5,333 5229 3,360
7l =27 ) 2.00 kg4t A% 4,000 5,000 3,000 4,000 2,000
ZHe =g
ZeZake)(al 800 ke 22,000 0 0 22,000 0
22 Z a9 (e 8.00 ket =% 12,992 12,904 10,312 12,069 9,946
2 Zak9)(al  5.00 kAR =1% 0 8,750 0 8,750 0
A
2.00 kg2t A% 9,000 6,167 5,100 6,756 5,517
23 1.00 kgAF=} 5= 0 1,600 3,250 2,425 3,433
#A 2.00 kg2t 8,571 5,716 5,188 6,492 7,227
2.00 kg2 =% 5,250 4,578 4,599 4,809 5,046
EES 1.00 kg A2 A% 0 0 4,000 4,000 1,750
7] < 2.00 kg4t E(1% 12,853 5,411 5,986 8,083 6,415
! 4.00 kg7t =% 0 0 500 500 0
FES 1.00 ke A2+ 0 4,000 0 4,000 5,000
=] (
Zau Qe 10.00 keAR A% 0 0 10,000 10,000 0
= (ad) 1500 keAbR AH2E 18,000 0 0 18,000 13,875
=Zau Qe 10.00 keAR =(1% 11,000 0 0 11,000 10,000
(e 15.00 kedbA =(1% 10521 8,000 0 9,261 19,167
2.00 kg 12} =1% 0 0 18,000 18,000 0
SEE 1.00 kg 18w A% 3,300 6,000 0 4,650 0
Z(59) 4.00 kMl 927 A% 8,500 7,525 6,000 7,342 10,150
F(duh) 10.00 kg1 21} 2% 67,000 70,000 0 68500 70,250
4.00 kgHlH %% =01% 9,100 0 0 9,100 10,850
g 5.00 kePPTl E(1% 33,000 0 0 33,000 35256
S 10.00 kePPth E(1% 65,000 0 0 65,000 0
4.00 kg7 =(1% 17,333 18,000 20,143 18,492 18,000
F(duh) 1.00 kePPU =1% 0 5,500 8,000 6,750 0
F(luh) 4.00 kMl 927 =% 9,750 8,375 8,000 8,708 10,533
4.00 ke 18w 1% 0 7,850 7,500 7675 9,967
4.00 kePEH =01% 8,500 8,333 8,500 8,444 9710
Fefol 3 4.00 ke 12 E(1% 15,000 0 0 15,000 0
RE= 1.00 kg 157 =01% 6,800 7,541 7,450 7,264 8,108
SEE 1.00 kePP U =1% 6,750 6,900 7,567 7,072 7,150
FUE
FUE(QE) 350 kedkR 0 6,000 0 6,000 0
FUE(AE) 3,50 ke 1% 2,756 2,747 2,749 2751 2,752
FUE(E)  4.00 kedkR 0 0 6,000 6,000 0
SUE(AE)  4.00 ke i =1% 0 5,400 5,150 5275 5,650
FUE(E) 500 kedR =01% 7,500 7,500 7,500 7,500 7,315
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4 z¢ G A4
U E (U 3.00 kg A=A} 7,000 0 0 7,000 0
FUE(Lyh 8.00 kg AHA} =0 18,000 16,000 18,000 17,333 18,000

A
EAAGY) 9.00 kgAA} AH2% 0 0 43,000 43,000 0

e

ET(dyh) 4.00 kgAFAF E(l=& 5,500 0 0 5,500 6,000
2.00 kg A=} =0 22,000 22,000 22,000 22,000 22,000

ey
4.00 kgAFAF 20,000 0 0 20,000 0
1.00 kgAFAk 1,500 1,100 1,500 1,367 0
10.00 kgAF=} E(1= 12,500 12,500 12,500 12,500 12,375

EnE
A ErLE 2.50 kg A} 7,701 5,072 4,509 5,760 7,625
=ENE 5.00 kg XA} 45 0 0 8,001 8,001 10,449
FuolE 5.00 kg AHA} E(l+ 0 11,000 12,709 11,854 0
1.00 kg A2k E(1= 0 0 3,000 3,000 0
2.00 kg XA} 4% 0 0 5,500 5,500 5,250
StEEnlE 5.00 kg A} 0 0 10,870 10,870 7,458
Sl EnlE 5.00 kg AHA} E(1=% 13,331 9,869 8,739 10,646 13,468
tEEnlE 10.00 kgAFA} AH2% 0 0 22,000 22,000 22,011
EunlE(duh 2.50 kg A=} E(l= 12,379 10,813 9,249 10,813 12,841
A ErE 1.50 kg A}F 2% 0 0 7,240 7,240 0
A ErE 2.50 kg A=} HE(3 6,000 6,893 5,500 6,131 6,967
Sl EntE 5.00 kg A} = 0 0 6,313 6,313 8,500
EunlE(duh 5.00 kg2 HE(3 0 1,000 0 1,000 5,387
4.00 kg AF 2% 0 8,500 6,000 7,250 8,625
A EntE 1.50 kgAFA}F E(1% 0 0 5,750 5,750 0
A ErE 2.50 kg A=} = 0 6,334 0 6,334 0
A ERE 2.50 kg A} AH2% 7,907 6,924 11,471 8,767 6,680
StEEntE 5.00 kg2 HEZ(3 0 0 9,341 9,341 12,905
el EnlE 10.00 kgAFA} = 0 0 11,000 11,000 16,500
o 3.00 ke 4t == 0 0 12000 12000 12125
EnfE(dyh) 2.00 kg A} 2% 0 3,500 0 3,500 0
EnlE(duh 10.00 kgAFA} HE(3 12,000 0 5,000 8,500 5,643
0.70 kgPPtH =0 0 0 2,000 2,000 0
9,00 ke 4} = 0 0 3000 3000 4,000
2.00 kg =} =0 8,282 8,765 7,367 8,138 7,652
A EvlE 2.50 kg A} E(l= 13,216 14,128 9,775 12,373 13,583
=EnE 2.50 kg A} = 5,000 0 0 5,000 0
= EntE 2.50 kg AHA} E(l1= 13,315 10,533 12,016 11,955 8,050
5.00 kg A A} 95 (= 0 0 4,000 4,000 0
5.00 kg XA} E(1= 0 10,249 9,420 9,834 0
=EnE 5.00 kg A A} 95 (= 6,000 0 2,500 4,250 0
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g4 T e A4
SERE  10.00 ket WE(3 0 0 19,100 19,100 24,823
o}ETE  10.00 ke =1% 20,976 17,537 15,170 17,894 19,285
AEnE 5.00 ke E1% 10,474 8,673 0 9,573 0
ke 5.00 ke 32 A% 10,874 13,162 10,368 11,468 0
ErE(dEh) 2,50 ke A% 12,007 10,270 7,798 10,025 11,950
EviE(E)  5.00 ket = 0 4,000 0 4,000 0
ErE(dEh  10.00 ke =15 23,218 18,586 17,354 19719 27,597
FupE 2.00 ke 2+ A% 0 0 6,500 6,500 0
FobE 4.00 kg7 e 0 0 2,500 2,500 0
EvkE(E)  5.00 ket 2% 7,861 6,781 7,783 7475 8411
2.00 kg2 WE(3 0 0 6,000 6,000 6,250
PAERLE 250 ke AR = 2,500 0 1,000 1,750 0
o}EulE 500 kedlAt A% 8,333 3,250 8,365 6,649 11,678
SERE  10.00 ked At = 0 0 15,500 15,500 22,600
FupE 1.00 kg2 2+ =05 0 3,900 3,126 3513 3,600
2.00 ke A% 0 0 7,500 7500 6,750
5.00 ke 2k AHOE 9,333 0 0 9,333 0
o}EulE 250 kedlat A% 5,000 4,400 5,000 4,800 0
FupE 2.00 ke 2+ =% 0 0 5,927 5,927 0
ErbE(duh) 2,00 ke =1% 0 9,470 12,430 10,950 0
EvkE(E)  5.00 ket EQ1% 12,440 9,522 7,808 9,923 13,208
ErbE(dEh)  10.00 ke A% 23,371 20,426 13,542 19,113 25,577
e

e 4.00 kg2 =% 3,505 3,750 0 3,628 3,952
4.00 kg =% 6,300 0 0 6,300 6,586
e 4.00 kg2 A5 3,105 0 0 3,105 3,681

A (
A (L) 1.00 ke 4,000 0 5,000 4,500 0
S (AW 4.00 ket 0 15,000 0 15000 0

Hol o =
o1l Z(4+¢))  13.00 ke At =15 29,871 30,971 31,840 30,894 29,916
o1l Z(429))  11.50 ke A A5 29,425 32,374 90,682 30,494 28,657

sz e] 7}
w2zt 5.00 ke =E1% 16,296 10,832 10,316 12,481 17,183
szt 5.00 ke AR 30,490 924,801 94490 26,594 25676
nUszaElst  6.00 ke =E1% 21,000 0 0 21,000 0
WA TEF  5.00 ke A =015 0 0 13,000 13,000 0
ST FHAN)  2.00 ke AHOE 0 13,000 12,250 12,625 0
T FHAN)  8.00 ke 2% 36,133 29,570 31085 32,263 41,555
w2dzaEst 3.00 ke R =015 0 0 2,000 2,000 0
w2zt 5.00 ke WE(3 0 8,692 12,500 10,596 14,167
Sz gHAE)  10.00 ket E(1% 37,143 927,200 33,138 32,494 45,607
w2zt 5.00 ke 95(% 10,500 4,333 0 7417 9,750
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B z¢ G A4
w7} 5} 32 2] 7 5.00 kg A=A} 415 0 13,000 0 13,000 20,000
w7} 5} 5 g] 7} 5.00 kg XA} 2% 0 8,500 0 8,500 19,875
Q #: X 1} ¢ 5.00 kg XA} E(15 16,437 11,636 11,069 13,047 16,976
w7} 5} 32 2] 7 5.00 kg XA} 9=(= 10,000 6,500 6,032 7,511 10,500
Q Ay} g 5.00 kg A=} AH2% 0 9,500 0 9,500 0
=2y g7} 5.00 kg XA} AH2% 10,000 6,750 12,000 9,583 17,471
nl Y= g 7} 5.00 kg XA} E(1=% 22,625 20,440 20,285 21,117 21,152
w7} 5} 32 2] 7 10.00 kgAF A} E(l= 5,500 0 0 5,500 0
w7} 51} 3t 2] 7} 5.00 kg XA} =0 16,061 11,691 11,908 13,220 17,339
¥} 3Z 2] 7H (L wt) 5.00 kg XA} E(1= 26,991 16,920 17,696 20,535 31,398
7Lyl 10.00 kgAFAF 2% 42,171 41,375 42,625 42,057 47,421
w7} 5 3 2] 7} 5.00 kg A} HE(3 0 8,500 8,000 8,250 17,000
w7} 5} 52 g] 7} 5.00 kg XA} 12,413 9,000 9,921 10,444 17,534
Gz 5.00 kedbAt 18.750 11,776 16147 15558 18,857
=gz g gt 5.00 kg XA} 16,250 11,000 10,200 12,483 14,879
nl Y a3 g 7} 6.00 kg A2} 21,833 17,333 15,750 18,306 20,000
L AA] }Z ] 5.00 kg XA} 95(= 11,000 5,333 0 8,167 10,000
3} 3Z 2] 7H (L ¥h) 5.00 kg AHA} AH2= 21,411 14,404 15,189 17,002 24,609
3z
A4 1.00 kg1 &7} E(ls 7,300 0 0 7,300 0
F(uh) 10.00 kg1 & AH2% 70,222 0 0 70,222 0
1.00 kegPPH E(l= 0 0 9,167 9,167 0
Z(LHh 1.00 kg1 &% E(1%5 8,600 0 0 8,600 7,800
Aol 4
Holls 5.00 kgA=}F E(l= 13,292 11,804 11,316 12,137 11,701
EAS
AEZ(SD) 7.30 kgAA}F 2% 36,574 38,750 38,000 37,775 33,333
IIEE) 8.20 kg M=} 2% 28,333 31,667 34,000 31,333 28,250
Y=Y 8.50 kg A=A} 2% 0 33,500 12,500 23,000 0
Y=Y 9.00 kg+=#} 2% 0 60,000 0 60,000 35,000
AEXE () 4.00 kgAFAF AH2% 23,500 0 0 23,500 32,000
Y& 7.30 kg A} 2% 35,667 35,000 33,000 34,556 0
EE(F9) 8.50 kg A} 95(= 0 5,000 0 5,000 0
Y=Y 8.20 kgAA} 95 (& 0 20,000 0 20,000 14,850
(YY) 4.50 kgAFAF E(l1= 28,000 30,000 25,000 27,667 0
I 7.30 kg A} E(l= 40,000 0 0 40,000 52,000
(YY) 8.20 kg A} A% 27,637 24,162 20,751 24,183 22,692
XY 8.50 kg A} E(l= 0 0 63,000 63,000 0
AEX=(9) 8.20 kg A} A% 42,667 36,667 0 39,667 42,714
YUY 4.50 kgAFAF AH2% 0 22,000 22,000 22,000 0
(YY) 9.00 kgAHA} == 75,000 62,000 0 68,500 75,000
AE(+D) 8.20 kg A} AH2% 32,750 18,250 34,000 28,333 29,167
() 4.50 kgAFA}F AH2% 14,000 0 10,000 12,000 0
I 7.30 kg A} A% 38,913 0 31,000 34,957 30,000
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B z¢ G A4
I 8.20 kg A} E(l= 42,504 41,332 35,324 39,720 30,696
Eay]
A E I 2.00 kg XA} E(l+ 0 8,000 0 8,000 0
A E I 4.00 kgAFAF E(1= 18,000 0 15,000 16,500 17,167
AT 8.00 kg A=} = 0 0 23,000 23,000 0
A E I 14.00 kgAF A} E(l= 80,675 87,010 74,543 80,743 90,300
4.00 kg A} =0 23,500 21,800 24,000 23,100 23,750
A E I 8.00 kg A} HE(3 0 0 24,000 24,000 0
AET 16.00 kg = 84,000 0 0 84,000 0
A E I 17.00 kg = 89,250 0 0 89,250 93,500
AET 19.00 kg = 95,000 0 0 95,000 83,917
F A (Lqh 4.00 kgAFAF = 0 11,750 9,500 10,625 15,800
T Al (Lut) 7.50 kg A} E(1= 37,500 0 0 37,500 34,690
TaHA(LE)  14.00 ke = 0 0 80,500 80,500 0
FHA (LY 14.00 ke = 0 73,500 78,750 76,125 0
TaHA (LY 15.00 ke = 86,250 93,750 0 90,000 0
FaHA(LE)  15.00 ke HE(3 0 86,250 82,500 84,375 0
TaHA(LE)  16.00 ke E(l+ 0 0 47,000 47,000 0
A E 6.00 kg A} E(1= 47,400 0 0 47,400 37,500
AL 8.00 kg A=} = 0 0 22,000 22,000 0
A E I 9.00 kgAHA} E(1= 73,825 45,000 46,300 55,208 67,375
AE T 17.00 kg 95 (= 85,000 0 0 85,000 86,063
A E I 17.00 kg 2% 70,125 17,000 65,875 51,000 93,500
A E I 19.00 kg 95(= 71,250 0 0 71,250 0
A ET 21.00 kg E(l= 0 0 63,000 63,000 94,500
FIHAEGY)  14.00 kgAFHAF AH2% 0 71,167 0 71,167 65,333
FIHA(EY])  15.00 kegAFAE 2% 0 82,501 0 82,501 76,250
T Al (Lnt) 2.00 kg XA} E(1= 17,695 16,699 17,299 17,231 17,886
F A (LR 4.00 kg XA} E(l= 21,900 17,096 13,667 17,554 16,057
F A (Luh) 6.00 kg =} E(1% 0 0 27,000 27,000 0
F A (LR 8.00 kg A=}k E(l= 44,768 48,842 49,838 47,816 34,400
F A (Luh) 9.00 kg =} E(1% 47,118 38,136 55,611 46,955 45,832
EAH A 13,00 keAHAt =q= 0 60775  63.193 61,984 56,226
FaHAEE)  13.00 kg E(1% 0 0 68,250 68,250 0
FaHA (LYY 14.00 kegAFAF = 0 77,000 0 77,000 0
FaHA (LY 14.00 ke = 0 0 79,188 79,188 0
FTaHA(LEh)  14.00 ke HE(3 84,000 87,500 78,750 83,417 0
FaHA (LY 14.00 ke AH2% 91,000 84,000 78,750 84,583 0
FTaHA(LEh)  15.00 ke A% 0 90,000 82,500 86,250 0
FaHA (LY 20.00 kgAFAF E(l= 123,33 60,000 49,688 77,674 94,271
A E I 15.00 kgAF=} E(l1= 87,429 83,531 84,000 84,987 65,063
A E I 16.00 kg 95 (= 72,000 0 0 72,000 0
A E I 20.00 kg HE(3 105,00 0 0 105,000 0
FaHAEGY)  16.00 ke AH2% 0 36,000 0 36,000 40,000
F A (LA 2.00 kg =} = 0 3,100 5,000 4,050 7,000
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A F¢ s A4
FaHA(LEH  2.00 ke dA 1233 6,844 7,486 9,126 7,819 7,380
FEAHA(LE  4.00 ke 95 (& 12,500 11,500 0 12,000 0
FEIAHA(LEH 13.00 ke 6 0 0 65,000 65,000 0
FIHA(LEH  13.00 kg 8% 0 0 65,000 65,000 0
FEIAHA(LEH 13.00 ke 9=(=F 0 0 65,000 65,000 0
FEAHA(YEH 15.00 ke 3=+ S(1& 65,522 61,782 59,479 62,261 73,634
FEIAHA(LEH  16.00 ke =+ 9=(=F 0 40,000 0 40,000 0
EIHA(LEH  16.00 ke 9% (& 0 0 49,333 49,333 0
AR 16.00 kg 75 72,000 0 0 72,000 92,000
A x o 16.00 kg 8 72,000 0 0 72,000 80,000
A3 s 16.00 kg B33 84,000 0 56,000 70,000 72,000
A x o 17.00 kg -2} S(1& 0 52,700 71,400 62,050 0
] 17.00 ke E(1% 83,583 0 63,750 73,667 90,549
A x o 18.00 kg S(1& 80,125 0 0 80,125 71,100
A E s 20.00 kg = 115,00 0 0 115,000 0
FTAHA(LEH  4.00 ke H-E(3 0 12,389 13,250 12,819 14,000
FEaHA(LEH 6,40 ke A s501F 0 0 28,800 28,800 0
FAHA(LEH  8.00 ke H-E(3 44,000 0 48,000 46,000 51,500
FIHA(YEH  13.00 ke = 0 0 65,000 65,000 0
FZAHA(LEH  14.00 ke A=+ S(1= 63,000 65,625 59,333 62,653 71,750
FEIHA(LEH  16.00 ke d-AF = 0 40,000 0 40,000 0
FEAHA(LEH 16.00 ke = 28,000 56,000 0 42,000 0
FAHA(LEH 16.00 kg 8% 0 0 52,000 52,000 0
FEAHA(LEH 17.00 ke Ak S(l& 84,255 53,355 53,789 63,800 106,050
FEAHA(YEH  18.00 ke =¢ 5% 96,985 54,723 53,438 68,382 100,063
A3Ean 10.00 ke 3=} S(l& 87,364 44,647 58,264 63,425 50,703
A3Ean 14.00 kg H2F 63,000 0 0 63,000 0
AL 16.00 kg = 80,000 0 48,000 64,000 78,000
Ao 17.00 kg H-E(3 0 0 63,750 63,750 106,250
A ¥ 19.00 kg S(1& 109,25 33,250 0 71,250 73,625
A3Ean 20.00 kg = 107,50 0 0 107,500 0
Ao 26.00 kg 2w 0 0 65,000 65,000 0
FEaHA(LEH  1.00 kedAk S(l& 11,589 9,899 7,581 9,690 9,498
FEAHA(LE) 450 ke 5% 20,000 0 0 20,000 0
FEaHA(LEH  8.30 kedAk 95(F 0 0 31,473 31,473 0
FAHA(AEH  8.30 ke At 501% 0 0 42,105 42,105 0
FH AR 10.00 ke dkAl 5(1% 58732 56,233 49,402 54,789 61,335
FEAHA(LE 12.00 ke = 51% 0 66,000 0 66,000 52,500
FEIAHA(YEH 13.00 ke T 0 0 69,875 69,875 0
FIHA(LEH  14.00 kg = 0 77,000 80,500 78,750 0
FEIAHA(YEH 15.00 ke 6+ 0 84,375 0 84,375 0
FIHA(LEH  16.00 kg = 48,000 56,000 0 52,000 0
FEAHA(LEH 22.00 ke =+ (1% 0 0 49,500 49,500 0
Ao 7.00 kg A} S(1& 0 49,000 0 49,000 0
A 8.00 kg =} 5015 61,200 0 42,023 51,611 34,000
A 13.00 kg -2} S(1& 0 59,800 57,720 58,760 93,600
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B 3¢ s d4
A 14.00 kg 2H#t 2% 0 0 72,333 72,333 0
AT 16.00 kg 55 84,000 0 0 84,000 60,000
AT 16.00 kg A% 84,000 0 0 84,000 70,667
AL 17.00 kg = 89,250 0 42,500 65,875 102,000
AT 18.00 ke = 99,000 0 0 99,000 58500
AL 18.00 kg A% 10350 0 0 103,500 51,000
AT 19.00 kg = 80,750 0 0 80,750 61,750
AL 20.00 kg = 90,000 0 0 90,000 0
FEIA(YEY 3.00 ket R =015 0 0 9,000 9,000 0
F A (L) 7.00 kg =} E(1% 34,904 28,000 0 31,452 37,333
FEIHA(YE) 12.00 ke = (2 0 0 42,000 42,000 0
FaHA(LE)  13.00 kg = 0 0 65,000 65,000 0
FEEA(LED) 13.00 ke BE(3 0 0 65000 65,000 0
FIHA (LY 13.00 kg 2% 0 0 68,250 68,250 0
FIHA (LY 14.00 kgdAF = 0 80,500 0 80,500 0
T 14.00 ke ARt AH2E 0 80,500 0 80,500 0
FaHA (LY 14.00 ke = 0 87,500 77,875 82,688 0
FAMA(AEY 19.00 ke A2k =E(1% 106,87 73,712 63.771 81452 114,878
AF 4.00 kgAH A} 2% 10,500 15,000 12,042 12,514 13,667
AT 17.00 ke = 89,250 0 0 89,250 85,000
A E I 19.00 kg = 95,000 0 0 95,000 73,625
FEIA(AE 2,00 ke R AH2E 11,858 11,302 13,550 12,237 13,622
FaHA(LEh 4.00 kg A} 2% 0 15,714 17,500 16,607 0
FEIEA(AUY  8.00 ke AHE2E 49,000 0 0 49,000 56,667
FEIHA(YEY  8.30 ke AR BE(3 0 0 38,910 38,910 0
FEIEA(ANY) 840 ke =(1% 0 0 38.850 38,850 0
FEIEA(AUD) 14.00 ke =E(1% 91,000 87,500 78167 85,556 0
FIHA(LYH  15.00 kg = 86,250 84,375 0 85,313 0
FEIEA (LY 15.00 ke = 0 78,750 82500 80,625 0
FIHA (LYY 16.00 kgFAE 8= 0 40,000 0 40,000 0
A E 2.00 ke A2k A% 15,333 14.224 12,804 14,120 0
A E I 8.00 kg A=} = 0 0 28,000 28,000 0
AT 8.00 ke A2k NS 0 0 98.000 28,000 49,999
A FEa 11.00 kgF=}F E(1%5 44,000 42,900 45,100 44,000 51,906
A E 16.00 kg 2H =t =(1% 0 48,000 53.400 50,700 60,800
P ) 16.00 ke (1% 67,334 0 72000 69,667 75,000
A E 17.00 kg = 89,250 0 0 89250 83,938
AT 17.00 kg 8% 85,000 0 0 85000 99,875
A 18.00 ke 4% 99,000 0 0 99,000 58500
A 18.00 kg BEGB 76,500 18,000 0 47250 83,250
AT 19.00 ke 6% 95,000 0 0 95000 0
A 19.00 kg A% 104,50 0 0 104500 92,625
FAMA(AE 050 keitAb =(1% 0 9,532 0 9,532 0
FEIEA(AN)  5.00 kAR (1% 24,065 17,000 0 20533 25000
FaMA(AE 830 kit A% 0 0 41500 41,500 0
FEAEA(AU) 1100 ke iz E(1% 44,000 0 71500 57,750 35,063
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FaHA(LEh)  14.00 kgAHAF 415 0 77,000 0 77,000 0

FHA (LY 14.00 kg HZE(3 0 80,500 0 80,500 0

FTaHA(LE)  14.00 ke 95 (= 0 73,500 0 73,500 0

FaHA (LY 15.00 ke = 0 52,500 82,500 67,500 0

FHA(LYH)  16.00 kg Ak E(1=% 74,092 66,333 56,009 65,478 83,888

FaHA (LY 17.00 ke E(1= 0 42 500 0 42 500 0

FTaHA (LR 21.00 kgAHAF E(1=% 115,50 84,003 120,750 106,751 78,420

Eax

29 10.00 kgAFH}; E(l= 39,757 40,754 22,316 34,276 44,326

v 10.00 kgAFA} AH2% 35,000 32,000 27,000 31,333 38,000

A oF 5.00 kg XA} E(l= 17,000 0 15,000 16,000 15,500

A oF 10.00 kgAH=}t AH2= 28,229 27,127 22,860 26,072 34,112

QoW 10.00 kgAFA} E(1= 37,888 43,266 23,667 34,940 41,317

] ok 3.00 kg A=}k E(l+ 0 0 8,000 8,000 9,000

A oF 11.00 kgAF=}F E(1= 32,000 34,000 0 33,000 33,000

4 (L) 5.00 kg A=} AH 2% 0 6,000 0 6,000 0

=149 10.00 kgAFA} AH2% 22,314 22,129 12,476 18,973 26,995

10.00 kgAH=}t 55,000 0 0 55,000 0

10.00 kgAFA} E(1= 0 0 9,667 9,667 31,000

29 5.00 kg XA} 2% 0 12,000 0 12,000 13,500

=149 8.00 kg A} E(1= 34,400 0 0 34,400 28,133

29 11.00 kgAH=}t E(l= 50,000 47,000 0 48,500 46,388

Fad 13.00 kgAF=} E(1%5 0 38,000 13,000 25,500 0

Qoo FE 3.00 kg A=A} E(1= 0 0 6,500 6,500 0

Qo 4.00 kg A} 2% 0 8,000 0 8,000 9,000

QoW FE 8.00 kg A} AH2% 15,000 0 0 15,000 18,500

ok 8.00 kg A=}k E(l= 0 15,000 0 15,000 29,000

=149 11.00 kgAF=}F AH2% 22,000 21,000 0 21,500 26,300

uhE 4.00 kg XA} E(l= 10,400 0 0 10,400 0

I 10.00 kgAF =} E(1% 37,207 30,825 20,833 29,622 37,270

o}x}o] 10.00 kg A} =} E(l= 35,000 38,187 23,000 32,062 44,000

= ok 7.00 kg =} E(1% 0 0 20,000 20,000 35,000

] ok 9.00 kgA=}F 2% 0 0 17,000 17,000 41,667

A ok 13.00 kg E(1% 33,000 0 0 33,000 40,000

ok 14.00 kg A} A} 2% 0 33,000 0 33,000 0

29 4.00 kg A2k AH2% 0 0 4,500 4,500 10,000

219 5.00 kg XA} E(l1= 20,500 25,000 0 22,750 21,500

A= 8.00 kg A=A} AH2% 20,000 0 0 20,000 18,000

=9 13.00 kgAF=}F AH 2% 0 0 12,000 12,000 0

QoW 3.00 kgA=} AH2% 0 0 2,750 2,750 0

QolHaFE 4.00 kgAFAF 16,333 18,500 14,000 16,278 0

QoW 4.00 kgAFAF E(l= 16,000 15,600 11,500 14,367 14,933

Qo|uti 8.00 kg =} == 0 0 14,000 14,000 0

A oF 4.00 kgAFAF AH2% 0 9,600 0 9,600 9,200

d ok 12.50 kgAF A} A% 33,000 0 0 33,000 29,000
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10.00 kgAF A} AH2% 20,000 7,000 5,067 10,689 19,000
A 6.00 kg XA} A% 0 14,000 0 14,000 16,000
Qo E 5.00 kg XA} =0 0 0 13,000 13,000 23,000
QoW 10.00 kgAF A} AH2% 22,824 21,812 12,056 18,898 26,485
Qo FE 11.00 kgAH=} E(1=% 43,000 0 26,350 34,675 37,700
ok 1.00 kgAFAk E(1= 0 2,500 0 2,500 2,088
A ok 4.00 kgAFAF E(1=% 15,252 15,278 12,873 14,468 19,054
ok 10.00 kgAF A} E(l= 32,388 35,457 30,094 32,646 41,015
A ok 12.00 kgAFH =} =0 0 0 24,000 24,000 42,000
=149 11.00 kgAF=}F 95(= 9,000 0 0 9,000 0
A 12.00 kg A2} E(l+ 0 50,000 25,000 37,500 33,000
o}Alo] 10.00 kgAFA} AH2% 0 24,500 13,000 18,750 27,000
Qo 10.00 kgAFH =}t 22,000 0 0 22,000 0
> oF 5.00 kg XA} AH2% 14,000 0 0 14,000 0
ok 7.00 kg A} AH2% 0 0 10,000 10,000 20,000
4 (L uh) 10.00 kgAF=k AH 2% 0 17,000 0 17,000 0
=] ¥ it 5.00 kg A=} AH 2% 0 0 15,000 15,000 23,000
o] v (vt 10.00 kgAFA} HE(3 25,852 26,272 25,847 25,990 33,847
o 7L ) 12.00 kg A2} 2% 0 28,000 0 28,000 0
> x| v 5.00 kg A} E(1= 0 0 15,500 15,500 0
2y v 10.00 kgAFH2}; 2% 35,327 34,341 31,970 33,879 37,154
] (L HH 8.00 kg A} HE(3 0 0 16,000 16,000 0
o] wh( vt 10.00 kgAFA} E(1= 41,155 37,357 48,407 42,306 41,880
o 7 (L) 11.00 kgAF =} HEZ(3 27,000 0 0 27,000 30,500
o] uh( 2l ut) 10.00 kgAFA} = 0 0 46,000 46,000 35,307
o 7 (L) 10.00 kgAF =} 2% 30,333 21,333 36,138 29,268 33,455
o] uh( vt 12.00 kgAF A} HE(3 0 38,000 0 38,000 30,667
syt 11.00 kgAF =} E(l= 0 0 35,000 35,000 0
IR Rl 10.00 kgAF =} E(1% 26,000 20,000 0 23,000 19,625
syt 10.00 kg A} =} 2% 22,850 23,354 23,667 23,290 24,705
] (L HH 11.00 kgAF=} 2% 0 0 22,000 22,000 0
o 7 (L) 19.00 kg A} A} HE(3 0 28,000 0 28,000 0
<yt 5.00 kg=} 2% 0 0 10,000 10,000 0
syt 10.00 kg A} =} = 51,000 42,000 0 46,500 10,000
S 11.00 kgAF=} AH2% 0 0 33,000 33,000 38,500
L 5.00 kg A=} HE(3 0 0 9,000 9,000 0
[l N 10.00 kgAFA} AH2% 19,667 0 0 19,667 16,875
7] 3] v} 10.00 kgAF=} = 42,000 46,333 0 44,167 48,750
S 10.00 kgAFA} HE(3 30,000 18,583 65,000 37,861 13,111
-yl 10.00 kgAF=} E(l1= 44,286 34,900 58,500 45,895 48,932
S 13.00 kgAF=} HE(3 0 25,000 32,000 28,500 0
2 3] vk 10.00 kgAF =} HE(3 34,989 26,501 26,173 29,221 37,090
Za iy 10.00 kgAF =} E(l= 47,638 44 105 41,511 44 418 41,372
Tyt 11.00 kg 95 (& 0 0 25,000 25,000 0
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oy
Ho3uvt 5.00 kg 7N AH2% 4,000 8,000 0 6,000 6,200
HosH 6.30 kg 7H AHo% 0 5,500 0 5,500 0
off & vt 10.00 kgAF A} AH2% 23,369 16,434 12,965 17,589 26,590
HosH 5.90 kg 7} HZE(3 0 6,000 0 6,000 0
>3k 10.00 kgAFA} E(1= 0 0 18,000 18,000 0
Hosq 5.00 kg7 =0 0 0 8,000 8,000 6,449
Ho349 5.50 kg7 HE(3 0 3,000 0 3,000 0
off & vt 10.00 kgAF A} = 13,625 11,000 9,250 11,292 17,333
off & H}k 10.00 kgAH} HE(3 19,566 12,826 9,681 14,024 20,101
F71Y 54t 9.00 kgAA} E(1= 0 0 6,000 6,000 0
F7141 54t 10.00 kgAFH=}F HE(3 10,471 5,225 2,500 6,065 13,049
Ho3u 3.00 kg1 & E(1= 0 0 1,500 1,500 0
so39 4.00 kg1 E"} E(l= 4,500 4,500 4,000 4,333 4,000
Ho3u 8.00 kg1 &} E(1= 13,000 0 0 13,000 0
off & H}k 8.00 kg XA} 2% 14,996 9,541 7,380 10,639 17,054
off & vt 10.00 kgAFA} 95(= 11,000 5,000 5,900 7,300 12,812
off & H}k 10.00 kg 2% 23,000 18,000 0 20,500 0
F71U 54t 10.00 kgAFA} 95(= 0 6,500 0 6,500 7,250
F71U 54t 10.00 kgAF A} AH2% 12,538 5,324 2,854 6,905 15,129
=235k 3.00 ke 7N AH2= 4,000 2,000 0 3,000 3,750
off & vt 8.00 kg A} HE(3 9,918 6,387 5,591 7,299 11,624
of & H}k 10.00 kg HZ(3 0 8,000 0 8,000 0
Ho349 6.00 kg 7N E(1= 8,800 9,344 9,000 9,048 6,750
of & d} 8.00 kg A=}k = 16,000 11,400 8,500 11,967 18,611
F71U 54t 10.00 kgAFA} 0 10,000 4,000 7,000 25,000
715 Hk 10.00 kg A} =} E(1% 16,711 7,719 5,753 10,061 19,677
Ho34 2.00 kg 7N 2% 4,000 0 0 4,000 1,000
Ho o1t 5.10 kg7 (& 0 1,000 0 1,000 0
Ho34 8.50 kg 7N E(1= 0 9,000 0 9,000 0
o5 3.00 kg A4} (1% 0 0 4,000 4,000 0
of &4} 8.00 kg A=}k = 15,000 8,067 11,500 11,522 11,000
off & vt 8.00 kg A} E(1% 18,265 12,638 10,956 13,953 21,781
715 Hk 9.00 kgA=}F 2% 0 0 3,000 3,000 0
Ho34 4.00 kg7l AH2% 3,000 4,000 0 3,500 3,810
Ho o1t 7.30 ke 7H E(l= 0 6,000 0 6,000 0
Ho349 7.50 kg 7N E(1= 0 4,000 0 4,000 0
g3 EH (=< 10.00 kgAFA} E(l= 13,903 17,844 13,455 15,068 14,301
off vt 10.00 kgAF =} =0 24,882 17,905 14,743 19,177 27,009
=1 Py 1.00 kgAFAk E(l= 22,000 22,000 0 22,000 22,000

Suke)
A 5 utol 2.00 kgt AH2% 0 0 2,700 2,700 0
A 5 ukol 0.50 kg%t E(l= 1,600 3,407 2,375 2,461 0
A 5 utol 6.00 kgH]l d E-%] E(1= 0 0 10,500 10,500 0
ks 5.00 kgv]| d &-%] E(1% 0 0 10,650 10,650 0
A 5 ukal 0.50 kg% AH2% 1,879 2,233 2,917 2,343 0



HAZE AlA AR

U 0 2022-05-12
A=} 0 2022-04-30 62
= z=x 37 HaA A ()
e T 3k 4
A 5 afel 7.00 kgl d E-A] 0 14,000 0 14,000 0
Sube 6.00 kgHl d B-~] 0 0 10,500 10,500 0
Suke 8.00 kgrldE-#| 0 15,000 15,000 15,000 0
A 5 ufkel 8.00 kgHl d E-A] 0 16,000 13,500 14,750 0
Suke 0.40 kg%t 0 2,100 0 2,100 0
Sk 0.50 keF 2,000 2,021 2,450 2,157 0
TaE
Tk 4.00 kg A+ 20,000 20,750 21,605 20,785 23,205
Tk 8.00 kg’ =k 0 0 25,000 25,000 0
Ta3(duh)  10.00 ke Ak 35,000 26,333 0 30,667 0
TaF(A¥h)  10.00 kgAHA} 103,96 74,824 64,683 81,159 99,095
FTaE(AEh)  12.00 keAAE 0 70,000 40,000 55,000 0
Tk 10.00 kgF#+ 34,000 44,563 37,554 38,706 42,076
ok 12.00 kgAF=k 0 43,000 38,000 40,500 0
Tk 6.00 kg =} 0 0 27,000 27,000 30,500
ok 10.00 kgA+=k 17,000 0 19,000 18,000 29,485
TaF(Adh 6.00 kg =} 0 0 12,000 12,000 0
T E(Auh 9.00 kgAF=} 0 55,000 16,000 35,500 100,000
Tk 9.00 kg =} 0 0 28,000 28,000 0
Fa(Adh) 4.00 kgAFAk 21,000 0 0 21,000 30,000
TaF(AYh)  12.00 keAHA} 144,00 0 59,500 101,750 145,000
TaF(Adh)  13.00 kgAtA} 0 0 88,000 88,000 0
TR 5.00 kg3 =} 48,000 0 0 48,000 16,000
TaF(AYh)  10.00 keAHA} 67,174 39,464 35,080 47,239 53,813
TaF(A¥h)  11.00 keAA} 0 85,000 69,000 77,000 0
TaF(Adh 7.00 kg =} 0 52,000 40,000 46,000 80,000
TaF(AH)  14.00 keAA} 0 45,000 0 45,000 92,000
TaFE(duh)  16.00 ke Ak 0 150,000 0 150,000 0
Aok 14.00 kg’d#+ 0 0 32,000 32,000 0



